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int main()
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C is a language.

#include <stdio.h>
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{
printf("C is a language "); -
printf(*and it is my favourite.");
return O;
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return O;
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#include <stdio.h>
int main()
{

int x = 15,y = 20;




YO (7955 599)99C waliy Jlisle

printf("\nx=%%%d\ty=%%%d", X, y);
return 0;

}
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X=%15 y= %20

#include <stdio.h>

int main()

{
double d;
d = 2e+007;
printf("\nThe value of d is : %e", d);
printf("\nThe value of d is : %E", d);
printf("\nThe value of d is : %g", d);

return O;
}

u’.’})5

The value of d is : 2.000000e + 07

The value of d is : 2.000000E + 07

The value of d Is : 2e + 07
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. #include <stdio.h>
int main()
{
int count;
printf("This is a %n test statement", &count);
printf(\n count = %d", count);
return O,

}

u’f))“
This is a test statement

count = 10
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#include <stdio.h>
int main{)
{
printf("\n\"each\"\t\"word\"\t\"is\"\n");
printf("\n\"tabed\"\t\"'over\"\t\"once\");

return O;
}
STI
*each" "word" ‘"is"
“tabed" "over" "once"
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gotoxy(int x , int y) ;
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o8 a0 Y-8 Jlte o) S oo Jaza Vo Ll g¥o § yiu 1) LSO gotoxy(40, 10);
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#include <conio.h>
#include <stdio.h>
int main()
{

intm, x =5,y = 10;

clrscr();

m=x+y;

gotoxy(20, 10);

printf("x=%d, y=%d, sum=%d", x, y, m);

getch();

return O;

}

sTI
X=5,y=10,sum = 15

long gshort g4 slacl ol
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Ao g ilad r g 2 o1y short int ylong ,alis aS glaab
#include <conio.h>
#include <stdio.h>
int main()
{
short int x = 15;
long int m = 35789;
clrser();
printf(\n x=%hd, m=%Id", x, m);
getch();
return 0O;
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x =15, m = 35789
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#include <conio.h>
#include <stdio.h>
int main()
{
int x = 125, y = 1468,
float m = 327.348, n = 4351.32;
clrscr();
printf(" x=%5d, y=%3d, sum=%d", X, y);
printf("\n m=%7.2f, n=%6.2f", m, n);
getch();
return O;

STIF
Xx =00 125,y = 1467

m = [BRFLBEE] . n =EREALEE)
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#include <conio.h>

#include <stdio.h>

int main()

{
int x = 1234;
clrscr();
printf("x=%4.6d, x=%8.4d", x, x);
printf("\n%5.10s" "this is a sample output.");
getch();
return O;

}

ST
x=001234,x= 1234
this is a O
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#include <stdio.h>
#include <conio.h>
int main()
{
int x, y, area, p;
clrscr();
printf(" Enter length and width:");
scanf("%d%d",(3x, &y);
area = x *vy;

P=(x+y)*2
printf(" Area = %d, p = %d", area, p);
getch();
return O;
}
SIS
Enter length and width: 12 10
Area = 120, p = 44 -
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#include <conio.h>
#include <stdio.h>
int main()

{
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int x, y, n;

float ave;

clrscr();

printf(\nEnter three integers:");
scanf("%d%d%d", &x, &y, &n);
ave = (float)(x + y + n) / 3;
printf("\nave =%6.2f", ave);

getch();
return O;
}
il
Enter three integers : 10 15 19
ave = 14.67
Y-10 Jio &P
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#include <conio.h>
#include <stdio.h>
int main()
{
intr;
float area, p;
clrscr();
printf("Enter the radius:");
scanf("%d",&r);
area = 314 *r*r,
p=2*314*r,
printf("Area = %6.2f, p = %6.2f", area, p);
getch();
return O;

il
Enter the radius:10

Area = 314.00, p = 62.80
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#include <conio.h>
#include <stdio.h>
int main()
{
int x, y;
clrscr();
printf("\n Enter two integers:");
scanf("%d%d", &x, &y);
printf("\n before change:x=%d, y=%d", x, y);
X+=y,
y=x-y,
X-=1Yy
printf("\n after change:x=%d, y=%d", x, y);
getch();
return O,

I
Enter two integers : 12 15

before change : x = 12,y = 15
after change : x = 15,y = 12
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yice = getch() ;
yica = getche() ;
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getch() ;

getche()
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#include <conio.h>
#include <stdio.h>
int main()
{
char ch;
clrscr();
printf("\n Enter a char:");
ch = getche();
printf("\n ch=%c, ch=%d", ch, ch);
getch();
return 0;

eI
Enter a character : s

ch=s,ch=115

getchar() aLL yisLYIslgs

B 3 &l ot )0 LS 4 AdS ais 1 SIS Gt 5 &' getche() 5 getch() e Lilas 55 b ol
ZC....A‘J!‘)'CJ‘)JJqbibﬂ)soﬁjbﬂéﬂﬁstdio.h
ice = getchar() ;
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putchar() sputch() algs L HSHU ¢ yiskgs

W) oS 558 e 53,0 stdioh J,U s putchar() C’U’
putch (sie) ;
putch ¢ s51,87) ;
putchar (si) ;
putchar ( sl ") ;

S g Pl g A 3L D ISUS o) st (Jle Ol ge 4
putch (‘a’) ;
putchar (‘a’) ;
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#include <conio.h>
#include <stdio.h>
int main()
{
char ch;
clrscr();
printf("\n Enter a character:");
ch = getchar();
printf(" You typed the character:");

putch(ch);

getch();

return O;

}
Ty
Enter a character : x
You typed the character : x
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#include <conio.h>
#include <stdio.h>
int main()
{
const int farconst = 32;
float farendeg, centdeg;
clrscr();
printf("Enter farenheite:");
scanf("%f', &farendeg);— ‘
centdeg =((float)5 / 9) * (farendeg - farconst);
printf("Celsius = %5.2f", centdeg);

getch();
return O;
}
SIS
Enter farenheite : 70
Celsius = 21.11
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#include <stdio.h>
main(y ;-
{ .
printf ("keep looking!") ;
printf ("youV'll find it") ;
return 0 ;
} .
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The answer to the question of
Life, the Universe, and Everything is 42.
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y= X2 +x+3 . L .
$ ez pjOhgis 29> F
number = (1/3) * 3 ;
printf(*(1/3) * 3 is equal to %5.2f', number);
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#include <conio.h> Saa el

#include <stdio.h> 39y S (e | DAYS

int main() { J s p | Y
int days, y, m, w; ol o 3 o 005lenBlb | M
clrscr(); PLET SUTNESORWPR POt 1) Y

printf("\n Enter your age in days:");
scanf("%d", &days);

y = days / 360;

days %= 360;

m = days / 30;

days %= 30;

w = days / 7;

days %= 7;

printf("\nyour age is:%d years, %d month, %d weeks, %d days."y,m,w,days);
getch();

return O;

}

Enter your age in days : 3432
your age is : 9 years, 6 month, 1 weeks, 5 days.

eI




9 )' p ‘Slb‘\ab
paoudd 5 yL> L

S5 Sl gedans edl g ST ol ) 52 T 4 55 b S sl ) s e Sl 3
e g ol 5800 i g ol 2l ol a2 s ol g2 ) iny g L gt Ll L i
Lot lu 5 Ol s Gl S5 gl LSS sl oS uu-,.,l‘..,...as,);s sl sl

L S S o3l 3 g0 danh 2 01 a1 S 5 4062 03 Sl e St e

LSS sy bw

el STedle Ol g6 4 S L S i ) ) s diom U S5 ol gl s 1S5 (sl sl L
oS O ASS 5 Ve |)a..\_sé.ul_,éJ.;.b_L,.rc;scg,,rnl.,t)uﬂ,r_glf‘,d;,u)'ll);,u\oo sldas
LA)lzsL..O.ﬂ..U_,_Sd.)IJ.Ba:u@l;)rdﬁlj‘,fdl‘l&:qql;»65L~uUﬁ6Lng{)):)|J£6b)l:>'L~

(o232 A ) 23052 C 0L 50 L,

“ for )L, H)lialw

Jo 3 il 51,5 Slaia slias 48 I 53 Y s 5 Cod il sl DU 1 LK, for S5 s
ol LS J RS il 1SS Dlads 3Ma 45315 3 g (6 ke Ll 53 39500 SIS 4 Sl aste
6\,,,.\,1.”_.,;,&-,.44_;,1,\.@.&,_6|)|Ha1,d.i,u|.r:,u¢Jle:¢al>u..1.n!t,_..u4u|,,_.:.;.
u,.:u,.u'Lé\a.LJ)L.J-qdl;-6|J;,-|)L_.J.n)'|w«Sl))ULdl.:J.:d.dulal4.36).15.“&1:-0\)):.‘;
3 K3 (Sl AU 5 hn e LRl s (518 Bl S (6 1 S8 o o8
;|..u,.nﬁl.u_l,_usu«ﬂ,.‘}_;bob,;.ms.us&u‘s..;,wbp.@lwkﬁ‘fw
T IS il Sl J S0 5y W el il B s By s S5 L B2
_,:qbfor)):..«;..l.:l.!é',:SblS_,<5)Li.o|l.1_,@.>;.p“:..;.uui;a‘5;x.ljl.,.?u,ajﬁd.l’w.uh;).:w

38w 05 e SRS




pow Jad O

for (ails yuswil 4yl jlade ; all> byl 5 oSy o8 ) { tdal S
Y )giuwd
Y 5950
N jgiwd
}
for () {
Y j55w0
Y j95mwd
N j95wd
}

JJL)"Lﬂ.)’-'dj"(.s‘}!u“.’"'L‘:l‘.c‘:b)‘,}s(forﬂj)d""‘{,'h“)g"mj:g"{">J'.'Jls°_}‘:":.">)~‘“§'.",fh)"
aslinr for ) gzus 5 W8 Gled o, SHSS Lo 53058 e ealinal A Oy a5 IS e 4 LS 0t 3 caals
iloslizal BB 550 ) pe s by s bl ot 3 e} g {a L0 Bl andle 5 o 5 adl )5 ) gis K dai

for (ail> gwuiladsl lode ; dil> byl ; oS> o8 ) :‘JJ'U:'JJ
for () 093 25
95w § et

C.SJ)f\S_,dl_’-L_,.:‘dl’w.m«:J‘,\)ub.Léléforctjaaﬂ)lsu:,,))a‘a_,.bwdé:-‘)\.a«S),b()L.A
3 S n o3 ezl s 5 50 (MG 0L b 2 S (651,85 adlm) Calgi g 51,SS Al ol (510 g2 ol oo
Sl ols JLis ad Sumi o i) CTRL+BREAK uS LU «olg o 5 ,S0 adl= (gl ol 4 001> ansls (g1,

:J.LJ._.QJ.EJ)H)JU'»;LJ)_,;.An.LJCJL.ar._.Alipb.wt_ﬂ

for (i=0;i<5;i++4)
printf("%3d\n", i) ;
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#include <stdio.h>
#include <conio.h>

San

o

int main()
{
int i, sum=0, num ;
float ave ;
const int n = 5;
clrscr();

for(i=0;i<n;i++) {
printf(*enter number %d :"i+1) ;
scanf("%d",&num) ;
sum += num ;
}
ave = (fioat) sum /n;
printf("\n the average is :%6.2f “,ave) ;
getch();
return O;

enter number 1 : 12
enter number 2 : 13
enter number 3 : 15
enter number 4 : 16
enter number 5 : 13
the average is : 13.80
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#include <stdio.h>
#include <conio.h>

int main()
{
float i ;
clrscr();

fori = 0.5, i <= 3.5; i += 0.5)
printf("%5.2f ", i) ;

getch();
return O;
}
ST
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#include <stdio.h>
#include <conio.h>
int main()
{
char ch;
clrscr();
for(ch = 'a’; ch <= 'f; ch ++)
printf("ch = %c, code = %d\n", ch, ch);

getch();
return 0;
}
ST
ch = a, code = 97
c¢ch = b, code = 98
ch = ¢, code = 99

ch = d, code = 100
ch = e, code = 101
ch = 1, code = 102
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#include <stdio.h>

#include <conio.h>

int main()

{
char ch;
int count;
clrscr();
printf("Enter a statement with . in end:\n");
for(count = 0; (ch = getche())!=""" ; count++) ;
printf("\n length of statement is:%d",count) ;
getch();
return O;

eI
Enter a statement with . in end :

I like C very much,
Length of statment is : 18
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~for (i=0i<5 i++){

for (=0;j<86; j++){
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for (=0;j<=86;j++) {
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#include <stdio.h>
#include <conio.h>

int main()

{
intij;
clrscr();

for(i=1; i<=10; i++) {
for(j=1; j<=10; j++)
printf("%3d ",i*)) ;

printf("\n") ;
}
getch();
a return 0;
}
SIS

2 3 4 5 6 7 8 9 10
4 6 8 10 12 14 16 18 20
6 9 12 15 18 21 24 27 30
8 12 16 20 24 28 32 36 40
10 15 20 25 30 35 40 45 50

12 18 24 30 36 42 48 54 60
14 21 28 35 42 49 56 63 70
16 24 32 40 48 56 64 72 80
18 27 36 45 54 63 72 81 90
0 20 30 40 50 60 70 80 90 100
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ol =1
n!=1x2x3x4x...x(n-1)xn;
b p sl pice
#include <stdio.h> Saa el
#include <conio.h> ST dil> bos et |
int main() oad ouslgs sue | NUM
{ sae Ji,5 | fact
long int fact ;
int i, num ;
clrscr();
for(;) {

printf("\nType a number :*) ;
scanf("%d",&num) ;

fact = 1 ;
for(i = 1; i<= num; i++)
fact *= i ;
printf("Factorial is :%Id", fact);
}
}
Glbp (g 5 5l alad gal
Type a number : 5
Factorial is : 120
Type a number : 6
Factorial is : 720
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#include <stdio.h>
#include <conio.h>
int main()
{
int i2, i5, i10, i20, i50, count = O;
unsigned long int sum;
clrscr();
for(i2 = 0; i2 <= 50; i2 ++)
for(i5 = 0; i5 <= 20; i5 ++)
for(i10 = Q; i10 <= 10; 10 ++)
for(i20 = 0; i20 <= 5; i20 ++)
for(i50 = 0; i50 <= 2; i50 ++){
sum=i2*2 + i5*5 + i10 *10 +i20*20 + i50*50;
if(sum==100){
printf("\n 2Rials=%d, 5Rials=%d, 10Rials=%d", i2, i5, i10);
printf(",20Rials=%d, 50Rials=%d", i20, i50);
count ++;
Y/ end of if
else
sum = 0;
}/end of for
printf("\n number of correct times:%d", count);
getch();
return O;

}
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for i=0m+=1ii<10;i++, m++){

}
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#include <stdio.h>
#include <conio.h>
#define NUM 6
int main()
{
int count:
float sum, x;
clrscr();
for(sum = 0, x = 1.0, count = 1; count <= NUM; count ++, x *= 2)
{
sum += 1/ x;
printf(*sum = %7.4f, when count = %d\n", sum, count);

}
getch();
return O;

}

n oI
8um=1.0000 when countig%
8um=1.5000 when count
8um=1.7500 when count=3
sum=1.8750 when count=4
sum=1.9375 when count=5
sum=1.9688 when count=6

while )l)ﬁ/)u&lw
HA0 PRI | <}JL; »nJ le":.)_}"‘"

while  (L,.2) ' STUCTY!

BY ]

while (b,2) { / ™

\)’-'Z.ué
Y )95amsd

N g2




Py Jad DA

135} 5 0o b LT b kBl (K ) St el b )85 ) s (55 A g i Sl 455 s Olen
Wiy 3 u‘)m;;:w‘;‘_’ru’ s il by ey ) giond ot il sl S
S Wy aaslot 4l Al 61 3 5 gt 1SS il S a2 58 4355 L gk e e il S g2
u:')')\dl}.bj.!lia}.;r.a\fédl’J;\ajauh.i\ﬁ.xllg&u_.:}jué.ﬁ)\ﬁZil;-&b_)a.b_l_ldl’bfi
,1%@)4;@@%;\.@W-L,-an,,.us\gwﬁu

TS S TG edalias ) se ol ly Jlecastot 55 5 g ga o C‘ﬁ&_g

-4 Jls “
r.:’-Enter.}ASMWLsL@;:‘.LS&&)LQJ\)WJZS‘)LSJ‘M n..b“,’- 6".’).’)”)(5“‘1""66““L'J‘
g:,-w‘ ALEPE] 6“}5‘)53\J~_C0unt M.AL"J.! O{‘)J.(’\r’) é.,‘:Lf‘

#include <stdio.h>
#include <conio.h>

int main()

{
int count=0 ;
clrscr();

printf(*type a statement and ENTER to end:");
while(getche() !'="\r") _

count ++ ;
printf(\n length of statement is:%d",count) ;
getch();
return O;
}
TI
type a statment and ENTER to end : | learn C language.
length of statment is : 19
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#include <stdio.h>
#include <conio.h>
int main()
{
int x, sum =0, n = Q;
char ans = 'y’;
clrscr();
while(ans == 'y'){
printf("\nEnter a number:");
scanf("%d",&x);
sum += x*x; A
n ++;
printf("\n Do you want to continue?(y/n):");
ans = getche();
}/end of while
printf("\nYou entered %d numbers." n);
printf("\nSum of square is:%d",sum);
getch();
return O;

Muﬂ )Jﬂnﬁ
Enter a number : 5
Do you want to continue ? (y/n) : y
Enter a number : 15
Do you want to continue ? (y/n) : n
You entered 2 numbers.
Sum of square is : 250
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do {
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} while (b)) ;
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#include <stdio.h>
#include <conio.h>

int main()

{
int num, digit = 0 ;
clrscr();
while(1){

printf(\nENTER a number:");
scanf("%d",&num);
printf(\ninverse=");
do{
digit = num % 10;
printf(“%d",digit);
num /= 10,

} while(num !=0);
}//end of while(1)
getch();
return O;

Enter a number : 1345
Inverse = 5431
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#include <stdio.h>
#include <conio.h>
int main()
{
int charcount = 0, wordcount = 0;
char ch;
clrscr();
printf("\n Enter a statement(ENTER):");
while((ch = getche()) != "\r'){
charcount ++;
ifch ==""7)
wordcount ++;
}/end of while
printf("\ncharcount=%d, wordcount=%d", charcount, wordcount+1);

getch();
return O;
}
SIS
Enter a statment (ENTER) : This book is my favourite.
Character count = 26, wordcount = 5
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#include <stdio.h>
#include <conio.h>
int main()

{

int i;
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clrscr();
for(i = 41; i<= 120; i++){
printf("%4d=9%¢\t", i, i);

if(i % 5 == ;
- _printf(\n®);
Mlend of for
getch();
return O;
}

STI
a1 =) 42 = * 3=+ a4=’ 45 = -
46 = . 47 =/ 48 = 0 49 = 1 50 =2
51 =3 52 =4 53 =5 54 =6 55 =7
56 =8 57 =9 58 = : 89 = ; 60 = <
61 == 62 = > 63 =12 64 = @ 65 =A
66 = B 67 =C 68 =D 69 = E 70 =
M1 =G 72 = H 73 =1 74 = J 75 =K
76 = L 77 =M 78 = N 79=0 80 =P
81 =Q 82 =R 83 =S8 84 =T 85 =0U
86 =V 87 =W 88 =X 89 =Y 90 = Z
91 = [ 92 =\ 93 = 94 =~ 95 = _
96 = ¢ 97 = a 98 = 99 = ¢ 100 =d
101 = e 102 = f 103 =g 104 = h 105 =i
106 = j 107 = k 108 = 109 = m 110 = n
M=0 112=p 1M3=q 114=r 115=3s
116 =t 117 =u 118 =v 119 =w 120 = x
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#include <stdio.h>
#include <conio.h>
int main()
{

int charcnt = 0, digitent = 0;

char ch;

clrscr();

printf(\n Enter a statement(ENTER):");

while({(ch = getche() = "\r'){

charcnt ++;




if(ch >= 48 && ch <=57)
digitent ++;
}//end of while

getch();
return O;

Enter a statement (ENTER) : | write 21 books.
character = 17, digitcount = 2

pyo Joad  FY

printf("\ncharcount=%d, digitcount=%d", charcnt, digitcnt);

ST

¥-10 Ji. @9

&._».rand() C’U)‘oéu@‘bjﬁls;MUj (J'.’,‘J" J"Ju" w..\’ |)j.):.:-ls.la.~je.a\..: J:.!)J .).,\.FJSLS‘ML:J.:

J.,\.Fl;‘)dicj)ls‘)‘dé.\;ul.{_).)j\ﬁMl.aJ.:.bij’bg)i.LSuJWj)lS}.LsuxJﬁj_,:uJbuéJﬁ

J.:Jquu,-l:.:d;‘,.l.u)uxcwlqMUJ.!(.L_:QJ.!‘J{V.AQ)J&}J‘;ﬁ‘@t."-‘xswu_iu.-ai&o)jwk

JJ‘:’L;‘J‘):'“J-’JG‘)‘W'J:S)jl-!.C""‘"_)"""J)‘3-“)‘%’,;-’;’)‘}663”'&;@}JJ‘:'L;"JL"J‘
2l ,l,istdlib.h L6 ;s rand() o AS AL 4y a5 b s e aabsl (g5L 4 LT aS

by gla g
#include <stdio.h> Son H
#include <stdlib.h> OS5, ge o3 JFgamelf oS goac | MAGIC
#include <conio.h> 25 g0 oo )5 aS goac | guess
int main() S5 il J S gl 5,00 | ANS
{

int magic, guess;
char ans = 'y’;
magic = rand();
do {
clrscr();
printf("\n Guess the the magic number.");
scanf("%d", &guess);
if(guess == magic) {
printf(ll\n*t*** right *****ll);
printf("\n %d is the magic number.", magic);
getch();
ans = 'n’; //exit from while
} // end of if
else {
printf(ll\n***** wrong ******Il);
if(guess > magic)
printf("\n your guess is too high.");
else




printf("\n your guess is too low.");
printf("\n Do you want to continue?(y/n):");
ans = getche();
}/ end of else
} while(ans == y);
return 0;

}

STI

Guess the magic number : 346
sk right ek dkk

346 is the magic number.
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17 <= (oacopi <=20 = A
15 <= oo <17 = ‘B’
12 <= goucopi <15 =3 ‘C
Gode oy <12 = D

#include <stdio.h>
#include <conio.h>
int main()
{
float grade;
clrscr();
while(1){
printf(\n Enter a grade:");
scanf("%f",&grade);
if (grade >= 17 && grade <= 20)
printf("\n grade=%5.2f, score=%c¢", grade, 'A’);
else




if (grade >= 15 && grade < 17)
printf(\n grade=2%5.2f, score=%c", grade, 'B’);
else
if (grade >= 12 && grade < 15)
printf(\n grade=%5.2f, score=%c", grade, 'C’);
else
if (grade < 12)
printf("\n grade=%5.2f, score=%c", grade, 'D’);
}/end of while
}

Enter a grade : 12

grade = 12.00 , score = C
Enter a grade : 18
grade = 18.00 , score = A
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#include <stdio.h>
#include <conio.h>
int main()
{
float grade;
clrscr();
while(1){
printf("\n Enter a grade:"};
scanf("%f",&grade);
if (grade >= 17 && grade <= 20)-
printf(\n grade=%5.2f, score=%c", grade, 'A’);
else if (grade >= 15 && grade < 17)
printf("\n grade=%5.2f, score=%c", grade, 'B’);
else if (grade >= 12 && grade < 15)
printf("\n grade=%5.2f, score=%c", grade, 'C’);
else if (grade < 12)
printf("\n grade=%5.2f, score=%c", grade, 'D’);
}/end of while
}

Enter a grade : 16

grade = 16.00 , score = B
Enter a grade : 14
grade = 14.00 , score = C

eI




PY  ondi gla sl g 1,5 sladils

I & I a d - rdwl
u.il.g.l.._db‘,:_....ac L ffg{_ck’d‘.‘i?e’l‘él‘&‘b‘,;ﬂg S ,.:.: 4.":.:1.; wl..alju m.)‘)sw.d)}: b ULJ.:lf))I.nJ
TS i o el G M 11, b gl G o e O 1y ST

N . - an)
Lo 58 by 8 J S QUi o g

R,

break ,gims

:“-"‘"‘J.‘.J.QJ_)"“:‘J):*")Q{'-’JSJ"S‘)"J-’)-:L;‘)‘JQLSL“‘GJ"J.‘CJJ*“:A’.'J‘JP"Q:‘.‘

break ;

Jg-_’.g-’j)lsJ)Ju‘)‘ﬁ‘d'l"u—,‘_jui"b)‘CJJ’“—A"}‘J):“JJ“-‘L-:L‘C-:‘JJJ"J}:)-’};‘j-l"-*\‘-",';|
Al g B dalol s &S ol switch bl ool asl o gmad ol

Y-1A Jt. @D
.a,:u_ﬁ‘_,.?‘,J.é«_g_,.l;su_ﬁd.a:'._:wb:}‘,c‘,j:\A;\;Lu:e_).}l_,s‘_g.a‘,J‘,J'lbs.,\;‘_g.ﬂMASdluUJg
.g'_...lljé.p‘d;‘,)‘,s.,\;dfi
ot
Sl - countly b5 3 sliel slaes .Col ot okl g5 sluetslowsn g5 et sluss count sl ot s
L.,Jl',ﬁjxil:-HLJL_'JLpJ.L;‘-_,.:lo‘..}l.'a‘-..s).iu‘e.\.il_,s-wjj:sjy;A;aualqﬂlc,.il.gjdjlﬁaﬂa-&:
Ak 0 45l break
#include <stdio.h>
#include <conio.h>
int main()
{
int num, count = 0, n = 0;
clrscr();
while(1){
printf("Enter a number:");
scanf("%d", &num);
if(num == Q)
break;
n ++;
if(num % 2 == Q)
count ++;
}
printf("\n events=%d, odds=%d", count, n - count);
getch();
return O;
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Enter a number : 12
Enter a number : 16
Enter a number : 18
Enter a number : 15
Enter a number : 0
events = 3, odds = 1
continue g
—_— —————
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#include <stdio.h>
#include <conio.h>
int main()
{
int done = 1;
char ch;
clrscr();
while(done){
printf("\n Enter a character:");
ch = getche();
if(ch == "&")}{
done = 0;
continue;
Y/ end of if
printf("\n you typed char %c, next char is:%c", ch, ch + 1);
}/ end of while
getch();
return O;

}
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Enter a character : r
you typed char r, next charis : s
. Enter a character : &
goto jgims

MUJ_EJ‘|J_<_4_.>A.]=L4_5L5|4.hi$j|J_,:;SJU.:.HWc:_,.'.'ndaa:&ulhuUﬂJéaJﬁqgdeﬁuéw‘

Z“‘ﬂj@)}.ﬁk{)}l«éa‘JJ{JlSéJJ.J).:‘}A
goto <cuwuzy>

JJLSJU:_JlOOpIJLIZJ.LAJé;u_arb()J_,SMJJ)J&&J‘KA[;LAJ?CAJ‘M(J}LJJMJJ
Wl 2O b S 5215 55 Jadh gOLO Laww 5

Y-Yo Jua @9
LS o olaul ) (5,185 4l goto | yzus oLz b 48 (glaals
#include <stdio.h>
#include <conio.h>
int main()
{
intx = 1;
clrscr();
loop1:
X ++;
if(x < 100)
goto loop1;
printf("\nThe maximum value of x is:%d", x);
getch();
return 0;

u’.)l’.'
The maximum value of x is : 100
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switch (o) {

case <) luie> :

<Y olygaws>

break ;
case <Y jlade> :

<Y olygamwe>

break ;
default:

<N Olygawd >

)J)d)&bﬁ)&)ﬂb)t?bw‘u\.:,u‘)’

.»;u,mg;,U,u,,;,.:w&gj)\@,w)\m@switch Flie 535 g o s Lzl sWith 5 Sas
Q)‘J)‘rng_ﬁ)".Ln_.vdbreak)JZJ)JJJJJ&‘ﬁ\<\ Qb‘,:..a.>> S)}JJ,J‘J,J<\ )‘.\.&A>L{)L‘\L¢|J§‘
L;‘Q,Jw&..:lj.-(* )L.\L>L!¢.>_,~:JJ|JJ<\ )‘..\L>LIJ§1.\.SL,,QCJlrSWltChJL;i-L.nJHJMLJJJJLS

)'HJMUﬁJﬁSs))‘)J}L@JTJ‘@&SbI‘Cak J}L&))xﬁf\ﬁ\<\‘ CJ‘))I..‘0> A.)_,.{J.JJ;.<Y )L,LE.A>
Lw_uﬁw‘byj‘foﬁﬁbﬂbuﬁj\éLa.\..:wl:‘p@)l.ﬁksduU.LS&C)lrSWItChJL;’L-

JL’."-L—'))‘,_AJ) ));u_ﬁcjlrSWltCthrL-)‘ JJZ..S_, LJJL,a\ﬁldefaultw);;ﬁbe_,;.o

P AS a5 33 )l se 4y sWitch

)" r‘.lg.g;__b Lv ol wlau CJ)L,& Jg‘ W) g d’-'-‘ B s..\.:l.! default u.:.>u Jala J;‘}J'QA switch JL:J-L-A A

- J.h‘)au ‘f‘SWltCh J") CJ‘JJL&) )\ r‘J.{’_v.:A L.,\..:L.: J'f‘)" ol JS) ,—:-’u-‘

<Y Slada> slia 3l (-\.\S.g..:_nd'.a_l A2l (g sls o U Ll 5 pas sWitch (slacase 5o 5 g g p23lie Y

.L.:Lu (_5_,\,.-.‘ .L_Lu el <Y JL,LE.A>

..L).Zu,a‘_}.L.Uc_aw:ﬂau.-u‘.L;J;JIJBA_..:U.-%_,ASWltch)L‘.,-L.u)a(_g',:S\)lS;d\j;\ Y

bds ko U 9o a8t (gl 05 45 e OF (gdas case jlhda b o 520 oolizutbreak | sius jicase Sy e S Y

{08 a5 Y=TY Jla ) doms 13 b o 2 break ) s 051y Ll ciSor s Lswitch ot o

w)ﬁ))f‘)d“.habliu&.aﬁb)uQ‘jwlfjt’bjb&is':ﬂ‘Lﬁ‘))SWﬂCh_,lde@J:Lﬁ)‘é 0
.)J:SU,AJ‘J.;u—.ﬂ)ﬁ))_}.&ﬁ)uﬂ“géﬁd_’u”Jﬁ.ﬁSWitChJL'a'-L-)bo_‘_,)‘))‘J;

BL Ll g5 e lacase 51 b pny 31 13 eslinal s e 9550 5 b w0 e ]y SWItCh jl o do R

sl switch bl




Y-v\ Jk
S Ll Lhes 655 1) ek ol (63555 511, i ylas 53 Aae K65 1t
| &2
Shsacase y5 s 1 LT LI S el e 53 00 85 510 LY (sla Sha S poal ot s il ol
b il case 4o 551, ldde 4s B S Y R TR ! (s o break ) gias «Kot o (S I3
SSHLsd Ol u_?,,;ﬁ‘..\;(wgpt,.,‘xw,;,ﬁé&“agﬁym.r,-sk,.or(.ﬁ
.J.;Liu,aMBTL:)‘;MLMUJ{‘;}J;JIJWUJJW

#include <stdio.h> XYY b
#include <iostream.h> Jot wsles [ NUM1
#include <conio.h> s woles [ NUM2
int main() Alc{Op
{ S5 il 5 ol S it | flag

int num1, num2, flag = 1:

char op;

while(flag){

clrser();

printf("Enter num1, numz2:');
scanf("%d%d", &num1, &num2);
printf("Enter operator:");
op = getche();
switch(op){
case '+’ :
printf(\n sum=9%d", num1 + num2);
break;
case -’ :
printf("\n minus=%d", num1 - numz2);
break;
case '/’ :
case '\\' :
printf("\n division=%6.2f", (floatynum1 / num2);
break;
case '*’ ;
printf("\n multiply=%d", num1 * numz);
break;
default:
printf("\n operator is illegal.");
printf("\n press a key to end.");
flag = 0;
}H/end of switch
getch();
}/end of while
return O;

}
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Enter num1, num2 : 44 20
Enter operator : \

division = 2.20

Enter numi, num2 : 34 2
Enter operator : *
multiply =

Enter num1, num2 : 36 2
Enter operator : p
operator is illegall.

press a key to end.
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X=25;

while (- x > Q)
printf("%3d", x) ;
AdagenfOrLy, 55 ol enus
int i=1; '
while (i <= 10) {
if(i<58&&il=2)
printf("%c", ‘x’} ;

i++;
}
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by sla pie
#include <stdio.h> San Pl
#include <conio.h> NS5 adl> glwoss Lot [1)]
int main() el o,les | StNO
{ gl Ho el aex> s1

int i, j, stno, s2, n, m, un, ¢1 =0, ¢c2 = 0;
float s1, ave, grade;

gy o slaasly ae [ S2
il yo Jons | AVE

clrscr();

St gl sl | €1

printf(\nEnter number of student.”); bog i lgmeiils oloss | €2
scanf("%d",&n); Shgztile slasi | N
for(i = 0; i < n; i++){ gild Ho gy olasi (M
printf("\n Enter stno and # of course:"); o sb 0503 | QM
scanf("%d%d", &stno, &m); o0 e Ay [UN
s1 =0
s2 = 0;

for = 0;j < m; j++){
printf("\n Enter grade and unit # %d ", j + 1);
scanf("%f%d", &grade, &un);
s1 += grade * un;




§2 += un;
}/end of for j
ave = s1 /82 ;
iflave >= 17){
printf("stno=%d, ave=%5.2f, <exelent>", stno, ave);
cl ++;
}
else if (ave < 12){
printf("stno=%d, ave=%5.2f, <probation>*, stno, ave);
c2 ++;
}
printf("\n press a key to continue...");
getch();
}/end of for i
printf("\n exelent=%d, probation=%d"c1, c2);
getch();
return 0;

Enter number of student : 1

Enter stno and # of course : 125 2
Enter grade and unit # 1 : 17 3
Enter grade and unit # 2 : 18 4

stno = 125 , ave = 17.57 , <exelent>
press a key to continue ...

exelent = 1 , probation = 0
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void  sample (int, int);

a3 )13 1L void kS dadle 48T o (gl 4 il 0,8 T 156 b 51N

Y s

#include <stdio.h> »
void sample (int x,int vy); e Rl
int main()
R

int a,b;

&U s ylegs,T

sample (a, b) ; cl: P

return O ;
} &b byl
void sample (int x, int ¥) GL:&IJ:.:—
{

printf("\n x = %d, y = %d", x, y); cl: LSy

} b 58 b S G o st
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void func1 (void) ; void func1 (void)
void func2 (void) ; {
void func3 (void) ;
int  main() }
{

void func2 (void)
funci1() ; / { i
—

— 1

| ____p~ vold func3 (void)

/
func3() ; : {

return O ; }
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#include <stdio.h>
#include <conio.h>
voild convert(void); mi s S
int main()
{ e
convert() ;;
return O;

}

//**************************

vold convert(void) el: olge

{

. int hours, minutes, second;
long int time ;
clrscr();
printf("\n enter time to be convert:hour, minutes, second:") ;
scanf("%d%d%d", &hours, &minutes, &second) ;
time=(long int) (60 * hours + minutes) * 60 + second ;
printf("\n time is :%Id seconds."time) ;

getch();
}
SIS
enter time to be convert: hour, minutes, second : 12 45 26
time Is : 45926 seconds.
F-Y Jt. 4P

M a5V e 0 355 B S 0 Sl f a4y 0l g5 (63,905 SV s SN 4 oS (1AL
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findmax() &b .,;L.,S)\ Obgie 4 ok 0l 955 (63 959 51 Aol 4al p om Y ‘Xc.a.p_)l.u.-u aal ot po
cJ..nCvad.:‘ :J.:u,af}f«;ca:;‘.\.“)d".s)j‘ﬁwud u...)lfmdmax()c.b JJ)—-"I.JL-J_)‘L)‘Q
ol 3,0y 38 4w jlade o 5, 5 findmax() C_»L_):maxpﬁu J;\:waﬁolflfcbul)tg_,\wc.a
ool
#include <stdio.h>
#include <conio.h>
void findmax(int, int, Int); grr
int main()
{
intx, y, m
clrscr();
printf("\nEnter three integer numbers:");
scanf("%d%d%d", &, &y, &m);
sﬁndmax@




AY  asidls S ailgs

return O;

}

//*********************

void findmax(int p1, int p2, int p3) c,l: Slgs

{
int maxp;
maxp = (p1 > p2) ? p1: p2;
maxp = (p3 > maxp) ? p3 : maxp;
printf("\maximum=2%d", maxp);
getch();

u".'JJ“
Enter three integer numbers : 15 19 10

maximum = 19

2Y X ol y STl ) (K8 U sl s,
A3 LT 2 p3 4p2 4pl sla bl 4m
P Yo 9NN Lol S 5 5 LS
I dtedSeshs ), 3m 4y x sle i .
M pl zably 53X Ole 5T jhada it 21 3
23m Ol 1851 Jlaia 5 p2 szl oy olay S

main() it~

y
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L Y L P1 jslie day 6 bnth 51 42 0 SP3 el
| 15 I | 19 | I 10 | Lleslizl L findmax() a5 ,3p3 5p2
pl p2 p3
findMax() ot 4t
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#include <stdio.h>

#include <conio.h>

void f1(int, Int);

int main()

{
int x, y;
clrscr();
printf("\nEnter two integer numbers:");
scanf(*%d%d", &x, &y);
printf(" You entered :x=%d, y=%d", X, y);
f1(x, y);
printf("\n After return from f1 :x=%d, y=%d", X, y);
getch();
return O;

}

//*********************

void f1(int x, int y)

{
printf("\n f1 recieves : x=%d, y=%d", X, ¥); !
X ++;
y ++
printf("\n new values in f1 : x=%d, y=%d", X, ¥);
}

SIS
Enter two integer numbers : 10 15

You entered : x = 10,y = 15

f1 recieves : x =10,y = 15

new values infi : x =11,y = 16
After return fromf1 : x =10,y = 15
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#include <stdio.h>
#include <conio.h>
char tocapltal(char);
int main()
{
char ch;
clrser();
printf(\n Enter a character:");
ch = getche();
printf(\n Result is:%c", tocapital(ch));
getch();
return O;

}

//********************

char tocapital(char ch)

{
if (ch >="a’ & ch <= '7)
ch -=32;
return ch;
}
TS
Enter a character : t
Resultis : T
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#include <stdio.h>
#include <conio.h>
float area(float);
int main()
t

float r, s;

clrscr();

printf("\nenter the radius:");

scanf("%f", &r);

s = area(r);

printf("\narea = %5.2f", s); '

getch();

return O;

}

//**********************

float area(float r)

{

float s;
s=r*r*314
return s;

}

SIS
enter the radius : 10

area = 314.00
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#include <stdio.h>
#include <conio.h>
int prime(int);
int main()
{
int num;
char ans;
cirscr();
while(1) {
printf("\n Enter a number:") ;
scanf('%d", &num);
if(prime (num))
printf(\n Number %d is prime.", num);
else
printf(\n Number %d is not prime.", numy;
printf(\n Do you want to continue?(y/n):");
ans = getche();
iflans 1= 'y’)
break;
}/ end of while
getch();
return 0;

}

//********************

Int prime(int num)

{
int i, temp = 1;
for(i = 2; (i <= num /2) && temp ; i++)
if(hum % i == 0)
temp = Q;
return temp;
}

u-"!'.’f";'
Enter a number : 97

Number 97 is prime

Do you want to continue ? (y/n) : y
Enter a number : 7865

Number 7865 Is not prime.

Do you want to continue? (y/n) : n
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#include <stdio.h>
#include <conio.h>
int k, sg, sum ;
void input(void);
void square(void);
int main()
{
intj,i=25;
clrscr();
printf("\n Enter five number:") ;
for(j = 0] <iij++)

1. local variables 2. global variables
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input() ;
printf("\n Sum of square is:%d",sum) ;
getch();
return 0O;

}

void input(void)

{ .
scanf("%d", &k) ;
square() ;
sum += sq ;

}

void square(void)

{

sq=k*k,;
}

u-?.’J‘;
Enter five numbers : 4 7 8 4 2

Sum of square is : 149
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#include <stdio.h> .
#include <conio.h>
int x; (I e
void func1(void);
void func2(void);
int main()
{
clrscr();
x = 100;
funci1();
func2();
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printf("\n In main x is:%d", x);
getch();
return O;

}

//*********************

void funci(void)
{

printf("\n In func1 x is:%d\n", x);
}

/ b2 b 22222 R sl 2l gl d s

void func2(void)
{
int x ; Gl Jona piiax
printf(* In func2 x changes:");
forx = 1; x < 6; x ++)
printf(" x=%d ", x) ;

u".'JJi
In func1 x is : 100

Infunc2 x changes : x =1 x=2 x=3 x=4 x=5
In main x Is : 100
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#include <stdio.h>
#include <conio.h>
unsigned long fact(int) ;

int main()
{
int m;
clrscr();

printf("\n enter a positive integer5 number:");
scanf("%d", &m);

printf("\n number=%d, fact= %id", m, fact(m));
getch();

return O;

}

//**********************

unsigned long fact(int x)
{
if(x 1= 0)
return(x * fact(x - 1)) ;
return 1 ;

}

STIS

enter a positive integer number : 5
number = 5, fact = 120

S Jusn=4 it at,fact() GU o,;5|:J._J_,:SU t\....-la.ce\.‘i LTy
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unsigned long fact(4)

{
if (4! = 0)
return (4 * fact(4-1)) ;
return 1 ;
}

unsigned long fact(3)
{
if (3! = 0)
return (3 * fact(3-1)) ;
return 1 ;
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unsigned long fact(2)

{
if (2! = 0)
return (2 * fact(2-1)) ;
return 1 ;
}

2at gt S =0 Gl mb el =0 0 2 gl gl g5 3

unsigned long fact(1)

{
if (11 = 0)
return (1 * fact(1-1)) ;
return 1 ;

2 g ot lreturn 1 g2 (ol0=0 o,,‘-:‘..".:.: Sl B

unsigned long fact(0)

{
if (0! = 0)
return (1 * fact(0-1)) ;
return 1 ;
}

Q,:‘,lmal..U|.>J§L,.J.!PL¢_TQJ!_,,‘-bj):Gl:(Uqb&)L.uuretum 1) g0 oy oyt 3 s
G Ol Joolm 0l O ¥ 3 K lkda 23 St g A 4 () 0 ot (1¥act(1-1)) sdd o i
¥ o i ol .JJJSL,-J._-JJuﬂ_,,l\)jq(f')oi‘}.pl»u.l.bgfér‘):)ubo.ﬂ.::szjc_puﬂ_,"-bl

St Pl e 03l M b 05 B g 0yt s 4 (VF) O ot ok o i

F-Ve Ji. @9

..,L;Su,-g..,l.-.,-c.;,-jla:Li.:..AL,l)Lgﬁg_,.é.l..al»‘e.\.'.l_,"-L;:_,,_,J'IIJC_._:A@:..,::..L:—_,MSGIMUJ{

faatd
l_e‘)l.gabbLL_,..\:;Scar_u})_,"-Lg)l.gbbat@‘&&b)&@)c@&b»}bgﬁbl’@w‘ﬂj
a*b=a b =1,
a*b=a*(-1)+a b> 1,8




plex Jad AY

tolonn (5125 505 BLIFXY ool 41,7 s 938 aealona [, FXT Al 1 FXY sl (5 oy 25 02 02
220 550 ol 53 el iy (el P Ly ol ) Loy L Ny s 33,5 dmslona [ FX) AL FxY
248 55 Al nl o) ) Ll 2S5k Y- s N yeadb = 1l sl 22550
RERLPE P ELIN ool aalsl

#include <stdio.h>
#include <conio.h>
int product(int x, int y);
int main()
{

int x, y;

clrscr();

printf("\nEnter two integer numbers:");

scanf("%d%d", &x, &y);

printf("\nThier product is :%d", product(x, y));

getch();

return 0;

}

/ kKKK KKRAKAKARKRRRKRKRAR AR K

int product(int x, int y)
{
ifly == 1)
return x;
return(x + product(x, y - 1));

}

u-'?.,l;
Enter two integer numbers : 10 9

Thier product is : 90
y =3, x = 4 !5l 4 product( cb’ PILS

it (3==1)) Q)]
return 4 ;
return (4 + product (4, 3 - 1)) ;

it (2==1) )
return 4 ;
return (4 + product (4, 2 - 1)) ;

it (1==1) \p)
return 4 ;
return (4 + product (4, 1 - 1)) ;
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#include <stdio.h>
#include <conio.h>
void write_v(int);
int main()
{
int x;
clrscr();
printf("enter an integer number:");
scanf("%d",&x);
write_v(x);
getch();
return O;

}

/ hkkdkdkdkdkkkhkdkhkkikkk

vold write_v(int x)

{
if (x < 10)
printf("%d\n*, x);
else {
write_v(x / 10);
printf("%d\n", x % 10);
}
}
T
enter an integer number : 123
1
2

3
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static int x;
register char y;
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#include <stdio.h>
#include <conio.h>
vold test(vold);
int main()
{
register int i;
clrscr();
for(i = 0;i < 5;i ++)
test();
getch();
return O;

}
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void test(void)
{
int x = 0; //automatic variable
static inty = 0;
printf("\n auto x=%d, static y=%d"x, y);
X ++;
y ++,
}
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auto x = 0, static y=0

auto x = 0, static y =

auto x = 0, static y =2
auto x = 0, static y=3
auto x =0, static y =4
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void f1{void) ; . . .
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staticint x,vy;
intm , n;
int main()

{
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ti.cpp JU t2.cpp LU
static int x,y; extern int m,n;
int m,n; void f2(void)
void f1(void) {
int main() m=n/m;
{ }
void  {3(void)
} {
void f2(void) m = 50;
{ }
m=5;
n=10;
X =6,
}
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#include <stdio.h>
#include <conio.h>
float calculate(float balance, float rate, int mon)
{
int i;
float ben, sben = 0;
for(i = 0; i < mon; i++){
ben = balance * rate / 100;
balance += ben;
sben +=ben;
}

return sben;

}

//****************************

int main()
{
int mon;
float balance, rate, sben;
clrscr();
printf("\nEnter balance, rate, mon:");
scanf("%f%f%d" &balance,&rate,&mon);
sben = calculate(balance, rate, mon};
printf("\n benefit=%7.1f, balance=%7.1f", sben, balance);
printf("\n new balance is: %7.1f', balance + sben);
getch();
return 0;

oI
Enter balance, rate, mon : 5000 10 4

benefit = 2320.5 , balance = 5000.0
new balance is : 7320.5
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float price (float cost, int times) ;
void give_output (float wholesale, int times, float retail);
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it (times < = 7)
return (wholesale + wholesale * 0.05) ;

else
return (wholesale + wholesale * 0.10) ;
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const float LOW = 0.05 10 ol Ayl
const float HIGH = 0.10 \LYOVC IR Y]
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#include <stdio.h>
#include <conio.h>
const float LOW = 0.05;
const float HIGH = 0.10;
const int NUM = 7;
float price(float, int);
void give_output(float, int, float);
int main()
{
float wholesale, retail;
int times;
char ans;
do{
clrscr();
printf("\n enter wholesale, self time:");
scanf("%f%d", &wholesale, &times);
retail = price(wholesale, times);
give_output(wholesale, times, retail);
printf("\n do you want to continue?(y/n):");
ans = getche();
if(ans !='y’)
break;
} while(1);
getch();
return O;

}
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//****************************

float price(float wholesale, int times)
{
if(times <= NUM)
return{(wholesale + wholesale * LOW);
return(wholesale + HIGH * wholesale);

}

//*************** dedk Ak kdekkkkkhk

void give_output(float wholesale, int times, float retail)

{
printf("\n wholesale =%7.1f, times=%3d", wholesale, times);
printf("\n retail cost = %7.1f", retail);

}
SIS
enter wholesale, self time : 4500 5
wholesale = 4500.0 , times = 5
retail cost = 4725.0
do you want to continue ? (y/n) : n
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#include <stdio.h> XYY el
#include <conio.h> ‘ all gl eans 5100 Job 4y 8 |
int main() Jone 5 Mg glp N Job ws slal,T | ave
{ Jare 02,25, | amax

const int n = 5; PRCPHEIRH NN

float ave[n], amax = O; all o paie (g 5855 0929 Joe [P

int i, p;

clrscr();

fori = 0; i < n; i++){
printf(" enter an average:");
__scanf("%f", &aveli]);

}
amax = ave[0];
p=0

fori = 1;i < n; i+4)
if(ave[i] > amax) {
amax = ave[i];
p=1i
}
printf("\n max = %5.2f, position = %d", amax, p + 1);
getch();
return O;

}
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enter an average :12

enter an average :15
enter an average :12
enter an average :17
enter an average :16
max = 17.00 , position = 4
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#include <stdio.h> Saa pl
#include <conio.h> Vo Jobay 26 | N
int main(} { n Jsb a4 slall | arr
const int n = 10; sise dlactolaws | €1
int arr[n], i, ¢c1 =0,¢c2=0; Cota el slaas | €2
clrscr(); S5 il oniyled |

printf("\n Enter %d numbers and press ENTER:\n", n);
fori = 0;i < n; i++)
scanf("%d",&arr(i]);
printf("\ negavives are:");
for = 0;i<n;i++)
if(arr[i] < 0){
printf("%d, “,arr[i]);
cl ++;
} //end of if
printf("\n positives are:");
for =0;i<n;i++)
if(arr[i] > 0){
printf("%d, “,arr(i]);
c2 ++;
}/end of if
printf("\n number of negative = %d", c¢1);
printf("\n number of positive = %d", ¢c2);
getch();
return O,
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SIS
Enter 10 numbers and press ENTER :
12-3-644-711-75199
negatives are : -3, -6, -7, -7,
positives are : 12, 44, 11, 5, 19, 9,
number of negative = 4
number of positive = 6
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#include <stdio.h>
#include <conio.h>
int main() {
int x([5], y[5], i,
clrser();
fori = 0;i < 5;i++) {
printf("Enter number %d : *, i + 1);
scanf("%d",&x[i]);
}
i=0
printf("Number in inverse:\n");
fori = 4;,i>=0;i-) {
ylil = x[il;
printf(*%3d", yli]);
i++
}
printf("\nPress a key to continue...");
getch();
return O; }

SIS
Enter number 1 : 9

Enter number 2 : 11

‘ Enter number 3 : 15
Enter number 4 :14

Entér number 5 :8
Number in inverse:

8 14 15 119

press a key to continue...
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void funct (int x[]) ;
vold func2 (int x[] , int len) ;
int main()

{
int x [10] ; .

funct (x) ;

func2 (x , 10} ;

retun 0 ;
} .
vold funci (int x[10])
{
}

void func2 (int x[] , int len)
{

}
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#include <stdio.h> [ NV JurTH
#include <conio.h> all Jsb gl Ve Jsba b | K
void findt(float arr[], int k); A i | max_count
int main() ool iS5 o jiin a8 Jaxe | max_value
{ w25 Jass | current_value
const int k = 10; 2090 Jass 1S5 0laws | current_count
float arr[k] ; dil> ooiyle | 1,
int i; K Jsbaslall | arr
clrscr(); -
printf("\n enter %d mead and press Enter:\n", k);
for (i = 0;i < k; i++)
scanf("%f", &arr[i]) ;
findt(arr, k);
return O;

}

//*************************

void findt(float arr[], int k)
{
int max_count = -1 ;
float max_value;
int i, j, current_count;
float current value ;
for i=0;i<ki++){
current_value = arr|i] ;
current_count = 0 ;
for( = 0;j < k; j++)
if (arrlj] == current_value)
current_count++ ;
if (current_count > max_count) {
max_count = current_count ;
max_value = current_vaiue ;
}iend of if
}/end of for (i= 0; i < k ..)
printf("\n maximum iteration of ave");
printf(* %5.2f is %d", max_value, max_count);
getch();

u-".‘.’)i
enter 10 mead and press Enter :

155 14 18 19 145 155 17 155 18 19
maximum iteration of ave 15.50 is 3
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#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
void bubble(int [], int);
void goutput(int [], int);
int main()
{

const int k=7 ;

int temp[7];

clrser();

ginput(temp, k);

bubble (temp, k);

printf("the sorted data are :\n") ;

goutput(temp, k);

getch();

return O;




}

//**************************

void ginput(int temp[], int len)
{
int i;
for(i=0; i < len; i++) {
printf("enter number %d:",i+1);
scanf("%d",&temp(i]);
}
}

//**********************

void bubble(int tempf[], int len)
{
int i, j, item;
fori=1len-1;i>0;i-)
for(=0;j<i;j++)
iftempl[j] > temp[j + 1]) {
item = templ]j] ;
temp[j] = temp[j + 1];
temp[j + 1] = item ;
}/end of if
}

/ hkkkkhkhhkkkkhkkkhkhkkdkkihkk

vold goutput(int templ], int len)
{
int i;
for(i=0 ;i < len; i++)
printf(" %3d",temp[i]) ;

enter number 1 : 25
enter number 2 : 57
enter number 3 : 48
enter number 4 : 37
enter number 5 : 12
enter number 6 : 92
enter number 7 : 86
the sorted data are:
12 25 37 48 57 86 92
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#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
int Isearch(int [], int, int);
int main()
{

const intk = 5;

int st[k], no;

clrscr();
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' “ginput(st, k),
printf(\nEnter a student # to search:");
scanf("%d", &no); «
if(search(st, k, no} == -1)
printf("\n number %d not exist in list *, no);
else
printf(\n number %d exist in fist.", no);
getch();
return O;
}
//**************************
void ginput(int st[], int len)
{
int i;
for(i = 0; i < len; i++) {
printf("enter student number %d:", i+1);
scanf("%d",&st[i]);
}Y/end of for
}
/ KkFRKkkkIkKddkdkkddkkdkihik
int Isearch(int st[], int len, int no)
{
int i
fori = 0; i < len; i++)
if(st[i] == no)
{return i |

\retgrn -1
}

eI
enter student number 1 : 100

enter student number 2 : 106
enter student number 3 : 108
enter student number 4 : 200
enter student number 5 : 290
Enter a student # to search : 106
number 106 exist in list.
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#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
void bubble(int [], int);
int bsearch(int [], int, int);
int main()
{

const intk = 6;

int st[k], no;

clrscr();

ginput(st, k);

printf(\nEnter a student # to search:");

scanf("%d", &no);

bubble(at, k);

if(bsearch(st, k, no) == -1)
printf("\n number %d not exist in list , no);
else

printf("\n number %d exist in list.", no);
getch();
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return 0;
}
//**************************
void ginput(int st[], int len)
{
int i;
fori = 0; i < len; i++) {
printf("enter student number %d:", i+1);
scanf("%d",&st[i]);
}/end of for
}/ e de dede dede dede dedk ek ok ke Rk ok
int bsearch(int st[], int len, int no)
{
int mid, low = 0, high = len - 1;
while(low <= high){
mid = (low + high) / 2;
if(no < st[mid})
high = mid - 1;
else if(no > st[mid])
low = mid + 1;
else return mid;
}

return -1;

}

//**********************

void bubble(int st[], Int len)
{
int i, ], item;
fori=1len-1;1>0;i-)
for( = 0;] < 1;j++)
if(sti] > stlj + 1]) {
item = st[j] ;
stl] = stfj + 1];
stfj + 1] = item ;
}/end of if

}

oI
enter student number 1 : 100

enter student number 2 : 180
enter student number 3 : 90
enter student number 4 : 120
enter student number 5 : 80
Enter a student # to search : 180
number 180 exist in list.
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#include <stdio.h>
#include <conio.h>
int main()
{
int table[10]{10], i, j ;
clrscr();
for(i = 0;i < 10; i++)
for = 0;j < 10; j++)
table[i][i] = ¢ + 1)*( + 1) ;
for(i = 0; i < 10; i++) {
for = 0; j < 10; j++)
printf("%4d" table[i][j]) ;

printf("\n") ;

}

getch();

return O;

}
STI

1 2 3 4 5 6 7 8 9 10
2 4 6 8 10 12 14 16 18 20
3 6 9 12 15 18 21 24 27 30
4 8 12 16 20 24 28 32 36 40
5 10 15 20 25 30 35 40 45 50
6 12 18 24 30 36 42 48 54 60
7 14 21 28 35 42 49 56 63 70
8 16 24 32 40 48 56 64 72 80
9 18 27 36 45 54 63 72 81 90
10 20 30 40 50 60 70 80 90 100

20 9logSHT Ulgie &3 (s3239 sladul T
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void f1 (int x[5][10]);
void f2 (int x[][10], int);

int main ()
{
int x[5] [10] ;
()
f2 (x,5);
;;turn 0;
}
void f1 (int x[5] [10])
{
}
void f2 (int x[ ] [10] , int row)
{
}

(IS G ol Jluyl oY s

#include <stdio.h>
#include <conio.h>
void minput(int [1[2], int);
void mcal(int mat[][2], int);
int main()
{
constintr=3,c =2
int mat[r][c];
clrscr();
minput(mat, r);
mcal(mat, r);
getch();
return O;

}

//*********************

void minput(int mat[][2], int r)
{
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int i, j;
for(i = 0; i < r; i+4)
for = 0;j < 2; j++4) {
printf("enter mat[%d][%d]:", i, j);
scanf("%d", &matfi][j]);
}
}

//**********************

void mcal(int mat[][2], int r)
{
int i, j, rmax;
printf(" ROW \t\tMAX");
printf("\n-------eeeeeeeeeee- s
fori = 0;i<ri++)
rmax = mat[i][0];
for = 1;] < 2; j++4)
if(mati][j] > rmax)
rmax = mat[i][j];
printf("\n %d\t\t %d", i+1, rmax);
}// end of for

}
eI
enter mat [0] [0] : 3
enter mat [0] [1] : 4
enter mat [1] [0] : 5
enter mat [1] [1] : 6
enter mat [2] [0] : 7
enter mat [2] [1] : 8
ROW MAX
1 4
6
3 8
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int x[4] = {1, 3, 5, 9};
1 go ad gl jlie 555 4y Sdarsd bl s ol e
int y[2] [3] = {1,3,4,7,6,15}
int m [2] [3] = {{4.6,9) , {7,3,1}};
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i int p[]={4,6 8};
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l int x[10] = {5,15} ;
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int m [3] [2] [4] = {{{1.23,4}, {56,78},};
{{7,932} , {4683}, };
{{7.2,6,3} , {0,1,9,4}}};
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#include <stdio.h>
#include <conio.h>

int main()

{
int mati[2][3], mat2[3][4], mat3[2][4]={0} ;
int i,j,k,| ;
clrscr();

//read mat1
for(i=0 ; i<2 ; i++)
for(j=0 ; j<3 ;j++) {
printf("tenter mat1[%d][%d]: ",i,j);
scanf("%d",&mat1[il[j]) ;
}
//read mat2
for(i=0 ; i<3 ; i++)
for(j=0 ; j<4 ;j++) {
printf("enter mat2[%d][%d]: "ij);
scanf("%d",&mat2[i][jl) ;
}
//multiply mat1 by mat2
for(i=0 ; i<2; i++)
for(=0 ; j<4 ;j++) {
mat3[i][j]=0 ;
for(k=0 ;k<3 ; k++)
mat3[illj] = mat3[i][j]+mat1[i][k]*mat2[k]];
}
printf("\n the produc of mat1 & mat2") ;
printf(" is :\n\n") ;
for(i=0 ;i<2 ;i++) {
for(j=0 ; j<4 ;j++)
printf("%5d", mat3[il[i]) ;
printf(\n") ;
}
getch();
return O;
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enter mat1[0][0]: 1 I wahT as b slass
enter mat1 [0] [1] : 2

enter mat1 [0] [2] : 3 Shesliaad e Lot (s baab 5 i o
enter mati [1] [0] : 5 13 T 3 b 45 (5 urlic oltas Jp 2L gyl
enter mati [1] [1] : 4 JAabl 5o LS (5 pobe slas Iy A2k e,
enter mat1 [1] [2] : 7 A b ol g 6801 50 AL el 5,8
enter mat2 [0] [0] : 8 Olaoa 4 slaotyl a8 ks o, sl 5 4e slas
enter mat2 [0] [1] : 9 . . . .
enter mat2 [0] [2] : 5 WJls O gt 4y 3 pas Ly oS sl slias
enter mat2 [0] [3] : 8 SIS B 5oy 1 4S s 1 (S1al el 55 e
enter mat2 [1] [01 10 s S 1) G e O s o 2aSOLS S 3
enter mat2 [1] [1] : 0 9 2 St Ozt (2 205055, J
enter mat2 [1] [2] : 12 u"‘:’l—’ Sl bl uuL.u‘j r.:a‘éu,u L oLs,ls 5.3
enter mat2 [1] [3] 21 s i r)LF‘J.bO° (JLS_)lS S (el _)L:.'}‘ _).)6
enter mat2 [2] [0] : O .. T ok el
enter mat2 [2] [1] : 5 SIS Cgr sl uv.ﬁ‘d‘x ol
enter mat2 [2] [2] : 9 S or iy 1 (5 e 00 b1 OUS LS i
enter mat2 [2] [3] : 12 sl e jeslizal QS ol st [ Kos 5y,
the product of mat1 & mat2 is : Y - < f.- A

80 80 136 208
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#include <stdio.h>
#include <conio.h>
int findmin(int [], int);
int main()
{
int list[20], num, size=0 ;
clrscr();
do{
printf("type list{%d] : ", size) ;
scanf("%d", &list[size]) ;
} while(list[size ++] 1= 0) ;
size -;
num = findmin(list, size) ;
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printf(\n minimum is:%d *,num) ;
getch();
return 0;

}

//***********************
int findmin(int arrf], int size)
{

int i, mint ;

mint = arr[Q] ;

for(i = 0 ; i < size; i++)

if(arr{i] < min1)
min1 = arr[i] ;
return(mint) ;

U’.'JJ‘;
type list [0] : 10

type list [1] : 5
type list [2] : 18
type list [3] : O
minimum is : 5
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char s[10] ;

LJ:.chJj_JQJ)&M&LJJJ‘(J:AJJ‘J;“EII”LJJ.JJJD‘,..:L’ACJ]MG&}M‘JQJJ‘QEW}‘

13 g5 ga 0l
s[0] s[1] s[2] s[3] [4] s[5]1 s[6] s[7] s[8] s[9]

e [ [rJw[?T2[22]"]7]

JJ_,ALb_,IS‘JLS(:E.!JC.—d“\O’J.S‘J.:VJLHJZS‘JLSJC,.;JJLSQ&LJJokﬁd‘xd}‘ﬁ‘)swcﬁuw‘)é
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J>.>J§gu‘,-..:..bc_bd,bon,:&o>|;g,|J|45,fL§u.;b.k,s,buz,wwujs&uc_:)q,af&u
DMl (Gl s 5303 5 gn 0015 Cagens OF 4 65 el _pla zS LIS bt 51 oy ol G )T 5150y oo o)
oy edls e gl phraa 55 8 0 s oS J s joand Y gl 5 gy laazd 4 Oals 4yl
GO SIS gl Jhs 55 b 5 005 G )T g a2y eie K O g @ sliad ) o SHIS 51, a0 Y
0303 )1 3 425 (Lt )3 s 5aal iy Ja 5 LD g0 i) 00 g0 g pn lstans ) (glest 53 1S5 5 ) b

i oS K jal) s Ol grws 4
char s[ ] = “computer”
char st [12] = “algorithm”

char stf[1 = {p','r,'qd ., \0};

s, P93 s gimed gl e Oy 1,00 wsls i 55 glazd ) ia 55 1, “computer” wl)Jl s
Str jo N0 zS1)\Sel jen w1y SIS a Py sgnd LS 0 dulofgb’\O’,.\.ndaJlJSstJ:b "algorithm"
B e ,)‘J';

s:|c|o|m|p|u|t|e|r|\ol

st:|a|l|g‘o|r|i|t|h|m|\0|?|?|

str:Lp|r|g{\o|

Laih) 2903 - 5399

ULl e a5l dys Laesls oy 5 5 (39, 51— |, printf() 4 scanf() C_,l_,_'-')k,_'a
&LJ{L—!C—:MDK) .h.u_,:ﬁ.:)g).\.ul‘,a-(-l{..h J:‘So)Lﬂ.LAJLAC.:Jo;-‘,J’—LS)‘,J‘,‘sb;;)‘JJ&
S e Sl J.;_L..;o..é..p);boiprintf(),.\.ﬂyz& I, first axs ) scanf() ;5 ) ss 4o 20T aa
—_—

_char first[21];,
scanf(%s", first)
frintf("\n first is:%s", first);

————

gets() ab L k) yaslgd
6)})})'”)l.b‘.'.‘.:");)‘_,:&s)J‘.)Jb.;StdiO.hJﬁUJ)QTé;{J'GﬁJgCtS() cULgu.L:uJSSCJUKA‘J.Io‘,yF
-E:M‘J.L)&:J)‘,nﬂbbi’j)lsb.}wu&:)‘)d)l’k—dtw)c)-b‘k)‘wcbd‘J.I“,,'

gets ((glais, pics) ;

b ledly Enter adS b acd ) 05,85,0 5) g A8 0kl g5 83555 51 e 5 a0 sEEL o) s o
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char stri[21] ;
gets (str1) ;

P

Wb yaslgd )oscanf() sgets() sglas
e

L 5 (space) duols (g5l Sl 5 s a2y 11 .S o asela | 2 ) (sl Enter LIS ks gets() &b e

oty and ) glesl eal il g.u:.SttLq- Ot ge & 5uTab y alesls ¢ scanf() ot o a8 J- s il Tab
s oSG 53 ) 5 ol stes (e Ol e 4y S

char s[51] ;

gets (s);

scanf ("%s", s) ;

0.“5- B c.\.»‘_,’-u.a b 4:..;) JSgets() cu ‘r:;S°J|J b "computer science” :\:..:J ¢CJ|J)2.~.> LJ‘-'-‘ 4 'c..uti B ;‘
2y g il ) SO e 4y O ks It 5Ly 5.5 a1, "computer” 4t ; Lais scanf() et

puts() G L aub) ol

J'lu,..a'C..L'.Cﬂl.oJ._Su.aJIJSoau:...,lajyu;,‘,fjaua.:)O:.:.ijglﬁQJleJSstdio.hJ._rUJaASC,LSL-J.:l

:&:...-JJ..J_J'CJJ).AQOTQJ{JLS.J;SUA)‘)‘JkSJl?_Jh-d“L:JO:-:‘,;
puts (aid;");
puts (glaid; yuico) ;

Py S S 5o 5 b s (e Ol e 4

char name = "ali*;
puts ('your name is ") ;
puts (name) ;

J,_.QSA(-J.‘JP)_,JZSUA&.‘Jlr"ﬁ‘,fjébualﬂr‘,)JP).éﬂsu.A)‘JSﬂamC)é"aliH4:..:)¢J‘,|J)Z.~.>L!
LS 0 Ol g 5 yo|yname

26 ulogS)T lgic &3 yamd)
.c..,u_gj.ut._h(.__g,;guc;)du)t.x.;‘x,.;u.q,_,.:uJ;sbsznéu,_tjoJ,,quc,:J;,y,

Wud,»L_614,,51‘;,:,.,J,»L_6@_\)1,\51,-0.;,U;t,.,j..bg,;,;u.,ssajcu‘cu;,u;jﬁu;.,_
Al St L

d-\Y Ji. 4P

S Sl 03 S kS S5 By e, 0T Ko S Gy o ol el g 1) gl 5 oS (slaals

facpaty
.L.SQ,L&.:..L'.SwJiAgJJ},gJJJ,q|J&;;_,Sg_i‘,fas.x.:«;:‘,;supper()chwU‘ubxcﬁ\p
Jjﬁq,fwﬁrsbl,rv&,',sq,fus.,usjl;lu;u_.c.,\rrJ)J-u&,,,sq,fog.ﬂt
S (S Ay TV 45T 4R Sl JSAT R k3 (1 Wy e
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#include <stdio.h>
#include <conio.h>
void upper(char [});
int main()
{
char s[21];
clrser();
printf("enter a string:");
gets(s);
upper(s);
puts("result is:");
puts(s);
getch();
return 0O;

}

/ ¢ v v e e e e e e 3 e F v K e e o e ook e

void upper(char sfJ)
{
int i;
for(i = O; s[i]; i++)
if(s[i} >= 'a’ && s[il] <= 'Z))

sfi] -= 32;
}
SIS
enter a string : computer science
result is : COMPUTER SCIENCE
&-\¥ Jio &P

.J."Sdﬂgh.l-;chzq(‘.:‘)))bchl tsLhJ:Sblewn.U‘_,,'bChz_}Chl J:SblS_,:_,c..:J‘&aS@qu

et
erie 35 32 4 < S|LHLS source_letter iz oy, e 584 ) SIS Slstring juaze cal 5 opl 5o
b, S Lol aal iy SIS 4o 4 4z replace() C,l: LS 0 aselal, il S target_letter

Aas o gty 5 Sl Jase
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#include <stdio.h>
#include <conio.h>
void replace(char [], char, char);
int main()
{
char string[50] ;
char source_letter, target_letter ;
inti;
clrscr();
printf("\nenter the string: *) ;
gets(string) ;
printi("enter source character :") ;
source_letter = getche() ;
printf("\nenter target character :") ;
target_letter = getche() ;
replace(string, source_letter, target_letter);
printf("\nthe result string is:");
puts(string) ;
getch();
return O;
}
//************************
void replace(char string[], char source_letter, char target_letter)
{ .
int i;
if(source_letter != target letter)
for(i = O ; string[i] ; i++)
if(string[i] == source_letter)
string[i] = target_letter;

}
I
enter the string : in the name of allah
enter source character: a
enter target character : A
The result string is : in the nAme of AllAh
o-1F Ji. &P
S gn 538 AL a5 93 0Tl siomn ol g (535,55 51 425 92 45 (ghaals
A

AL ogline bzl 5 Jsb ST bl temp SaS jiane KaS @ SIS 0 1852 551 slaact
IANL ey on Sleml G 208 0 Jie s a2 4 5 oY sb axd ) St eilesil sla SIS

2 S
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#include <stdio.h>
#include <conio.h>
int main()
{
char s1[81], s2[81], temp;
int i, j;
clrscr();
printf("enter string <s1> : ") ;
gets(s1) ;
printf("enter string <s2> : ") ;
gets(s2) ;
for(i = 0; s1[i] && s2[i]; i++) {
temp = si[i] ;
s1[i] = s2[i] ;
s2[i] = temp ;
} /lend of for
if(s1[i]) { //s1 has many char L Gl plsl Jgb
=1
while(s1[i])
s2[i] = s1fi++];
s2[i]="\0" ;
s1[j]="\0";
}/end of if
else if (s2[i]) { //s2 has many char Sl fudys2 Job
=1,
while(s2[i])
s1[i] = s2[i++] ;
s2[j]="0" ;
s1[i]="\0" ;
} /lend of else if
printf("new content of s1 is:") ;
puts(s1) ;
printf("new content of s2 is:") ;
puts(s2) ;
getch();
return O;

ST
enter string <s1> : computer

enter string <s2> : science
new content of s1 is : science
new content of size : computer
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6-10 Ji. @
Ch g 33y el Jous s ol S g0 S )l a5 4y 00 g (639,55 51151 525 yCh SIS s &2 ) oS (slaals
X138 g p1y- Mo 10 25y SIS 35 oyt 8105 8 g 5 S a2 31,
fcarts
-S4 "second content of p" 4z ;3 1,0’ ,:Sblst',.i, 93 Joa el 2 0 1S 15 Il Ol e 4
ol by 555 58 0 015 S, eventf() &b a5 48 (g M il 8 1, (S g2 WA Jlie b £
SPUPPI-BE
#include <stdio.h>
#include <conio.h>
Int eventf(char s[], char ch, char n);
int main()
{
char s[21], ch;
int n, p;
clrser();
printf("enter string:");
gets(s);
printf("enter the character:");
ch = getche();
printf("\nenter the event:");
scanf("%d", &n);
p = eventf(s, ch, n);
if(p == -1)
printf("\n %dth event not found:*, n);
else
printf("\n %dth event is in position:%d", n, p);
getch();
return 0;

}/ e v Jr I v % % % I A e % ek ek ok
int eventf(char s[], char ch, char n)
{
int i, count = 0;
for(i = 0; s[il; i ++){
if(s[i] == ch)
count ++;
if(count == n)
return(i + 1);
}

return -1;
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eTIS
enter string : computer science
enter the character : e
enter the event : 2
2th event Is in position : 13
6-15 Jia 4P
grvl_’;f‘,f)aw‘,ﬁu)}qbahu;dmﬁ6\4;.2)4.)_,|)ULQ|);;4.5|)‘Z’U‘3’QJJ>456|MUJ3
LS o
wb p gla iz
#include <stdio.h> RYY pors
#include <conio.h> 058 ouaSe Wb aS glazd, [T
int main() AL alol> gl (Ko ae | temp
{ THEPNVAN- |
char t[]="abcdefghijkimnopgrstuvwxyz"; aws, Jsb | length
char temp ;
int i, length;
clrscr();
for(length = 0 ;t[length]; ++length) ;
length -- ;
puts(* the initial text is : ") ;
puts(t) ;
fori = 0;i < length / 2; i++) {
temp = t[i] ;
tfi] = t[length - i] ;
t{length - i] = temp ;
}
puts(" the reversed test is : "} ;
puts(t) ;
getch();
return 0;
}
oIS
the Inltial text Is :
abcdefghijklmnopqrstuvwxyz
the reversed text is :
zyxwvutsrgpoenmlkjihgtfedcba
B-1Y Jio &P

S35 Nl 23, K sk has 5 5SS b Kl (5ol 81y Slalou ojle K oS sl

LS el g 300l )38 K bl s bk shes 5 41T oty b Klas il =
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SIS 30 48 oo 1l pliy A el o5t (5 SIS o g o g5 0 25 2,0 051 35
Slaulyi 5o 93,5 basat Lio (B, h LT AL D O (sl LIS el 51y 2 a0 ,5 T GO
0 SIS s gl Koo sk 4055 oS oy FA La IS HIS ol et SIS ) glite ol (g 0l 13
8 Ll 558 03,48 LIS Lk 6l o5 em 4 33 g oS A TA w311 40 51 i o3,
3L _Slae gl oper «o e (551> expr . aas plal | IS o) separate() wbi .2 p5 oS dmly FA 5 5l
Lyl K f (i gla iz .ol Jlas (5 5> 0pnd
#include <stdio.h>
#include <conio.h>
void separate(char expf], char oper[], int opnd[]);
int main() {
char expr[21], oper[21];
int opnd[21];
clrscr();
printf("enter expression:");
gets(expr);
separate(expr, oper, opnd);
getch();
return O;

}

//***************

vold separate(char expr[], char oper[], int opnd[])
{

inti,j=0,k=0;

for(i = 0; expr[i]; i ++)

if(exprli] >= '0' && expr[i] <= '9’)
opnd[j ++] = expr|i] - 48;
else
oper[k ++] = exprl[i];
oper[k] = "\0";
puts(‘operators are;");
puts(oper);

puts(‘operands are.");
for(l =0 i<jii++)
printf("%2d", opnd[i});

}
TIS
enter expression : 6 /8-9 + 4*5
operators are :
[-+*
operands are :
6 8945
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()59 aidp ) Aiud ) Y )5 (AT ) B AT ) sl

HBY 033,053 X 3 amil AL g oampay = X5 pies Bl a0 Jlin L yX by (5 ke ST
qudJﬁ_;c_:));boTr:.al)s.,‘,rc..:l,,c_:ls”computer"ol:_,:»b,sl(.UA{L5|4;J)JSl.(>2.:mS)>J:5
) by gl Ol g e sl mas b K05 Sk 4t p i OGIS2 = 51 s b oS o SS2

I FURT VR JPCIRY ST K SR S S W1
s ="all'; (cww;ol) :

&5 onlo s preslizat strepy() wli 5 Sos anty 4y e ) Slasilly 5 s ;o ghizd; 03,8 (S 6
:)‘,JQ,JJLSA.{ RISy ey )J‘) Jljstring.h &UJ)
strcpy (str1, str2) ;

:J.;J._..{uhiﬁl_;ﬁ)ob_,:.a.aﬁwo.;strl_,;c,.dstrZJMSq.ﬂ‘)_,:...:wld\ﬁW

strcpy (st, "computer”) ;
strepy (s, st) ;

b ol 58 aas ) AU LS o oSS )a 1)Stand )y pgd ) s2med 5 s oo )l 38t )3 1) "computer” «l ) J b ) s2o
A5 Jal 4 "computer”

Jor Bl RO (S s oS plons Tl caslstrl 1 iy str2 J b asslsr strepy() wb > S

W miie Sl 5305, o 1 FSHIT 51 g abolBdl LT (5Wa 2 LIS 35,08 o Sy guo 4, OF 3 oS

bty & 5 53 1) 25 by s e Ol g 4y iy il oy 51 LT O yroma ety atls f 3str] iy

..U;:.da8|‘,S)'l.\.a._.4£.§l.>-_,.>}_.2l.aJ:S|_;lS¢:£.g‘,;_,:Sda_ﬂ_)is);‘)h;;_,y4.:..‘._,)'|J:S|Jl54..ao|)_,:.a.>O.:I

char s[3];
strcpy (s, " computer science") ;

8-1A Jto 4D
WS r G 2y 5D Jos 535 5 g0 SSUNS il o (5245551 N Jhe (5048 o8 el (slazd 45 glaali
e &2y
22 position+1 fous 5l g5, 2 L el ) 5l A oS s i iy el 002 e0lizud strepy() &6 518 el sl
Sl o oS4z, position  fow
#include <stdio.h>
#include <conio.h>
#include <string.h>
int main() {
char string[81] ;
int position ;
clrscr();
printf("type a string :") ;
gets(string) ;
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printf(*enter position for ") ;

printf("delete character :") ;

scanf("%d", &position) ;
strepy(&string[position], &string[position+1]) ;
printf("the result string is: ") ;

puts(string) ;
getch();
return 0;
}
oI
type a string : computer sclence
enter position for delete character : 8
the result string is : computersclence
W Aid ) duslio

k) 3352 451 S1Llaole e eslizalif (x == y))_,:..,:jl‘.\:;SA....lU.ar.AL_»bny_,_.i.:,cﬁ..\._..M_,"._.Jﬂ
4§ stremp() b s s aglia (gl S aslizlif (51 == §2) ) yzous ot pad Ll gl gty el
2 g g 03l 5 geo g0k Sstringh LG s
strcmp (s1,s82)

ol ..L:l:JSJ{;..LoJSI.g:,....,lr.nqg,.,_..,'u.;),;W;ﬁlﬁai,l@aﬁ;ﬂlaugﬁlcbwbsyl’
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oisl > 52

g2 408 3 AU st dghacy 5 SIS o gl bl (6 5 S sl iz ) i 31 g it
Hl{@);édhﬁb&f&ﬁ‘ b gt op sl 0a by (g (sla SIS il (s glas [81 5 5 po 4 e
Sl ) (il 35, 50 48 (5SS LIS BN 35 90 5 gl 0 Sk, b oty gl o by 53 OF sl (5 gle
b Al o sl 3 e daicd 51 gyl andlan 31 ey 3 g1 bl g5 3855 SIS O

Al 93 =l
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P NS4 258 ge
strcat (s1, s2) ;
4:5.1&-\..‘41.! LZ.:‘.L‘)SZ ‘):.:[’-.SAS-\.:L:LSJ)LSI GJJJ)L Aa_luL.T éxgw)bssl LsLé;J‘);SZGJ-’:—JQJ‘LI
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name[0] |a ll 1 i| la|h|m[a ld‘ ij\oi?i? i” E‘7|

name[1] lr Ie l zlal |s[a]m|a I d\i [\o[? l? ""

name[2] |a |h |m|a | dl |n‘o ‘r | y|\o1?]? I? |'7|

name[2][3] ‘T 8% JSub
S, 5 gl
Waid ) jl glashT

deal gy LN S 55l 0 1 sTes 8wy as |y plaans ) A0 45 e i3 S S 0 5S oS _Sledbl
JJ_L.IQJ‘J_AM‘,;._L‘)JQJ:AJu_A (la_;‘LSJUA;‘-c.LSd)L\.Gib)a.Lb\° (L‘wads.).:.sg_qﬁdlﬁ.:)
(U sk 48 5 b (eSS sl 1y (sl ) ol gy JSTedla O e 4 S iy Laac 5l sl

S Jas 150 g 4 iS5 Sl SISO
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#include <stdio.h>

#include <conio.h>

#include <string.h>

void bubble(char [][21], int);

int bsearch(char [J[21], char [], int);

int main()
{
const int n = 5;
int i;
char name[21], arr [n][21];
clrscr();

fori = 0; i < m; i ++){
printf("\n enter name %d :", i + 1) ;
gets(arr[i]);
}
bubble(arr, n);
printf("\n enter one name for search ") ;
gets(name) ;
if(bsearch(arr, name, n) == -1)
printf("\n name <%s> not exist in table.", name) ;
else
printf("\n name <%s> exist in table.", name) ;
getch();
return 0;

}
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void bubble(char arr[5][21], int n)
{
int i, j;
char temp[21];
for=n-1;i>0;i-)
forG =0;j < i j++)
if(stremp(arr(jl, arr[j + 1]) > 0){
strepy(temp, arr[j]);
strepy(arr(jl, arr[j + 1]);
strepy(arr(j + 1], temp);
}
}

//*******************

int bsearch(char arr[5][21], char name[21], int n)
{

int mid, low = 0, high = n - 1;

while(low <= high){
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mid = (low + high) / 2;
if(strcmp(name, arr[mid]) < 0)
high = mid - 1;
else if(strcmp(name, arr[mid]) > 0)
low = mid + 1;
else return mid;
}

return -1;

}

;r?})’.'.
enter name 1 : mohammad ‘

enter name 2 : ali

enter name 3 : zahra

enter name 4 : ahmad

enter name 5 : sara

enter one name for search : ahmad
name <ahmad> exist in table.
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int *p1, *p2, vi, v2 ;
double *f1, f2 ;
char *ch;
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#include <stdio.h>

int  main()

{
float x, vy
int *p;
X = 5,95 ;
p=28&;
y=";

printf (\ny =% t",y);
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int x, *p1, *p2;

float vy ;

X = 1350 ;

y = 1460.1356

Pl = & ;

p2 = &y ;

e 05 e gl bl ol on LY 9X Oy e 010 513 il Vo0 foa 13X a2l Lo i
Yol pa Vool Voo glacyl yx jlasl ;5 V000 4Yoo) T I S SEIL I g gty 2% S T
HAP2 52N 0o Ba s oo pa P28y ) g1ou yPl j3 V000 15 42 o o yo PL=&X 5 yis 3,8 4o )1
ua;)cﬁpvcuﬁm,cdicu;wutplo,,,.‘r:;swn,maplJ;.L;,,;.,a;w,;ﬁ.;ﬁs
m_):(\ooo)c_‘,_,.lplJ.:ASU.‘J:TJGﬁhe&l’_}lcﬂl{_,aolija,‘.\.'.Su,adl.i..ﬂb(.l.bl.lj‘,h;ﬂ.l._ﬁ
e £95 3 P2 Osor oS Lt hm="p2 Jh (5, s STULClX die Olen OMEe il 3,8 e )13
,;4s¢,,_46,t.\z,ou,nman.;,;w,l;m,;\oovu,,ai,-nt_,,:t,.‘dasu,-ng,,_l,_,wt,,;w“;.,n
S dal g ol )3 A ool Lo 313 5 g 4y

5 o lbl (59, Jlesl

.a).:u..rla,.,'lLAJ.:.:.:.,,LL‘L;,,,,«S;._._.;u.lulvS.sJ;..Sq‘.sbrl,_.;lol',su,u;.)uld,),,a.sujul
:,-l.ub,t,;.u,.:u,rl,,.,lu;.,uld,,,.«s‘)ut
',fi.\g;uL:JS‘wL&LL_AL:HDL&/:\
ol
53 o o ) Y
TG gl s ¥




it Jad VPP

x y
001 Yoo Moot N deo¥/ Noof Yoo Vood

l Il 1 } 1
T

1350 1460.1356

p1 p2

P-Y Jsub

LaSe lale g

35535 4y Ly 35 )bl slassil

Y OLzth Jas b daa g 413X 533505 513y 534S 1) anul X=Y ) tas (Bl jpice g3y X 5148 Al e

Mb)!%&q;.)ul,a‘,»o)ﬂw\)a.a\ac,,;ﬁ.x&qal,:u;}gl);e)ul_,a...\;.u{x«,.
Z&é#)é‘)ﬂ}@‘)}bﬂ).)ﬁ“‘ﬁ&)l&‘

int *p1,*p2,x,Y;

x = 50 ;

y = 100 ;

p1 = &x;

p2 = &y ;

*pl=*p2;
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I char *ch;

int *p;
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int  x vy, *p1, *p2 ;

p1 = &x;

p2 = &y ;

if (p1 == p2)

else
ch -> Yooo -« p
ch+1 -> Yool
ch+2 = ooy < p+1
ch+3 -> Yoof
ch+4 -> Yoof <« p+2
ch+5 -> Yool
ch+6 g Yoof <« p+3
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
int main()
{
int *x, *y, s;
clrscr();
x = (int *) malloc(sizeof(int));
if(!1x){
printf("\n allocation failure.");
exit(1);
}
y = (int *) malloc(sizeof(int));
if(!y){
printf("\n allocation failure.");
exit(1);
}
printf("\n enter two integers:");
scanf("%do%d", X, y);
S=*X**X+*y**y;
printf("\n sum of square is:%d", s);
free(x);
free(y);
geteh();
return O;

u-?JJ’.'
enter two integers : 5 10

sum of square is : 125
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#include <stdio.h>
#include <conio.h>
void swap(int *, int *);

int main()
{
intx =10,y = 20 ;
clrscr();
printf("\n first value of x,y are:%d, %d", x, y) ;
swap(&x, &y);
printf("\n final value of x, y are:%d, %d", x, y) ;
getch();
return 0;
}
void swap(int *a, int *b)
{
int temp ;
temp="*a ;
*g=*h ;
*b=temp ;
}

u-?.’)’.'
first value of x, y are : 10, 20

final value of x, y are : 20, 10
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#include <stdio.h>
#include <conio.h>
void winput(int *, int *);
void rect(int, int, int *, int *);
int main()
{
int len, wid, area, per;
clrser();
winput(&len, &wid);
rect(len, wid, &area, &per);
printf(" length = %d, width = %d", len, wid);
printf("\n area = %d, perimer = %d", area, per);
getch();
return O;

}

/ TkkkkhkkhkkkkhhkkkrhhkArrk
vold winput(int *p1, int *p2)
{
printf(" enter length, width :");
scanf("%d%d", p1, p2);
}

/ ARRRKRRKRRRRRN KA AR A AR ddedrdkdd

void rect(int x, int y, int *a, Int *p)

{

*
2\
I

=2%*(x+y)

*
el
|

SIS
enter length, width : 10 5§

length = 10, width = 5
area = 50 , perimer = 30
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void check(char *a, char *b, int (*cmp)(const char *, const char *));
/fint cmp(char *, char *);
int main() {
char s1[80], s2[80] ;
int (*p)(const char *, const char *);
clrser();
p = strcmp;
printf(* enter first string :") ;
gets(s1) ;
printf(" enter second string :") ;
gets(s2) ;
check(s1, s2, p);
getch();
return 0;

}

/ e 9 v Jr ¢ I Jr 3¢ I I I I I % I %k I Ik e

void check(char *a, char *b, int (*cmp)(const char *, const char *)) {
if(!(cmp)(a, b))
printf(* the strings are equal.”);
else
printf(" strings are not equal.");
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enter first string : ali

enter second string : ahmad
strings are not equal.
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int table [5] ; e
int * ptr;
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ptr = table ; WSS g0 0 )Ll s, lasyl 4y table 4 ptr
*(ptr + 1) UL el Joleo table [1] 431 pg9 puaic
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#include <stdio.h>
#include <conio.h>
int main() {
int arr[5] ,i ;
clrscr();
printf("\n enter five value :") ;
for(i=0 ; i<5 ; i++)
scanf("%d",&arrfi]) ;
printf("\n the reverse output is :");
for(i=4 ; i>=0;i-)
printf(*%4d",*(arr+i)) ;

getch();
return O;
}
. I
enter five value : 14 7 8 9 5
the revers outputis: 5 9 8 7 14
l-.'a-; LT
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int *x, n;
scanf ("%d".&n) ;
x = (int *) malloc (sizeof (int) * n) ;
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int p;

p = (int *) malloc (n * sizeof (int)) ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
void pinput(int *, int);
void bubble(int *, int);
void median(int *, int, float *);
void pout(int *, int);
int main(} {
int n, i;
int *p;
float mead,;
clrscr();
printf(" enter number of items(n):");
scanf("%d", &n);
p = (int *)malloc(n * sizeof(int));

if(Ip){
printf(" aloocation failure!");
getch();
exit(1);

}

pinput(p, n);

bubble(p, n);

printf("\n sorted data are:");
pout(p, n);
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median(p, n, &mead);

printf(\n median = %5.2f", mead);
getch();

return 0;

}

/ Fededk dede dedede dede dededk ek ke ok e ke dek ke k kR Rk
void pinput(int *p, int n)
{
int i;
fori =0; i< ni++){
printf("enter number %d:", i + 1);
scanf("%d", p + i);
}
}

/ ik dkkkdkkkhkkdkkdkhkhhdkihkkkkdkikkk

void bubble(int *temp, int len)

{
int i, j, item;
for=len-1;i>0;i-)
for( =0;j <i;j++)
if(*(temp + j) > *(temp + j + 1)) {
item = *(temp + j);
*(temp + j) = *@temp + | + 1);
*temp + j + 1) = item ;
}lend of if
}

//*************************

void median(int *x, int n, float *mead)

{
if(n % 2 == Q)
*mead =(float) (*x + (n-1)/2)+*x+ (n/2)) /2
else
*mead = *(x + (n-1)/2);
}
//****************

void pout(int *p, int n)
{
int i;
fori = 0;i < n;i++){
printf("%3d",*(p+i));
}
printf("\n");
}
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enter number of items (n) : 6

enter number 1 : 10

enter number 2 : 9

enter number 3 : 8

enter number 4 : 4

enter number 5 : 14

enter number 6 : 19

sorted dataare: 4 8 9 10 14 19
median = 9.50
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#include <stdio.h>

#include <conio.h>

int char_count(char *, char);

int main()

{
char string[40] , ch ;
int count ;
clrser();
printf(" enter string for search:");
gets(string) ; -
printf(" enter a character:") ;
ch = getche(} ;
count = char_count(string, ch) ;
printf("\n number of occurs of char ") ;
printf(" <%c> is:%d", ch, count);
getch();
return O;
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Int char_count(char *s, char letter)

{
int count=0 ;
while(*s)
if(*s++ == letter)
count ++ ;
return(count) ;
}
u-’.'JJ’.'
enter string for search : a book about computer.
enter a character : a
number of occurs of char <a> is : 2
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#include <stdio.h>
#include <conio.h>
first_dif(char *, char *, int);
int main()
{
char st1[40], st2[40] ;
int compcase = 1 ;
clrscr();
printf(" enter first string:") ;
gets(st1) ;
printf("* enter second string:");
gets(st2) ;
first_dif(st1, st2, compcase) ;
getch();
return O;

}
/ ' J v 7 3 v o o o de o ok de e de ok ek
first_dif(char *s1, char *s2, int ignore_case)
[* if ignore_case is 1 ,ignore case
of letter */

inti;
chara, b;
for(i = 0; *s1 && *s2; s1++, s2++, i++)
if(*s1 I= *s2) {
if(ignore_case) {
a= (*sl >='a’ && *s1 <= '2") ? *s1 -= 32 : *s1;
b= (*s2 >="a’ && *s2 <= '7') ? *s2 -= 32 : *s2;
if(a 1= b)
break ;
}/end of if
else
break;
}/end of if
if(*s1 || *s2) {
printf("\n strings are not equal,");
printf(" the first difference occurs in :%d", i + 1);
}
else
printf("\n strings are equal .") ;
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enter first string : computer
enter second string : command
string are not equal, the first different accurs in : 4
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*value = (*value *10) + (*str ++ -48)
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#include <conio.h>
#include <stdio.h>
void ascli_to_Int(int *, char *);
int main()
{
int number ;
char s[10] ;
clrser();
printf(\n enter numeric string:");
gets(s) ;
ascii_to_int(&number, s) ;
printf(* numeric value is:%d", number) ;
getch();
return 0;
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void ascii_to_int(int *value, char *str)

{
int sign = 1;
*value = 0 ;
while(*str == ") str++ ;
if(*str=="-" || *str == '+')
sign = (*str ++ == ") 7 -1 :1;
while(*str)
if((*str >= '0") && (*str <= '9’))
*value = (*value * 10) + (*str ++ -48) ;
else {
printf("Watning :the <%c> is invalid character.\n", *str);
break ;
}
*value *=sign ;
}
I
enter numeric string : 175
numeric value is : 175
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#include <stdio.h>
#include <conio.h>
void Int_to_ascii(int , char *);
int main() {
int number ;
char s[10] ;
clrscr();
printf(" enter a number :");
scanf("%d", &number) ;
int_to_ascii(number, s) ;
printt(" the string value is:%s", s);
getch();
return O;

}//**********************************
void int_to_ascii(int value, char *str)
{
int saveval= value ;
char temp, *savestr = str ;
if(value < 0)
value *= -1 ;
do{
*str ++ = (value % 10) + 48 ;
value = value / 10 ;
} while(value > 0);
if (saveval < Q)
*str++ = '
*str - = \0";
while(savestr < str) {
temp = *str ;
*str -- =* savestr ;
*savestr ++ = temp ;

}

}

u’.’JJ’.'
enter a number : -175

the string value is : -175
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char *axlb) el = "axd," ;

.M.}u,c_)bss JSA_)L.:«\_)) |_) "computer" 4:..:_) Lﬁ_}_)ﬁw.} cdb Q‘);FA.;

! char *s = "computer" ;
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#include <stdio.h>

#include <conio.h>

int main() {
char *text="your name is:";
char name[41];
clrscr();
printf("\n enter your name :") ;
gets(name) ;
printf(* %s" ,text);
puts(name) ;
getch();
return 0;

I
enter your name : ali

your name is : ali
P e 4 Ol e PV UL e Gl
char text [} = “your name is :" ;
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#include <stdio.h>
#include <conio.h>
#include <string.h>
int main()

{

}

int dex;
const int k = 5;
char name[21];
char *list[k]=
{ llalill,
"ahmad",
"alireza",
“jalal",
"mohammad"
}
clrscr();
printf(" enter a name for search:") ;
gets(name);
for(dex = 0; dex <k; dex+ +)
if(!stremp(list{dex], name))
break ;
if(dex == k)
printf(" name <%s> not exist.", name) ;
else
printf(" name <%s> exist.", name);
getch();
return O;

enter a name for search : ali
name <ali> exist.
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list [0] 1000 — 1000 [Ah [m[a [d [\0]

list [1] 1006 | 1006 [A [l [i |\0O]

list [2] 1010 = 1010

list [3] 1015 | 1015 [J Ja |f Ja]r [nJe ]z [h [a [d |\0]
list [4] 1027 —» 1027 [BJa|h [r Ja [m[i [\0]
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list [0] ——» 1000 Alh |m|a |d [\0

list [1] ———— 1012 All |i |\

list [2] ———= 1024 Almiji |n|\0

list 3] — w1036 Jilalt |a|r |n|e |z |h|ald |0
list 4] —— 1048 B|a |hr ta |mli |\O
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#include <stdio.h> Saa i
#include <conio.h> ohgmadls calulo s gy gamgo wl]|  name
#include <string.h> wsobol (55l po (sl b S0 Ll 5 slalT | ptr
int main() LSS sleail> sla st in,0ut
{ S5 So Sl piza S| temp

char name[30][81]; Shazatils galol slas 085 )lad g ,))S5 dil> juy it count

char *ptr{30], *temp; Obsmdilo slaws 2t | K

int in, out, count = 0;
const int k = 30 ;
clrscr();
while{count < k) {
printf(" enter name of number %d:", count + 1);
gets(name[count]) ;
if(Iname[count][0])
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if(!name[count][0])
break ;
*(ptr + count ++) = name[count] ;
}
for(out = 0; out < count - 1; out ++)
for(in = out + 1; in < count; in++)
if(strcmp(*(ptr + out), *(ptr + in)) > 0){
temp = *(ptr + in) ;
*(ptr + in) = *(ptr + out) ;
*(ptr + out) = temp ;
}
printf("< < the sorted list is:>>\n");
for(out = 0 ; out < count ; out ++)
printf("\n name %d is:%s", out + 1, *(ptr + out));

getch();
return O;
}
S
enter name of number 1 : bahrami
enter name of number 2 : amin
enter name of number 3 : jafar
enter name of number 4 : sadeghi
enter name of number 5 :
<< the sorted list is : >>
name 1 is : amin
name 1 is : bahrami
name 1 is : jafae
name 1 is : sadeghi
ptr [O] L —» [ bla|h{r |a|m]|i [\O
ptr [1] —» [ a|[ml]i [n|\0
ptr [2] — |j|a|[f |a]r|\0
ptr [3] —» [ s|a|d|e{g|h]i |\O
Pye JSuk
O3 5 31 e S 5L capan
ptr [0] blalh|r [a|m]i [\
ptr [1] >< alml|i |n|\0
ptr [2] — |jlalf {a]|r [\0
ptr [3] —» | s|a|d|e|g|h]i |\
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#include <stdio.h>
int main()
{
int X, *p ,**q ;
clrscr();
x=10;
p=28x;
q=2&p;
printf("\n the q points to value:") ;
printf(*%d",**q) ;
getch();
return 0;

eI
the q points to value : 10
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#include <conio.h>
#include <stdio.h>
main() {

intx, *p;

clrscr();

x =10 ;

P =X,

printf("\n %d", *p) ;

getch();

return Q; -

}

bxxwoli,:a.-'.b__,fu,.L-,,:b«.,‘p=x;),:...a‘,.a‘,.:.u,..;lac.,_:xﬁsz.q\oa.x;?—\odL‘.-LUJ,)a
ﬂ@‘#h&u‘dﬂ)‘.l.i.ﬂi.ip;e)u“)ﬁ..o.L.u_)b;JLSJ.)LJ‘OTQP;Q‘)L:“S&):T‘):
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#include <stdio.h>
#include <conio.h>
main() {
int x, *p;
clrscr();
x=10;
P=Xx;
printf("\n %d", *p);
getch();
return O;
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#include <stdio.h>
#include <conio.h>
int main(} {
char s[80], y[80] ;
char *p1, *p2 ;

clrscr();
pl =s;
P2=y;

printf("\n p1 is %p, p2 is %p", p1, p2);
printf("\n p1 points to lower addree?");
getch();
return O;

F-VA Jie @D
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#include <stdio.h>
#include <conio.h>
int main()
{
int first{10], second[10] ;
int*p , t;
p=first ;
fort =0;t<20;t ++)
*p++ =t
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#include <stdio.h>
#include <stdiib.h>
#include <conio.h>
#include <string.h>
int main(int arge, char *argvl]) {

int disp, count ;

clrscr();

iffargc <= 2) {
printf(* number of parameter is wrong.");
printf("\n usage: number display");
getch();
exit(0);

}

iflargc == 3 && !strcmp(argv[2], "display"))
disp=1 ;

else
disp=0 ;

for(count = atoi(argv[1]); count ; --count)
if(disp)

printf("\n %d “, count) ;

printf("%c", 7);

getch();

return O,

C:\BC> 6-26 5 display

5
4
3
2
1
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
int main(int argc, char *argv(])
{
intt,i;
clrscr();
iflargc < 2) {
printf(" number of parameters is wong.");
printf("\n usage : PROG arg.");
exit(0) ;
}
for(t = 0; t < argc ; ++t)
for(i = O; argv[tl[i]; i ++)
printf("\n %c "argv[t][i]) ;
getch();
return O;

}
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int *zptr
int *aptr = NULL ;
void *sptr = NULL ;

int number, i ;

int z[5] = {1,238, 4, 5}
sptr = z;

a) ++zptr ;

b) number = zptr ;

¢) number = *zptr [2] ;
dfor(i=0;i<=5;i++)
printf ("%d", zptr [i]) ;

#include <stdio.h>

int mystery2 (const char *);
int main()
{

char string [80] ;
printf("\nEnter a string: ") ;
scanf("%s",string) ;
printf("%d\n",mystery2(string)) ;

return O ;
}
//**************************
int mystery2 (const char *)
{

int x=0;

for (; *s !="\0', s ++)

++ X ;

return  x;

}

a) int *num ;
printf("%d", *num) ;

b) short  *numptr, result ;
void *genericptr = numptr ;
result = *genericptr +7 ;
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#include <stdio.h>
#define M 5
int main()
{
inti,j x[M];
for(i=0;i<M;i++)
x[il=x+1i;
for(i=0;i<M;i++)
printf ("\n x[%d] = %d", i, * (x + i) ;
getch () ;
return O ;
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struct < lusle> {
Qlu.-.-l.w wolc
}s
NS S ks ola e Olastle ole LS b cuas b i gl ng.li.-l.iby'lijl‘olc.»'bfl}
Ozl S 4l pastin ¢S a6 50 g ol L LTl 5 Jpams it K diilan g 2l e Olazs L
'-L_-'-_I'LCJ‘-’):&:;vd‘ﬁv\a:C—:yd‘“}lsd:i’_’éb\)lsﬂ)u‘ﬁ‘6)‘“‘!6‘}66:4
struct personel {
char name [31] ;

int persno ;
int salary ;
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struct personel p1, p2 ; '
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struct {
char name [31] ;
int persno ;
int salary ;
}p1,p2;
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struct student {

char name [31] ;

int cours [10] ;

int unit [10] ;

int grade [10] ;

int person ;

} st1, st2 ;
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sti.cours [1] cours ayl pais (gl
stl.cours [i] cours al)l ,..a..s,_,..oi

st1.name[i] name al)l ,..a..su...i
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stl.persno = 1243 ; (Olosslw pase 4 4310 jludo)

printf ("\n%d", st1.persno) ; (s le paie oS ola)

gets (sti.name) ;

for (i=0;1<10;i ++)
scanf("%d", &st1.unitli]) ;
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#include <stdio.h>

#include <conio.h>

int main ()

{
struct complex {

int real ;
int unreal ;

} comp1 , comp2 ,result ;
clrser();
printf("enter the real part for number %d:", 1);
scanf("%d", &compi.real) ;
printf("enter the unreal part for number %d:", 1);
scanf("%d", &comp1.unreal) ;
printf("enter the real part for number %d:", 2);
scanf("%d", &comp2.real) ;
printf("enter the unreal part for number %d:", 2);
scanf("%d", &comp2.unreal) ;
result.real = compi.real + compZ2.real;
result.unreal = comp1.unreal+comp2.unreal;
printf(‘result is:real=9%d,unreal=%d", result.real, result.unreal);
getch();
return 0;

N ila
enter the real part for number 1 : 12

enter the real part for number 1 : 25
enter the real part for number 2 : 5
enter the real part for number 2 : 19
result is : real = 17, unreal = 44
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struct  student {
char name [21] ;
char address [30] ;
int grade [10] ;

int stno ;
} s1, 82
:.&iu&’w‘)ﬁjg:)‘)}:u)wwa‘,'.s‘
struct student st1 = {"ali" , 'mashhad", {0} , 15} )]
struct student st2 = {0} ; \p)
struct student st3 = {"ahmad", \0’ ,{15, 20}, 0}; ™)
struct student st4 = {reza"} ; )
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#include <stdio.h>
#include <conio.h>
struct student {
char name[30] ;
float grade ;
b
int main ()
{
inti, n;
float y ;
clrscr();
struct student st1={0} ;
struct student st, st2={0};
printf("enter the number of student: "); s
scanf("%d", &n) ;
for(i=1;i<=n;i++) {
printf("enter name of student %d ", i);
scanf("%s", st.name) ;
printf("enter grade of student %d :", i);
scanf("%f", &y) ;
st.grade = vy;
if (st.grade > sti.grade){
st2 = st1 ;
st1 = st ;
}//enf of if
else if (st.grade > st2.grade)
st2=st ;
}//end of for
printf("the name of second student is :%s", st2.name) ;
printf("\nthe grade of second student is.%.2f", st2.grade);
getch();
return O;

@JJ"
enter the nhumber : 3 -

enter name of student 1 : ali

enter grade of student 1 : 12.6

enter name of student 2 : ahmad
enter grade of student 2 : 18.2

enter name of student 3 : reza

enter grade of student 3 : 14.5

the name of second student is : reza
the grade of second student is : 14.50
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struct  _student {
char name [21] ;
irlt stno ;
fioat ave ;

}i

struct student , st[1 QO] ;
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st[0] st[1]

st{0].name st[0].stno st[0].ave st[1].name st[1].stno st[1].ave
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
struct addr{
char name[10] ;
char street[15] ;
char city[10] ;
char state[3] ;
unsigned long int zip;
} addr_info[MAX] ;
vold init_list_all(void), enter(void) ;
void delete_e(void);
void list_all(void) ;
Int menu_select(void), find_free(void);
int main()
{
char choice , ch ;
clrscr();
init_list_all() ;
for(;;){
choice = menu_select() ;
switch(choice) {
case 1: enter(); break ;
case 2: delete_e(); break :
case 3: list_all(); break ;
case 4: exit(0) ;
} //end of switch
}/end of for
}

//****************************

void init_list_all(void)

{
register int t ;
for(t = 0;t < MAX; ++t)
addr_info[t].name[0]="0";
}

//****************************

int menu_select(void)
{
char s[10] ;
int c;
clrser() ;
gotoxy(29, 6);
printf("1) << enter a name >>");
gotoxy(29, 8); -
printf("2) << delete_e a name >>");
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gotoxy(29, 10);
printf("3) << list_all the file >>");
gotoxy(29, 12);
printf("4) << Quit >>");
do {
gotoxy(24, 15) ;
printf(" Please enter your choice(1-4):");
gets(s) ;
c = atoi(s) ;
} whilec <0 |jc > 4);
return (c);

}

/ e % J F¢ Fc de % J e de e e e e e K e ek e ok ok ok ek ok

void enter(void)
{
int slot ;
char s[80] ;
slot = find_free() ;
if(slot == -1) {
printf("\n list full");
return ;
}
gotoxy(s, 17) ;
printf("enter name:") ;
gets(addr_info[slot].name);
gotoxy(40, 17) ;
printf("enter street:") ;
gets(addr_info[slot].street);
gotoxy(5, 19) ;
printf("enter city:") ;
gets(addr_info[slot].city) ;
gotoxy(40, 19) ;
printf("enter state code:") ;
gets(addr_info[slot].state) ;
gotoxy(22, 21) ;
printf("enter zip:") ;
gets(s) ;
addr_info[slot].zip = strtoul(s,\0’,10) ;
}

/ e e % 9 v e e %k v v e v %k vie vk ok v o e e e ok dede ke o
find_free(void)
{
register int t ;
for(t = 0 ; addr_info[t].name[0]
&& t < MAX ; ++t) ;
ift == MAX) return -1 ;
return t ;




//****************************

void delete_e(void)
{
int slot ;
gotoxy(28, 19) ;
printf("enter record #(0-99):");
scanf("%d",&slot) ;
if(slot >= 0 && slot < MAX)
addr_info[slot].name[0] = "\0’;

}

/ kdkkkhkhkkkkkkkkkkhkhrkrhhhkk

void list_all(void)
{
register intt;
intr=20;
char ch ;
clrser() ;
gotoxy(25, 2) ;
printf(" << all information in list are:>>") ;
gotoxy(13,3) ;

PRNH(*** ks kwmik ki hsnkdnnn)
Printf(rx ks sxsasnnnsn) .

PHNf(“** ***xkwxnaxkrkasinss) .
’

gotoxy(10, 4);

printf(" name street city ");
printf(" state zip");

gotoxy(10, 5);

printf(* )
printf(" "

for(t = 0; t < MAX ; ++t) {

if(addr_info[t].name[0]) {
gotoxy(14, 6+1) ;
printf("%s “,addr_info[t].name);
gotoxy(26, 6+r) ;
printf("%s ",addr_info[t].street);
gotoxy(40, 6+r) ;
printf("%s *,addr_info[t].city);
gotoxy(54, 6+r) ;
printf("%s ",addr_info[t].state);
gotoxy(70, 6+r) ;
printf("%lu ",addr_info[t].zip);
r++;

}

}
gotoxy(13, 6+r) ;

printf("********************")-
’




prinﬁ(ll*********************I!) .
’

printf("********************II);
gotoxy(27, 7+r1) ;
printf("press any key to continue");

getch() ;
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. << enter a name >>

. << delete a name >>

. << list the file >>

. << quit >>

please enter your choice (1-4) : 1

enter name : mohammad

enter street : daneshgah

enter city : mashhad

enter state : 23

enter zip : 123

1. << enter a name >>

2. << delete a name >>

3. << list the file >>

4, << quit >>

please enter your choice (1-4) : 1

enter name : naser

enter street : asrar

enter city : mashhad

enter state : 34

enter zip : 432

1. << enter a name >>

2. << delete a name >>

3. << list the file >>

4. << quit >>

please enter your choice (1-4) : 3
AAEAEAERERARRRRRR AR R AR AR ARRRRRRRRRRAARRRRRARARRRA AR AR R AR AR Ak bk dhdhdhhhhhkkk

HON =

name street city state zip
mohammad daneshgah mashhad 23 123
naser asrar mashhad 34 432

EREERRRRRARRRARRAREARARRRRARRRRRRRRRRRRRRRRRA AR RRR AR AR RRR A hh Rk kkhhhhhkhdhkd

press any key to continue
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
int main()
{
int i, n, sumage = 0, maxold=0 ;
struct date {
int day ;
int month ;
int year ;
} today ;
struct employee {
char name [30];
int persno ;
struct date workdate ;
int age ;
int old ;




} emp[MAX] ;
struct employee maxemp = {0} ;
clrscr();
printf(" enter the number of employees ") ;
scanf("%d",&n) ;
printf(" enter today date(day month year):") ;
scanf("%d",&today.day) ;
scanf("%d",&today.month) ;
scanf("%d",&today.year) ;
for(i=0;i<n;i++) {
printf(" enter name %d:", i + 1) ;
scanf("%s", empli].name) ;
printf(" enter personel number %d:", i + 1) ;
scanf("%d",&empli].persno) ;
printf(* enter work date(day month year) %d:", i + 1) ;
scanf("%d",&empl[i].workdate.day);
scanf("%d",&empfi].workdate.month);
scanf("%d",&empl[i].workdate.year);
printf(" enter age for person %d:", i + 1);
scanf(*%d",&empl[i].age) ;
if (today.month > empl[i].workdate.month ||
(today.month == empli].workdate.month &&
today.day >= empli].workdate.day ))
empli].old = today.year - empl[i].workdate.year ;
else

empli].old = today.year - empli].workdate.year - 1 ;

if (emp[i].old > maxold) { :
maxold = empfi].old ;
maxemp = empli] ;
}/end of if
sumage += empli].age ;
}//end of for
printf("\n the average of age is :%.2f", (float)sumage / n) ;
printf("\n the specification of a older person:’) ;
printf("\n the name is : %s", maxemp.name) ;
printf("\n the persno is: %d", maxemp.persno) ;
printf("\n the age is: %d", maxemp.age) ;
printf("\n the old is: %d", maxemp.old) ;
getch();
return O;

\4.
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enter the number of employees : 2

enter today date (day month year) : 11 3 78
enter name : ahmad

enter personal number : 1231

enter work date (day month year) : 12 2 65
enter age for person 1 : 30

enter name : mohammad

enter personal number : 4323

enter work date (day month year) : 2 4 62
enter age for person 2 : 35

the average of age is : 32.5

the specification of a older person :

the name is : mohammad

the persno is : 4323

the age is : 35

the old is : 15
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struct  student {
char x ;
int stno ;
char name [31] ;
} st1;

func (st1.x) ;
func (st1.stno) ;
func (st1.name [5]) ;

ﬂjob_,:_...;lp_,quq‘:ﬁuu;ﬂl&Jﬁl“;jl.\.i\{‘cl_,:qol.;éu’_x.‘ﬂt;6l+.~ﬁidl.§.‘.§ld|j
holes ax 5




piid had  14Y

func (&st1.x) ;

func (&st1.stno) ;
func (&st1.name [5]) ;
func (st1.name) ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
void test(char *);
int main()
{
struct ss{
char name[20] ;
int x ;
}s,
clrscr();
printf("enter name and stno:");
scanf("%s%d", s.name, &s.x) ;
test(s.name) ;
getch();
return O;

}

//*****Q*****************

void test(char *s)
{ .
printf("name is:");
while(*s){
printf("%c", *s) ;
s++ ;
}
}

oIS
enter name and stno : ali 125

name Is : ali
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
struct personel{
char name[30] ;
int agenum ;
b
struct personel newname();
void list(struct personel);
int main ()
{
struct personel agent1 , agent2 ;
struct personel newname() ;
clrscr();
agentl = newname() ;
agent2 = newname() ;
printf("\n<< agent name agent number\n") ;
list(agent1) ;
list(agent2) ;
getch();
return O;

}
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struct personel newname()

{

char numstr[80] ;
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struct personel agent ;

printf(" << New agent >>\n");
printf("Enter name:");
gets(agent.name) ;

printf("enter agent number(3 digit):");
gets(numstr) ;

agent.agenum = atoi(numstr) ;
return(agent) ;

}

//**************************

void list(struct personel age)

{

printf("%15s %10d\n", age.name, age.agenum);

SIS
<< new agent >>

enter name : reza
enter agent number (3 digit) 213

<< new agent >>
enter name : mohammad
enter agent number (3 digit) : 123
<< agent name agent number >>
reza 213
mohammad 123
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struct bal {
float  balance ;
char name [80] ;
} person ;
struct bal *p ;
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p = &person ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>

struct tm {
int hours ;
int minutes ;
int second ;
I3

void display(struct tm *);
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void delayt ();
void update (struct tm *);

int main ()

{
struct tm time ={0} ;
clrscr();
for ()

update (&time) ;
display (&time) ;

}

//********************

void display(struct tm *t)

{
gotoxy(70, 2) ;
printf("\n%2d:", t -> hours) ;
printf("%2d:", t -> minutes) ;
printf("%2d", t-> second) ;
}
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void update (struct tm *t)
{
t-> second ++ ;
if (t-> second == 60)
{
t-> second=0 ;
t-> minutes ++ ;
}
if (t-> minutes == 60)
{
t-> minutes=0 ;
t-> hours ++ ;
}
if (-> hours==24)
t-> hours=0 ;
delayt () ;
}
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void delayt ()
{
long int t;
for (t = 1; t < 20000000 ; ++1) ;
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I init_list()l |delete_e() || list() |Iist1 0 | | list2() | | enter() | I menu_select() I
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#define MAX 100
struct student {
char name[10] ;
float mead ;
int  unit ;
int  number ;
int stno;
} st_info[MAX] ;
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void init_list(void), enter(void);
void del_rec(void), list(void);
void list1(}, list2();
void print(int *, int), title(int *);
int menu_select(void);
int find_free(void) ;
int main(void)
{
char choice ;
init_list() ;
for(:){
choice = menu_select() ;
switch(choice) {
case 1: enter(); break;
case 2: del_rec(); break ;
case 3: list(); break;
case 4: list1(); break ;
case 5: list2(); break ;
case 6: exit(0) ;
} // end of switch
}//end of for
}
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void init_list(void)

{
register int t ;
for(t = 0; t < MAX; ++t)
st_infoft].name[0] = "0’ ;
}
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int menu_select(void)
{
char s[10];
int ¢ ;
clrscr() ;
gotoxy(29, 3) ;
printf("1) << enter a student >>");
gotoxy(29, 5) ;
printf("2) << delete a student >>");
gotoxy(29, 7) ;
printf("3) << list the array >>";
gotoxy(29, 9) ;
printf("4) << list for probation >>");




}

gotoxy(29, 11) ;
printf("5) << list for exelent >>");
gotoxy(29, 13) ;
printf("6) << Quit >>");
do {
gotoxy(27, 15) ;
printi(" Please enter your choice(1-6): ") ;
gets(s);
¢ = atoi(s);
} while(c <0 || ¢ > 6);
return (c) ;
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void enter(void)

{

float grade, sumgrade = 0;
int slot, j, unit1, sumunit = 0 ;
slot = find_free() ;
if(slot == -1){
printf("\n list full. press a key to continue...");
getch();
return ;
}
gotoxy(5, 17) ;
printf("enter name:") ;
gets(st_info[slot].name) ;
gotoxy(5, 18) ;

- printf("enter stno:") ;

scanf("%d", &st_info[slot].stno) ;
gotoxy(5, 19) ;
printf("efiter number of course:") ;
scanf("%d", &st_info[slot].number) ;
for( = 1; j <= st_info[slot].number; j++) {
gotoxy(40, 17) ;
printf(" )
gotoxy(40, 17) ;
printf("enter grade number %d:"));
scanf("%f"', &grade) ;
gotoxy(40, 19) ;
printf(" ");
gotoxy(40,19) ;
printf("enter unit of grade %d:", j);
scanf("%d", &unitl) ;

Yoo
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sumgrade += grade * unit! ;

sumunit += uniti ;
} /lend of for
st_info[slot]. mead = sumgrade / sumunit ;
st_info[slot].unit = sumunit;

}

//*********************

int find_free(void)
{
register int t ;
for(t = 0; st_info[t].name[0] && t < MAX ; + +t);
if(t == MAX) return -1 ;
return t ;

}

//*********************

void del_rec(void)
{
int slot ;
gotoxy(28, 19) ;
printf(*enter record #(0 - 99):") :
scanf("%d", &slot) ;
if(slot >= 0 && slot < MAX)
st_info[slot].name[0]="\0" ;

}

//*********************
void list(void)
{
intt, r=0;
clrscr() ;
title(&r) ;
for(t = 0; t < MAX; ++1)
if(st_info[t].name]0])
print(&r, t);
gotoxy(13, 1) ;

Printf("******************************..);
printf("*******************************") ;
gotoxy(27, r + 1) ;

printf("press any key to continue ") ; -
getch();

}

//*********************
void list1(void)
{




intt, r=0;
clrser() ;
title(&r) ;
forit = 0; t < MAX; ++t){
if(st_info[t].name[0] && st_info[t].mead < 12)
print(&r, t) ;
}/end of for
gotoxy(13, r) ;

printf(ll******************************ll);
printf("*******************************ll) ;
gotoxy(27, r + 1) ;

printf("press any key to continue ) ;
getch();

}

//*********************

void list2(void)
{
intt, r=0;
clrser() ;
title(&r) ;
for(t = 0; t < MAX; ++t){
if(st_info[t].name[0] && st_info[t].mead >= 17)
print(&r, t) ;
}/! end of for
gotoxy(13, 1) ;

1 (2222 222323222223 2222232222 24 20N
printf( ):
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printf("*** )

gotoxy(27, r + 1) ;
printf("press any key to continue ") ;
getch();

}

/ e 3 e 3 J v v v v e e de e ke de e ek e ok
void title(int *r)
{
*r = 2;
gotoxy(25, *r) ;
printf(" << information in list are: >>");
gotoxy(13, *r + 1) ;

printf(ll*************************“);
printf(ll************************************ll);
gotoxy(10, *r + 2);

printf(" name mead Y

printf("  unit number stno ");

Ye¥
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gotoxy(10, *r + 3);

printf(" );

print(" ";
*r = 6;

}

//*********************

void print(int *r, int t)

{
gotoxy(14, *1) ;
printf("%s ", st_info[t].name) ;
gotoxy(26, *r) ;
printf("%.2f *, st_info[t].mead) ;
gotoxy(40, *r) ;
printf("%d ", st_info[t].unit) ;
gotoxy(54, *r) ;
printf(*%d ", st_info[t].number) ;
gotoxy(70, *r) ;
printf("%u ", st_info[t].stno) ;
(*n ++;

}

u’.’JJ’..
. << enter a student >>

. << delete a student >>
. << list the array >>
. << list for probation >>
. << list for exelent >>
. << quit >>
please enter your choice (1-6) :

1
2
3
4
S
6
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struct o bsbuel {
Vald ggi> <Valdpl> 1 <) ald Job> ;
<Y uld £9> <Y uld o> 1 <V ald Job> ;

<Nuld g9> <NuLdpl> | <N uld Job> ;
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struct device {
unsigned active : 1 ;
unsigned ready : 1 ;
unsigned xmt_error : 1 ;
} dev_code ;
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dev_code, xmt_error

dev_code, ready

dev_code, acrive

.dev_code jiiecuaxs, V-F S
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change clear_to_send line °
change in data_set_ready \

trailing edge detected
change in recive line
clear_to_send
data_set _ready
telephone ringing
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received signal
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struct status_type {
unsigned delta_cts : 1 ;
unsigned delta dsr : 1 ;
unsigned tr_edge : 1 ;
unsigned delta_rec : 1 ;
unsigned cts : 1 ;
unsigned dsr : 1 ;
unsigned ring : 1 ;
unsigned rec line : 1 ;

} status ;
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status = get_port_status() ;
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struct emp {
struct addr address ;
float pay ;

unsigned lay _off : 1 ;

unsigned hourly : 1 ;
unsigned shifted : 1 ;
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#include <string.h>
#include <conio.h>
#include <stdio.h>
void enter{char *, struct bdate *);
struct bdate {

unsigned int day :5;

unsigned int month :4 ;

unsigned int year :7;

b

int main ()

{
struct bdate birth, today ;
int age ;
char p1[40] , p2[40] ;
clrscr() ;

strepy(p1, "enter birth date (day month year):");
strcpy(p2, "enter today date(day month year) :");
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enter(p1 , &birth) ;
enter(p2 , &today) ;
if (today.month > birth.month ||
(today.month == birth.month &&
today.day > birth.day))
age = today.year - birth.year ;
else
age = today.year - birth.year -1;
printf("\n the age is %d year.", age);
getch();
return O;
}
//***********************
void enter(char *prompt, struct bdate *point)
{
unsigned int d, m, y;
printf("%s", prompt);
scanf("%d%d%d", &d, &m, &y);
point -> day =d ;
point -> month = m
point -> year = vy ;

I
enter birth date (day month year) : 12 11 50

enter today date (day month year) : 26 12 78
the age is 27 year.
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union u_type {
int i;
char ch ;
float y ;
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#include <conio.h>
#include <stdio.h>
int main ()
{
union test {
int i;
char ch ;
float y ;
} un;
clrscr();
printf("\n enter an integer number:");
scanf("%d", &un.i) ;
printf(" the value of i is :%d", un.i);
printf("\n enter a character i I
un.ch = getche() ;
printf("\n value of ch is:%c", un.ch);
printf("\n enter a float number :");
scanf("%f', &un.y) ;
printf(" the value of y is:%.2f", un.y);
printf("\n the size of union is:%d", sizeof(union test));
getch();
return O;
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u-’.'JJ;
enter an integer number : 43

the value of | is : 43

enter a character :

the value of chis :

enter a float number : 23.65
the value of y is : 23.65

the size of union is : 4
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#include <conio.h>
#include <stdio.h>
int main ()
{
struct twoint {
int num1 ;
int num2 ;
L
union intflo {
struct twoint test ;
float flonum ;
} unex ;
clrscr();
printf(* size of union is : %d", sizeof(union intflo));
unex.test.num1 = 564 ;
unex.test.num2 = -231 ;
printf("\n unex.test.num1=%d", unex.testnumi) ;
printf("\n unex.test.num2=%d", unex.testnuma) ;
unex.flonum = 45.76 ;
printf("\n unexflonum=9%.2f", unex.flonum) ;
getch();
return O;

u-’.'JJ;
size of union is : 4

unex.test.numt = 564
unex.test.num2 = -231
unex.flonum = 45.76
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unsigned int varl, var2 ;
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typedef unsigned int subint ;
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doled
subint var1, var2 ;
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typedef char string [50] ;
string s1, 82 ;
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char s1 [50], s2 [50] ;
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#include <conio.h>

#include <stdio.h>

int main ()

{
const int n = 5;
typedef unsigned int INT ;
typedef int ARR[n} ;

ARR list1, list2 ;
INT i, sum = 0 ;
clrscr();

printf("\n enter %d integers: *, n);
for i=0;i <n;i++)

scanf("%d", &list1[i]) ;
printf("\n enter %d integers agin: ", n);
for i=0;i <n;i++)

scanf("%d", &list2[i]) ;
for (i =0;i <n;i+s+)

sum += list1i} + list2[i] ;
printf("\n sum of two array is:%d", sum) ;
getch();
return O;

STIF
enter 5 integers : 2 3 4 5 6

enter 5 integers again:7 6 4 3 2
sum of two array is : 42
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#include <conio.h>
#include <stdio.h>
struct date {
int day ;
int month ;
int year ;
} s
typedef struct date DATE ;
typedef DATE *PTRDATE ;
int main() (
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DATE today ;

PTRDATE ptr ;

clrscr();

ptr = &today ;

ptr -> day = 27;

ptr -> month = 9 ;

ptr -> year = 1999 ;

printf("\n date is:%d", ptr->day);
printf("/%d", ptr -> month) ;
printf("/%d", ptr -> year) ;

getch();
return 0O;
}
SIS
date is : 27/9/1999
hyloab 031 glgil
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enum color {
red,
yellow,
brown

} colori, color2
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enum color { 193 1Y)
red, R
yellow,
brown

};

enum color color1, color2 ;
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colorl = red ;

color2 = yellow ;

it (colorl == color2)
{

}
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enum sample {a, b =5, ¢, d};
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#include <conio.h>
#include <stdio.h>
enum weekday { SAT, SUN , MON , TUE , WED, THU , FRI };
typedef enum weekday WEEKDAY;
WEEKDAY tomorrow(WEEKDAY);
int main ()
{
int hours ;
const float r1 = 1.2, r2 = 2.0;
float base, rate, wages = 0.0 ;
WEEKDAY day ;
clrscr();
printf("enter the basic hourly rate :") ;
scanf("%f", &base) ;
printf(*enter the hours worked ");
printf(‘for saturday through friday:\n"); .
day = FRI ;
getch();
do {
day = tomorrow(day) ;
scanf("%d", &hours) ;
switch(day) {
case SAT :
case SUN :
case MON :
case TUE :
case WED :
rate = base; break ;
case THU :
rate = r1 * base; break ;
case FRI :
rate = r2 * base, break ;
}
wages += rate * hours ;
} while (day != FRI) ;
printf("\n total wages for the week is :%.2f", wages) ;
getch();
return 0;

}

/ hhkkkkkhkhkkkkhhkhkhhkkhkk

WEEKDAY tomorrow(WEEKDAY d)

{
WEEKDAY nextd ;

Y\Y
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switch (d) {
case SUN : nextd = MON ; break ;
case MON : nextd = TUE ; break ;
case TUE : nextd = WED ; break ;
case WED : nextd = THU ; break :
case THU : nextd = FRI ; break :
case FRI : nextd = SAT ; break ;
case SAT : nextd = SUN ; break ;

}
return(nextd) ;
}
u-".'JJ’.'
enter the basic hourly rate : 120
enter the hourse worked
for saturday through friday: 7 6 9 12 5 7 5
total wages for the week is : 574.00
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FILE *fp ; o)
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if ((fp = fopen ("Attest' , "w")) == NULL {

Tprintt-{*canrnot 6pen file \n") ;
exit (0) ;
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int fclose (FILE *fp)
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fcloseall() ;
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int pute (int ch, FILE *fp)
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int getc (FILE *fp)
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int feof (FILE *fp)
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
ey
int main()
{
FILE *in, *out ;
char ch;
clrser();




Y b

in = fopen(‘test.dat’, "w");

it (in) {

~ printf(*cannot open file\n");
getch();

_exit(1);

S

printf("\n enter characters($ for end):"); I T

do { ‘
ch = getchar();
putc(ch, in);

} while(ch 1= '$");

fclose(in);

out = fopen(‘output.dat’, "w");

if(lout) {
printf("cannot open out file");
getch();
exit(1);

}

in = fopen(‘test.dat","r");

if(tin) {
printf("can not open input file");
getch();
exit(1);

}

ch = getc(in);

while(ch != EOF) {

pute(ch, out);
ch = getc(in);-
Y/enm ile

fclose(in);

fclose(out);

printf(\n file test.dat transfered to output.dat.”);
getch();

return O;

I
this is a sample file .

this is a text file .
text file is slow .
end of file .

$
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
int main(int argc, char *argv[])

{

FILE *in ;
char ch;
int openbraket
int openparant
clrscr();
if(argc 1= 2) {
printf("the number of arguments is incorrect.”);
getch();
exit(1);
}
in = fopen(argv[1],"r");
if (tin) {
printf(" file cannot open!.");
getch();
exit(0);
}
ch = getchar();
while (feof(in)) {
if ch == "{)
openbraket ++ ;
else if (ch == "})
closebraket ++;
else if (ch == ()
openparant ++;
else if (ch == "))
closparant ++;
ch = getc(in);
}
printf(" the number of open braket is:%d", openbraket);
printf("\n the number of close braket is:%d", closebraket);
printf("\n the number of open parentheses is:%d", openparant);
printf("\n the number of close parantheses is:%d", closparant);
fclose(in);
getch();
return 0;

0, closebraket = 0;
0, closparant = 0;
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the number of open braket is : 37
the number of close braket is : 37

the number of open parantheses is : 177
the number of close parantheses is : 177
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int fputs (const char *str, FILE *fp)
“Char *fgets (char *str , mt Iength FILE *fp)
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fp2 = fopen ('sample.dat', "r+b") ; m
fp3 = fopen (test2.dat’, a+t) ; \p
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.void rewind (FILE *fp)
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#include <stdio.h>

#include <conio.h>

#include <stdlib.h>

#include <string.h>

int main(void) {

FILE *fp ;

char GEr[BO]

clrscr();

if({(fp = fopen(‘test’,"w+"))) {
printf("cannot open file.") ;
getch();
exit(1);

}

printf("enter strings(Enter to quit):\n");

while (1) {

-+ gets(str);

~ -
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if(!str[0])
break ;
strcat(str,"\n");
fputs(str, fp);
}
printf(the content of file is:\n\n");
rewind(fp);
fgets(str, 79, fp);
while (feof(fp)) {
printf("%s", str);
fgets(str, 79, fp) ;
}
fclose(fp);
getch();
return 0;

I
enter a string (Enter to quit) :

<< top of file >> (e JB g emin b et sl )
this is an example for
read/write file .

<< bottom of file >>

the content of file is :

<< top of file >> (Sl ot Jaa gomg 5 43 48 (220 6 535 45 g0 o20)
this is an example for

read/write file .
<<bottom of file >>
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Int ferror (FILE *fp)
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#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
#include <string.h>
#define TAB SIZE 8
#define OUT 1
#define IN 1
void err(int) ;
int main(int argc , char *argv[])
{
FILE *in , *out;
int tab, i ;
char ch ;
cirscr();
if(argc != 3){
printf("\n incorrect number of parameters") ;
getch() ;
exit(1) ;
}
in = fopen(argv[i] , "r);
out = fopen(argvi2] , "wb") ;
if (fout) {
printf("\n cannot open output file.") ;
getch() ;
exit(1) ;
}
tab = O;
do {
ch = getc(in) ;
if (ferror(in))
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err(IN) ;
ifch == "\t') {
for (i =tab; i < 8 i++) {
putc(’ ', out) ;
if (ferror(out))
err(OUT) ;
} //end of for
tab = Q;
} //end of if
else {
putc(ch , out) ;
if (ferror(out))
err(OUT) ;
tab ++ ;
if (tab == TAB_SIZE || ch == "\n’ || ch == *\))
tab = 0;
}/end of else
} while (Yfeof(in)) ;
feloseall() ;
printf("Successfuly changed!");
getch();
return 0;

}

//************************

void err(int eror)

{
if (eror == IN)
printf("\n error on input file. press a key ...");
getch() ;
exit(1);
}

APstdioh LU 55 mb ol 58315 S ealizt remove() &S e Soa e b b 6 Gl (51

:Qﬂ‘ﬂju&)ﬂﬁu‘.}
int remove(char *filename)
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <ctype.h>
int main(int argc, char *argv[])
{
char ans;
clrscr();
if(argc '= 2) {
printf(" you must type a file namel\n") ;
getch();
exit(1) ;
} /lend of if
printf(" erase %s (y/n):", argv[1]);
ans = getch();
if(toupper({ans) == "Y’)
if(remove(argv[1]))
printf("\n can not erase file %s.", argv[1]);
else
printf("\n file successfully erased.");
getch();
return 0O;

e
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int fflush (FILE *fp)

1. buffer
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int fprintf(FILE *fp, "*control_string,..." , char arg, ...
int fscanf(FILE *fp, “control_string,..." , char arg, ...)

‘J)....:«rla-.:'ul‘r_ul.a:6J)J_v.a\.1l_rCv'_,_','u.ﬂJL&‘M¢M6@|6;0)u|fp“3y6uﬂ|)é
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
int main(void)
{
FILE *fp;
char name[80];
int num;
if((fo = fopen(‘test’, "w")) == NULL) {
printf(‘can not open file for write");
getch();
exit(1) ;
}
clrscr();
printf(* enter the name :");
gets(name);
strcat(name, "\n");
printf(" enter the number:") ;
scanf("%d", &num);
fprintf(fp,"%s%d", name, num) ;
fclose(fp) ;
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if((fp = fopen(‘test’, "r")) == NULL) {
printf("can not open file for read.");
exit(1);
}
fscanf(fp, "%s%d", &name, &num);
printf("\n name = %s, number = %d", name, num);
getch();
return O;

SIS
enter the name : ali

enter the number : 1234
name = ali , number = 1234
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int fread (void *buffer, int num_byte, int count, FILE *ip)
int fwrite(void *buffer, int num_byte, int count, FILE *ip)
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char table [20] ; m

char arr [10] ; m
fwrite (table, sizeof (char), 20, fp) ; )
fread (arr, sizeof (char), 10, fp) ; f)
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#include <stdio.h> ERVY yaiin
#include <stdlib.h> S e p
#include <conio.h> S yuiis | NUMSHr
#include <string.h> S ywita |
int main() { 355 dpuloes al, 45 0 IS 35i> | SAlary
FILE *p;
char numstr[10];
int i, salary ;
struct em {
char name [10] ;
int hp;
int h;
} emp;
clrser() ;
p = fopen('employ.dat’, "wb+") ;
if (!p) {
printf("cannot open output file, press a key I
getch() ;
exit(1) ;




gotoxy(14, 2);
puts("<< data entry >>");
gotoxy(3, 3) ;
printf(" name
gotoxy(3,4) ;
printf("---- e )
i=5;
while (1) {

gotoxy(3, ) ;

gets(emp.name);

if('emp.name[0])

break ;

gotoxy(21, i) ;

gets(numstr) ;

emp.hp = atoi(numstr) ;

gotoxy(34, i);

gets(numstr) ;

emp.h = atoi(numstr) ;

i++ ;

fwrite(&emp,sizeof(struct em), 1, p);
} /fend of while
rewind(p) ;
clrscr();
gotoxy(7, 2) ;
puts(" << OUTPUT >> ") ;
gotoxy(3,3) ;

hour pay hour ") ;

puts(" name salary ");
gotoxy(3,4);

puts(-meme e ")
i=5;

fread(&emp , sizeof(struct em), 1, p);
while(!feof(p)) {

gotoxy(3,i) ;

puts(emp.name};

gotoxy(21,i) ;

printf("%d", emp.hp*emp.h} ;

i++ ;

fread(&emp,sizeof(struct em),1,p);
}
gotoxy(6, + +i) ;
puts(‘press a key ...");
getch() ;
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<< data entry >>
name hour pay hour
ali 120 100
reza 500 50
ahmad 200 10
<< outpot >>

name salary
ali 12000
reza 25000
ahmad 2000
press a key ...
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <string.h>
#include <ctype.h>
#define SIZE 100
struct student {
char name [10] ;
int stno, sex ;
float grade ;
} list[SIZE] ;
int menu(void) ;
void init_list(void) , enter(void) ;
void display(vold) , save(void) ;
void load(void) ;
int main() {
init_list();
for(;;) {
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switch(menu()) {
case ‘e’ enter(); break;
case 'd’: display(); break :
case 's’ : save() ; break;
case 'I' : load() ; break ;
case 'q" exit(0) ;

}/end of switch

} //end of for

}

//**********************

void Init_list(void)

{
register int t;
for t =0;t< SIZE ; t++)
*(list[t].name) = "\0’ ;
}

//***********************

void enter(void)
{
register int i ;
int row ;
char numstr[10];
for(i = 0; i < SIZE; i++)
if (1(*list[i].name))
break ;
if(i == SIZE) {
printf("\n list is full press a key .." ;
getch() ;
}
clrser() ;
gotoxy(10, 2) ;
puts("<< INPUT DATA >>%;
gotoxy(1, 3) ;
printf(" = name stno gread sex(1, 2)" ) ;
gotoxy(1,4) ; .
puts (* ------- e e )5
row = 5 ;
for(;) {
gotoxy(1, row);
gets(list[i].name);
if(! (*list[i].name))
break ;
gotoxy(16, row);
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gets(numstr) ;
list[i].stno = atoi(numstr) ;
gotoxy(28, row) ;
gets(numstr) ;
list[li].grade = atof(numstr) ;
gotoxy(40, row) ;
gets(numstr) ;
list[i].sex = atoi(numstr) ;
row ++ ;
i ++ ;
}

}

//***********************

void display(void)
{
register int t ;
int row ;
clrscr() ;
gotoxy(10, 2) ;
puts("<< OUTPUT DATA >> ") ;
gotoxy(1, 3) ;

printf(" name stno grade sex(1,2)") ;
gotoxy(1, 4);

printf(‘------- - )

row = 5 ;

fort = 0; t < SIZE ; t++)
if(*list[t].name) {
gotoxy(1, row) ;
printf("%s", list[t].name);
gotoxy(12, row) ;
printf("%d", list[t].stno);
gotoxy(20, row) ;
printf("%5.2f", list[t].grade) ;
gotoxy(30, row) ;
printf("%d", list[t].sex) ;
row ++ ;
} /lend of if
gotoxy(5, row+2);
printf(" press a key ...");
getch() ;
}

/ e v v v e v 3 e v 3 e v e v e e ke e ok e e e

void save(void)
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FILE *fp ;
register int i ;
fp = fopen('st’, "wb");

if(tfp) {
printf("\n cannot open file press a key ...");
getch() ;
return ;

}

fori = 0;i < SIZE ; i++)
if(*list[i].name)
fwrite(&list[i], sizeof(struct student), 1, fp) ;
clrser() ;
gotoxy(20, 10) ;
printf("data saved.press a key.");
getch() ;
}

//************************

void load(void)
{
FILE *fp ;
register int i ;
fp = fopen('st", "rb");
if('fp) {
printf("\n cannot open file press a key ...");
getch() ;
return ;
}
init_list() ;
for(i = 0;i < SIZE ; i++) { »
fread(&list[i], sizeof(struct student), 1, fp);
if(feof(fp)) {
clrser() ;
gotoxy(20,10) ;
printf("data loaded.press a key.");
getch() ;
return ;
}/end of if
}
}

//*****************

int menu(void)

{
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char s[10] ;
clrscr();
do {
gotoxy(20, 4);
printf("E) enter data ");
gotoxy(20, 6);
printf("D) display on screen");
gotoxy(20, 8);
printf("L) load file");
gotoxy(20, 10);
printf("S) save in file");
gotoxy(20, 12);
printf("Q) quit");
gotoxy(20, 14);
printf("enter your select:");
gets(s) ;
} while(Istrchr("edlsq", tolower(*s)));
return tolower(*s) ;
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E) enter data

D) display on screen
S) save in file

L) load file

Q) quit

enter your select : e
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# include <stdio.h>
# include <conio.h>
# include <string.h>
# include <stdlib.h>

# define READONLY r
# define WRITEONLY "w"
# define FALSE 0

# define TRUE 1
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typedef int boolean;
# define NAMESIZE 21

# define SUBJECTSIZE 11

# define TRAILER 9999

# define INSERT '’

# define DELETE D’

# define CHANGE 'c

char *prog;

FILE *fopen();

boolean get_transaction_record(FILE *fp, int *identification,
char *transaction, char *name, char *subject,int *grade);

boolean get_master_record(FILE *fp,
int *identification, char *name, char *subject, Int *grade);

boolean put_master_record(FILE *fp,
int identification,char *name,char *subject,int grade);

void apply_transaction(boolean *allocated,
int tran_identification, char tran_transaction, char *tran_name,
char *tran_subject,int tran_grade, int *new_identification, char *new_name,
char *new_subject, int *new_grade);

void do_initial_status(int current_key,
boolean *allocated,FILE *fp, int *old_identification,
char *old_name, char *old_subject,int *old_grade,
int *new_identification, char *new_name, char *new_subject,
int *new_grade);

void do_final_status(FILE *fp,boolean allocated,
int identification,char *name, char *subject, int grade);

void copy_corresponding(int *dest_identification,char *dest_name,
char *dest_subject, int *dest_grade, int sou_identification,
char *sou_name, char *sou_subject, int sou_grade);

vold syserr (int errcode, char *message, char *argument);

void error (char code, char *message, int id);

void main(int argc, char *argv(})
{
char b[21], c[11];
int a, d, current_key;
FILE *fpold,*fptrans,*fpnew;
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boolean allocated;
char  tran_transaction;
int old_identification, tran_identification, new_identification;
char  old_name[NAMESIZE], tran_name[NAMESIZE], new_name[NAMESIZE];
char  old_subject{SUBJECTSIZE], tran_subject[SUBJECTSIZE],
new_subject[SUBJECTSIZE];
int old_grade, tran_grade, new_grade;
clrscr();
prog = argv[0];
if(argc !=4) syserr(1, "usage:%s file1 file2 file3\n", prog);
else if((fpold = fopen(argv[1], READONLY)) == NULL)
syserr(2, "cannot open %s\n",argv[1]);
else if ((fptrans = fopen (argv[2], READONLY)) == NULL)
syserr(2, "cannot open %s\n", argv[2]);
else if (( fpnew = fopen (argv[3], WRITEONLY)) == NULL)
syserr(2,"cannot open %s\n", argv[3]);
else
{
get_master_record(fpold, &old_identification,
old_name, old_subject,&old_grade);
get_transaction_record(fptrans, &tran_identification,
&tran_transaction, tran_name,tran_subject,
&tran_grade) ;
current_key = tran_identification < old_identification ?
tran_identification : old_identification;
while(current_key 1= TRAILER)
{
do_initial_status(current_key, &allocated,
fpold, &old_identification, old_name,old_subject,
&old_grade, &new_identification,
new_name, new_subject, &new_grade);
while(current_key == tran_identification)
{
apply_transaction (&allocated, tran_identification,
tran_transaction,tran_name, tran_subjecttran_grade,
&new_identification,new_name, new_subject,&new_grade),
get_transaction_record(fptrans, &tran_identification,
&tran_transaction, tran_name, tran_subject, &tran_grade);
}/end of while
do_final_status (fpnew, allocated,
new_identification, new_name, new_subject,new_grade);
current_key=tran_identification < old_identification ?
tran_identification : old_identification ;
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}/end of while
copy_corresponding(&new_identification, new_name,
new_subject, &new_grade, 9999,
"z2z772777777777772727", "7222772227", 9);
put_master_record(fpnew, new_identification,
new_name, new_subject, new_grade) ;
fcloseall();
printf("\n file new successfully created.\n press a key to continue...");
getch();
}
}

/ khkkkkkhkkhhkhkhdbkdkkddkdnx

boolean get_transaction_record(FILE *fp, int *identification,
char *transaction, char *name, char *subject,int *grade)

{
if (fscanf (fp,"%4d%c%20s%10s%2d",
identification, transaction, name, subject, grade) == 5)
return(TRUE);
return(FALSE); -
}

//************************

boolean get master_record(FILE *fp, int *identification,
char *name, char *subject, int *grade)

{
if (fscanf (fp,"%4d%20s%10s%2d",
identification, name,subject,grade)==4)
return(TRUE);
return(FALSE);
}

/ khkkkkkdhkkhkkhkhkdkhdkdkdd

boolean put_master_record(FILE *fp, int identification,
char *name,char *subject,int grade)
if(fprintf(fp, "%6d %-20s %-10s %2d\n",
identification, name, subject, grade) != EOF)
return(TRUE);
return(FALSE);
}

/ Fedekdkdkk ki k ko kkkkr ki ikd

void apply_transaction(boolean *allocated,
int tran_ldentification, char tran_transaction,
char *tran_name, char *tran_subject,int tran_grade,
int *new_identification, char *new_name,
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char *new_subject, int *new_grade)
{
switch(tran_transaction) {
case INSERT:
if(*allocated == TRUE)
error(INSERT, "record already exists\n",
tran_identification);
else {
copy_corresponding( new_identification,
new_name, new_subject, new_grade,
tran_identification, tran_name,tran_subject, tran_grade);
*allocated = TRUE;
}/end of else
break;
case DELETE:
if(*allocated == FALSE)
error(DELETE, "record dose not exist.", tran_identification);
else
*allocated = FALSE;
break;
case CHANGE:
if(*allocated == FALSE)
error(CHANGE, "record dose not exist.", tran_identification);
else
copy_corresponding( new_identification,
new_name, new_subject, new_grade,
tran_identification, tran_name,tran_subject, tran_grade);
break;
}/end of switch
}/end of function
/ KRR A KA KAEAR TR RRARERERRE Rk kkkkk
void do_initial_status(int current_key,
boolean *allocated,FILE *fp, int *old_Identification,
char *old_name, char *old_subject,int *old_grade,
int *new_identification, char *new_name,
char *new_subject, int *new_grade)
{
if(*old_identification == current_key) {
copy_corresponding(new_identification, new_name,
new_subject, new_grade, *old_identification,
old_name,old_subject, *old_grade);
*allocated = TRUE;
get_master_record(fp, old_identification,
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old_name, old_subject, old_grade) ;
} /lend of if

else

*allocated=FALSE;

}

//**************************

void do_final_status(FILE *fp,boolean allocated,
int identification,char *name, char *subject, int grade)
{
if(allocated)
put_master_record(fp, identification, name, subject, grade) ;

}

/ e e 3 v J e de e 3 v e ok e ok ok e ok ok i o o 3 ok ok ok ok ok ok ok

void copy_corresponding(
int *dest_identification,char *dest_name,
char *dest_subject, Int *dest_grade, int sou_identification,
char *sou_name, char *sou_subject, Int sou_grade)
{ .
*dest_identification = sou_identification,
strcpy(dest_name, sou_name);
strcpy(dest_subject, sou_subject);
*dest_grade = sou_grade;,

}

//*********************

vold syserr (int errcode, char *message, char *argument)
{
fprintf(stderr,"%s[%2d]:", prog, errcode);
fprintf(stderr, message, argument);
exit(errcode);
}
//*****************
voild error (char code, char *message, int id)
{
printf("%c  %30s %4d\n', code, message, id);
}
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#include <stdlib.h>
#include <string.h>
#include <conio.h>
#include <stdio.h>

#define READONLY r
#define UPDATE r+"
#define FALSE 0
#define TRUE 1

typedef int boolean;
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# define NAMESIZE 21
# define SUBJECTSIZE 1
# define TRAILER 9999
# define ABSOLUTE 0
# define PRIME 17
# define INSERT P

# define DELETE D
# define CHANGE c
# define ERROR -1
# define ABSENT 0
# define OCCUPIED %

# define UNOCCUPIED v
typedef struct {
int identification ;
char name[NAMESIZE] ;
char subject[SUBJECTSIZE] ;
int grade ;
} RECORD ;
typedef struct {
char type ;
RECORD student ;
} TRANSACTION ;
typedef struct {
char occupied ;
RECORD student ;
} MASTER ;
char *prog ;
boolean get_transaction_record(FILE *fp, TRANSACTION *transaction);

int read_master_record(FILE *fp, int relative_record_number,
MASTER *master);

Int write_master_record(FILE *fp, Int relative_record_number,
MASTER *master);

int get_master_record(FILE *fp, int key, MASTER *master);
int put_master_record(FILE *fp, int key,MASTER *master);
Int choose_next_key(int identification);

Int address(int key);
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void apply_transaction(boolean *allocated, TRANSACTION *transaction,
MASTER *master);
int do_initial_status(int current_key,

boolean *allocated, FILE *fp, MASTER *master);

void do_final_status(FILE *fp, int relative_record_number,
boolean allocated, MASTER *master);

void copy_corresponding(RECORD *destination, RECORD *source);
void syserr (Int errcode, char *message, char *argument);
void error (char code, char *message, Int id);

void main(int argc, char *argv(])
{
FILE *fpmas,*fptrans ;
int current_key , relative_record_number ;
boolean allocated;
TRANSACTION transaction;
MASTER master ;

clrscr();
prog = argv[0];
if(argc != 3)

syserr(1, "usage: %s file1 file2 ", prog);
else if((fptrans=fopen (argv[1], READONLY)) == NULL)
syserr(2, "cannot open %s\n", argv[1]);
else if((fomas=fopen (argv[2], UPDATE)) == NULL)
syserr(2, “cannot open %s\n", argv[2]);
else
{
get_transaction_record(fptrans, &transaction) ;
current_key = choose_next_key(transaction.student.identification);
while(current_key != TRAILER)
{
relative_record_number = do_initial_status(
current_key,&allocated, fpmas,&master);
while(current_key == transaction.student.identification)
{
apply_transaction (&allocated, &transaction,&master) ;
get_transaction_record(fptrans, &transaction);
}

do_final_status (fpmas, relative_record_number, allocated, &master);
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current_key = choose_next_key(transaction.student.identification);
} /fend of while

fcloseall();
} //lend of else

}

/ KRR RRKKRRARRR AR AT A AR hhh
boolean get_transaction_record(FILE *fp, TRANSACTION *transaction)
{
if (fscanf (fp, "%4d%c%20s%10s%2d",
&transaction -> student.identification,
&transaction -> type,
transaction -> student.name,
transaction -> student.subject,
&transaction -> student.grade) == 5)
return(TRUE);
return(FALSE);

}
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int read_master_record(FILE *fp,
int relative_record_number, MASTER *master)
{
if(fseek(fp, (long) relative_record_number
*sizeof(MASTER), SEEK_SET) !=0)
return(ERROR) ;
else if(fread((char *)master, sizeof(MASTER), 1, fp) I= 1)
return(ERROR) ;
else .
return(relative_record_number) ;

}

//****************************

int write_master_record(FILE *fp,
int relative_record_number, MASTER *master)

{
if(fseek(fp, (long) relative_record_number
*sizeof(MASTER), ABSOLUTE) 1= 0)
return(ERROR) ;
else if(fwrite((char *) master, sizeof(MASTER), 1, fp) I= 1)
return(ERROR);
else
“return(relative_record_number) ;
}

/ AR ARKF R AR AT RE TR AR ARk

int get_master_record(FILE *fp, int key, MASTER *master)
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{
int k, relative_record_number ;
relative_record_number = address(key) ;
for(k = 0 ; k < PRIME ; k++)
if(read_master_record(fp,

relative_record_number,master) == ERROR)
return(ERROR,) ;

else if(master -> occupied == UNOCCUPIED)
return(ABSENT) ;

else if(key== master->student.identification)
return(relative_record_number) ;
else
relative_record_number=relative_record_number==PRIME ?
1 : relative_record_number+1 ;
return(ABSENT);
//}************************
int put_master_record(FILE *fp, Int key,MASTER *master)
{
int k , relative_record_number ;
MASTER temp_master ;
relative_record_number=address(key);
for(k=0 ; k<PRIME ; k++)
if(read_master_record(fp,
relative_record_number,
&temp_master)==ERROR)return(ERROR);
else if
(temp_master.occupied==UNOCCUPIED)
return(write_master_record(fp,
relative_record_number,master));
else if(key==
temp_master.student.identification)
return(write_master_record(fp,
relative_record_number,master));
else
relative_record_number=
relative_record_number==PRIME ? 1
. relative_record_number+1 ;
syserr(20,
“"overflow in:%s\n","masterfile") ;
return O;

}

//**********************
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int choose_next_key(int identification)
{ return(identification) ;

Int address(int key)

{ return(key % PRIME + 1);

}

//*********************

void apply_transaction(boolean *allocated,
TRANSACTION *transaction, MASTER *master)
{
switch(transaction -> type)
{
case INSERT:
if(*allocated==TRUE)
error(INSERT, ‘'record already exists\n",
transaction-> student.identification);
else
{
copy_corresponding( &master -> student, &transaction -> student);
*allocated=TRUE;
}
break;
case DELETE:
if(*allocated==FALSE)
error(DELETE, "record dose not exist\n", transaction->
student.identification);
else
*allocated=FALSE;
break;
case CHANGE:
if(*allocated==FALSE)
error(CHANGE, ‘record dose not exist\n", transaction->
student.identification);
else
copy_corresponding(&master -> student, &transaction -> student) ;
break;
}
}

//********************
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int do_lnitial_status(int current_key,

boolean *allocated, FILE *fp, MASTER *master)

{
int relative_record_number ;
*allocated = FALSE;
relative_record_number = get_master_record(fp, current_key, master) ;
if(relative_record_number != ABSENT)

*allocated=TRUE;

return(relative_record_number);

}

//*********************

void do_final_status(FILE *fp, int relative_record_number,
boolean allocated, MASTER *master)
{
if(allocated==TRUE)
{
if(relative_record_number != ABSENT)
{
master -> occupied=0OCCUPIED ;
if(write_master_record(fp, relative_record_number, master)==ERROR)
syserr(21,"error writing %s\n", "master record") ;
}
else
{
master -> occupied=0CCUPIED ;
put_master_record(fp, master -> student.identification, master) ;
}
}
else
{ .
master -> occupied=UNOCCUPIED ;
if(write_master_record(fp, relative_record_number, master)==ERROR)
syserr(22, "error writing %s","master record");
}
}
//*********************
void copy_corresponding(RECORD *destination, RECORD *source)
{
destination ->identification=
source -> identification;
strepy(destination -> name, source -> name);
strcpy(destination -> subject, source -> subject);
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destination ->grade=source -> grade;

}

//********************

voild syserr (Int errcode, char *message, char *argument)

{

fprintf(stderr,"%s[%2d):",prog, errcode);
fprintf(stderr,message,argument);
exit(errcode);

}

/ hkkkkkkkkkkkkhkkkkkdkkik

vold error (char code, char *message, int id)

{
printf("%c  %30s %4d\n",code, message, id);

}
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main () {
int *p ;
p = fopen (“test.dat") ;
for(iI=0;1<850;1++)
fputs (fp, “this Is a test.”) ;
fclose (p) ;
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int abs (int num)
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double acos (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main()
{
double val = -1.0;
clrser();
do {
printf("arc cosine %.2f is: %.2fAn" ,val, acos(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

asin() &t
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double asin (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
#include <conio.h>
#include <math.h>
#include <stdio.h>
void main()
{
double val = - 1.0;
clrser();
do {
printf("arc sine of %f is %f\n",val,asin(val));
val +=0.1;
} while(val <= 1.0);
getch();
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atan() oG
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double atan (double arg)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main() {
double val = -1.0;
clrscr();
do {
printf("arc tangent of %f is %f\n* , val, atan(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

atan2() at
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double atan2 (double y, double x)
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#include <conio.h>
#include <math.h>
#include <stdio.h>
void main() {
double y = -1.0;
clrser();
do {
printf("atan2 of %f is %f\n", y, atan2(y, 1.0));
y += 0.1;
} while(y <= 1.0);
getch();
}
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struct complex {
double x, y ;

}

sde JSconj() cl_:,u.._,n_,_n.uu.icj_»u:.,;_.real()cl:,wyyaxJigrﬁbu:,;,imag() &b
:Q«IJ.U'QJ,.;4.,,.>J|>J|J3complex.hJ,_lsﬁ&):&:ld‘,ﬁl.ﬁwuaxbljwyy

complex complex (double real, double imag) ;
double real (complex 2) ;
double imag (complex 2) ;
double conj (complex 2) ;
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#include <conio.h>
#include <stdio.h>
#include <complex.h>
int main(void)

{
double x = 3.1,y = 4.2;
clrser();
complex z = complex(x,y);
cout<< "z =" << z << "\n";
cout << " has real part = " << real(z) << "\n";
cout << " and imaginary real part = " << imag(z) << "\n"
cout << "z has complex conjugate = " << conj(z) << "\n%
getch();
return O;
}

ceil() G
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double ceil (double num)
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printf ("%f",ceil(9.9)) ;

cos() b

P 515 Oy g 43 O (5 58 53 5550 SIS 4 OLsly ey 40 315 Sy o g2 sl (51,5 COS() ol

double cos (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
int main(} {
double val = -1.0;
clrscr(};
do {
printf(‘cosine of %f is %fn", val, cos(val));
val += 0.1;
} while(val <= 1.0);
getch();
return O;

}

cosh() at
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double cosh (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double val = -1.0;

clrscr(};

do {
printf("hyperbolic cosine of %f is %f\n" , val, cosh(val));
val += 0.1;

} while(val <= 1.0);

getch();

}
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exp() b
c,...«lﬁ)o)_,.auohgﬂl_,a})lJS.:La.:..J;)y(u.-,.b‘..:.;)lﬁqli)e)ld.bii._.la..gg\jexp() cu

double exp (double arg)

l printf (*value of e to the first : %f", exp (1.01) ;

fabs() U
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double fabs (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()

{

clrser();
printf("%1.1f %1.1f", fabs(1.0), fabs(-1.0));
getch();

}

floor() at
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double floor (double num)
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l printf ("%f", floor (10.9)) ;

fmod() aU
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double fmod (double x , double y)
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#include <conio.h>

#include <stdio.h>

#include <math.h>

void main()

{
clrscr();
printf(*%1.1f", fmod(10.0, 3.0));
getch();

}

frexp() aU
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double frexp (double num , Int *exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
int e;
double f;
clrscr();
t = frexp(10.0, &e);
printf("%.3f %d", 1, e);
getch();
}
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double ldexp (double num , int exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
clrscr();
printf("%.3f", Idexp(1, 2));
getch();

hypot() nU
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double hypot (double x , double y)
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printf ("%f" , hypot (2,1)) ;

A ) 0T @30 s 53 48 ol gyl HeSB Elte 5y Sl () XS g0 A 5 ) YYYFOFA g 5

log() a:U
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double log (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = 1.0;
clrscr();
do {
printf("%.3f %.3f\n", val, log(val));
val ++;
} while (val < 11.0);
getch();

log10() aG
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double log10 (double num)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = 1.0;
clrscr();
do {
printf("%.3f %.3f\n", val, log10(val));
val++;
} while (val < 11.0);
getch();

modf() bt
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double modf (double num , int *i)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
int main(void)
{
double fraction, integer;
double number = 100000.567;
clrser();
fraction = modf(number, &integer);
printf("The whole and fractional parts of %lf are %lf and %Ifin",
number, integer, fraction);
getch();
return O;

poly() aU
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doublé poly (double x , int n, double ¢ [])
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c[3Ix + c[2]x + ¢[1]x + ¢c[0]
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double c[3];
clrscr();
c[0] = 3;
c[1] = 2;
cl2] = 1; ,
printf("%f", poly(1, 2, c));
getch();
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pPow() U
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double pow (double base , double exp)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double x=10.0, y=0.0;
clrser();
do {
printf("%.2f", pow(x, y));
y ++
} while(y < 11);
getch();
}

sin() ab
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double sin (double arg) -
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main() {
double val = -1.0;
clrscr();
do {
printf("sine of %.2f is %.2f\n" , val, sin(val));
val += 0.1;
} while(val <= 1.0);
getch();
}
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double sinh (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = -1.0;
clrscr();
do {
printf("hyperbolic sine of %f is %f\n" , val, sinh(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

sqrt() b

Pl 150y o 40T (6 35N 5 S p dilona ) St 308 S o sqIE() w6
double sqrt (double num)
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printf ("%f',sqrt(16.0)) ;

tan() ab
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double tan (double arg)
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#include <conio.h>
#include <stdio.h>
#include <math.h>
void main()
{
double val = -1.0;
clrscr();
do {
printf("tangent of %.2f is %.2f\n", val, tan(val));
val += 0.1;
} while(val <= 1.0);
getch();
}

tanh() UG
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double tanh (double arg)
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#include <conio.h>

#include <stdio.h>

#include <math.h>

void main()

{

double val = -1.0;

clrscr();

do {
printf("HYPerbolic tangent of %f is %fin" , val, tanh(val));
val += 0.1;

} while(val <= 1.0);

getch();

}
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int isalnum (int ch)

-Y\ Ji. @

S g0 i 1 LS armdos oz Sl il yot (5la SIS oS slaal
#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>

void main()
{
char ch;
clrscr();
for(i;) {
ch = getchar();
iflch =="") break;
if(isalnum(ch))
printf("%c is alphanumeric\n®, ch);
}
getch();

}

isalpha() &t
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int Isalpha (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
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{
char ch;
clrscr();
for(;;) {
ch = getchar();
iflch =="") break;
if(isalpha(ch}))
printf("%c is letter\n", ch);
}
getch();
}

isascii() a6
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int isascil (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar(); |
if(ch=="") break;
if(isascii(ch))
printf("%c is ASCIl defined\n", ch);
}
getch();
}
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iscntrl() aU
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int iscntrl (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>

void main()
{
char ch;
clrser();
for(;;) {
ch = getchar();
ifch == ') break;
if(iscntri(ch))
printf("%c is a control character\n”, ch);
}
getch();
}

isdigit() é.)l.'i
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int isdigit (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
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void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
iflch == ") break;
if(isdigit(ch)) printf("%c is a digit\n", ch);
}

clrscr();

}

isgraph() &G
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int isgraph (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrser();
for(;;) {
ch = getchar();
if( ch=="") break;
if(isgraph{(ch)) printf("%c is a printing character\n", ch);
}
}

islower() i
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int islower (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
if(ch == ') break;
if(islower(ch)) printf("%c is lowercase\n", ch);
}
}

isprint() aU
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int isprint (Int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{

char ch;

clrscr();
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for(;;) {
ch = getchar();
ifch=="") break;
if(isprint(ch)) printf(*%c is printable\n", ch);
}
}

ispunct() aU
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int Ispunct (Int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrser();
for(;;) {
ch = getchar();
ifch=="") break;
if(ispunct(ch)) printf("%c is punctuation", ch);
}
}

isspace() aU
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int isspace (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main()
{
char ch;
clrscr();
for(;;) {
ch = getch();
if(ch==";") break;
if(isspace(ch)) printf("%c is space\n", ch);
}
}

isupper() U
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int isupper (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>

void main()
{
char ch;
clrscr();
for(;;) {
ch = getchar();
if(ch=="") break;
if(isupper(ch)) printf("%c is uppercase\n", ch);
}

}
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isxdigit() aU
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int isxdigit (int ch)
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#include <conio.h>
#include <stdio.h>
#include <ctype.h>
#include <math.h>
void main() {
char ch;
clrscr();
for(;;) {
ch = getchar();
ifch=="") break;
if(isxdigit(ch)) printf("%c is hexadecimal\n“, ch);
}
}

tolower() st
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int tolower (int ch)
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putchar (tolower ('QY)) ;

toupper() xU
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int toupper (int ch)
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putchar (toupper ('a’)) ;
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vold *memchr (const vold *bufter , Int ch , unsigned count)
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
void *p;
clrscr();
p = memchr("this is a test', 'a’, 14);
printf((char *) p);
getch();

memcmp() oG
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int memcmp (const void *buff, const void *buf2, unsigned count)
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#include <conio.h>

#include <stdio.h>

#include <string.h>

void main(int argc, char *argv[])

{
int outcome, len, 11, 12;
clrscr();
/* find the length of shortest */
len = (11 = strlen(argv[1])) < (12 = strlen(argv[2])) ? I11:I2;
outcome = memcmp(argv[1], argv[2], len);
if(loutcome) printf("equal’);
else if(outcome < 0) printf("first less than second");
else printf(‘first greater than second");
getch();

b7, memcpy() xL
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void *memcpy (void *to, const void *from, unsigned count)
o L2 (1 H13 T o s ) g (sla 2118 oS (slal)]) o Lyl g aS et (5 8a el from (3 5 (5 S o
hdas .S e o Ll (W g Sl b W xSTHS &S gl )T deaie wlyT 4 a8 ot (5 S0 LiI Oy LS 0
L2LVo b it count S1ile ol yie 4.5 45 o Lasitacount Slo ST dav g5 &g S LGS e STHS

iy G 0l (55831 5148 (55 plailen iy S10 LT Sl Jome 03 4 L from a1 SIS Ve o of oy
03 8 pr 0 S OT 010 45 S a0 L1 (gl T 4y ctmslin 1 oy 45 sl LS L8N 5 o
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#include <conio.h>

#include <stdio.h>

#include <string.h>

#define SIZE 51

void main() {
char buf1[SIZE], buf2[SIZE];
clrser();
strepy(buft, *when, in the course of ...");
memepy(buf2, buf1, SIZE);
printf(buf2);
getch();

memmove() xG

s memepy() A" o o slis LS e oS s il K i b SIS 51 (55145 memmove() &b
22 P 0s5 gad bl S Jos < (overlap) wsl as 8 )1 3 peIeS &hyl 4 memcpy() ~G ) Shas et ol
Pl 15D g 4 il al (5 580 4k o bt s g3 4 S Jer memmove() b

void *memmove(void *to, const void *from, unsigned count)

A COUNt .ol A 41T LS a0 ,L21 0T 4,10 &S (glaul,T e LTS e o L2l O 4, from «S (sl i
L S Ao .,_tj.u,c_-, AT 51 SIS slins 4 4S S
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#include <conio.h>
#include <stdio.h>
#include <string.h>
#define SIZE 50
void main() {
char str1[SIZE], str2[SIZE];
clrscr();
strcpy(str1, "when, in the course of ...");
memmove(str2, str1, SIZE);
printf(str2);
getch();
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memset() xt
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void *memset (void *buf, int ch, unsigned count)

o L3t g 2SS ach 358 ¢l OF 33 b 1S Jos 45 LS o 0,12 Sl abuf o lil G5 5550 5o
O,_J,\;,\f_,ﬁt{)qtj,@;,ua,a.\ipch SIS AS LS o aseta COUNL 3355 1S 4l )3 Ll 45 LS s
3y e a3zl )T ad g gao 2550 512 Y gans 16 02l 335 S (s
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#include <conio.h>
#include <stdio.h>
#include <string.h>
#define SIZE 50
void main()
{
char buf[SIZE];
clrscr();
memset(buf,\0’, 49);
memset(buf,'x’, 10);
printf(buf);
getch();

strcspn() a6

;,Iu_iiJ;dlju)&_iljlvlmH,l,ﬁwwéaa&)&ﬁ|,5|a;,strcspn()@ls
23S 30 4 o5 ol 5 5K s Sy Jas ot O g A2y Jome OF 93 iz 35 g0 802 5o SIS
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int strcspn (const char *st1, const char str2)

Sels b asstrl Ly 50 SIS b foue 53 55 e gz strl astr2 strespn() C:Uéﬂ‘q«a-jl{
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char s[80];
clrser();
strepy(s, "THIS IS A TEST");
printf("%d", strespn(s, "ISY);
getch();

strerror() &b

)"Lh".ft':-#t);"‘.’s)“l"buﬁl‘h’;('L:i“"u}f)“u‘-’.l‘h"')JJ‘fJ:‘))C)‘J:'!U“J‘:".f‘b."?.,‘s"eﬂor()C-'U

char *strerror (char *str)

tglad e g 5wl gl Ol e o,
swap ()
{
if (error) printf (strerror (“error in swap")) ;
}
striwr() aU

SIS 5 LSt Jooded Sor 55 a0 b O 85 Gy 1S 5 a5y 0L 8T O e a1 slaz striw() s

char *strlwr (char *str)

.JJA;JJ_.A;&;;JSQ‘,J,QJ._{L_OTJ::_,?_,‘JJ)g_&‘,_),i:lSAS.l;SJ-UL.‘JL5|4:..‘a)qstr¢‘3_,§‘_§,§ll)a
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#include <conio.h>

#include <stdio.h>

#include <string.h>
void main()

{
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char s{50};

clrscr();

strepy(s, "THIS IS A TEST");
striwr(s);

printf(s);

getch();

strncat() aG

Q‘)Aa::_;u)#‘,.lsu_ﬁ (concate) JL>J|J§:.> ol ‘5L4.:.;|4.,|)4:.:)&.:)'|U:..__.sstrncat() GU

char *strncat (char *str1, const char *str2, unsigned int count)

Sy Blodistrl et ) 4 Lstr2 dod ) 5148 LS e asiialy b 25118 slias count S oyt o

-fo Jiu 4P
ST (§lor 4 (et ol 3553 4y sty 53 81 a3 a LS ) strncat() b 51 oslizad R S P IR
el "there hello” 422 5 al gl ot 51 ool a0 42 551 g there & le 52 gl 4 yhello o ,Le

#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char s1{80}, s2[80];
unsigned int len;
clrscr();
printf("enter string1:");
gets(s1);
printf("enter string2:");
gets(s2);
len = 79 - strlen(s2);
strncat(s2, s1, len);
printf(s2);
getch();

strncmp() &G

L.l)c..:.)&.u‘l6\4:.:)‘,3)').ﬁwuﬂwﬁ&l{bu)‘,aduﬁblsj'lwalJ.-Jstrncmp() &b
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int strncmp (const char *st1, const char *st2, unsigned count)

S ot lin KU Llaazd ) slany g LSt2 pstliad 4o 5l S count slans 4 83l s
Z)"J.'.J)L_..F;UJJL,-ox‘:;cha‘Ljédﬁ:ua.:ﬁwa.UbJstJ‘F;.’_-::JO‘JLGq'GN':.\P

Ao ol pgacie g g0 031 1 &l bawgi &5 (5 ladko
str1 < str2 Shoo §| S sS
str1 = str2 oo
str1 > str2 s 3 58

AU gl sy S g 4 lin Jae ca2licount 5l 2aS i jls s gom g4zl ) 33 5345 b 2SS slas S
S o iy 4l (\0) 45

-F\ Ji @
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#include <conio.h>
#include <stdio.h>
#include <string.h>
void main(int argc, char *argv(])
{
clrscr();
if(!strncmp(argv[1], argv[2], 8))
printf("the file names are same");
getch();
}

strmcpy() &G

O i ol SIS a5 s and ) S )y S sla SIS I aste sl strnepy() Y
LI PRI e
char *strncpy(char *str1, const char *str2, unsigned count)

shans 81058 e o Slacct ‘5L1:._.|J'|t‘,f:l.55tr1 i astr2 iz 5l S S count slias 4«3 b 5 55 o
S strl slezt 55 (\0) d‘JJ:SblSrf}! sldad 4 (A2 count jlads 1 285500 5 g2 gStI2 3 45 pla SIS

s

-fY Jt. @

a3 ge DL, strnepy() abs st eslizw! 55 o 4S gl




YAV slaililss ailgs

#include <conio.h>
#include <stdio.h>
#include <string.h>
void main()
{
char str1[50], str2[50];
clrscr();
gets(str1);
strncpy(str2, str1, 7);
puts(str2);
getch();

strmset() U

Q)_,_.pbcvl: w_‘é_,{“ .L.SWSA.:.:)&);MQL:J; J‘J&;"J‘)J:S‘)ls&i .x,l).?u,.stmset() cu
char *strnset (char *str, char ch, signed count)

s 4 aS ol (5 SIS Ch sl Jas 4y 0T o L 5 h 45 S a0, L2 (slan y 4 str o3 b (5,8 s
Lstrazl, Jyl Jow Vo cstrset (str, °X,10); 253 Il Ol go 4y.5 4 S I ) ga a2t 55 L L count
A3 g )l AXL Ly

strpbrk() U

1l 3 s b SN .S Jos strespn() bl LJJ.u strpbrk() &b

char *strpbrk (const char *str1, const char *str2)

).n_,?_,.-6LAJ:S|)lS)'|(-lJS_,AJSHSQ)yCﬂlA.,&:J.;MStrl&J))sJihstrZCJ)cd)jéﬂlja
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#include <stdio.h>
#include <string.h>
#include <conio.h>
int main(void)
{
char *string1
char *string2

"abcdefghijkimnopgrstuvwxyz";
Ilonmll;




oti Jad  YAA

char *ptr;
clrser();
ptr = strpbrk(string1, string2);
if (ptr)
printf(*strpbrk found first character: %c\n", *ptr);
else
printf("strpbrk didn't find character in set\n");
getch();
return O;

strrchr() aG

4.,.:JS|J.:.¢4:.:)):I)J:S|)lScﬂ|C)3‘, aﬁik;ﬁ&ﬁqﬁ.ﬁ)g&)é!)LSJ.“S‘)\SSUTChr() CU
ot SN S aal g 3 S )L 53 (0) g5 LS LIS 5 My SIS ot STas e e e lat S
char *strrchr (const char *str, int ch)

-FF Jio 4P
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#include <stdio.h>
#include <string.h>
#include <conio.h>
int main(void)
{
char string[15];
char *ptr, ¢ = 'r’;
clrscr();
strcpy(string, "This is a string");
ptr = strrchr(string, c);
if (ptr)
printf('The character %c is at position: %d\n", ¢, ptr-string);
else
printf(The character was not found\n");
getch();
return O;

strspn() U
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unsigned strspn (const char *str1, const char *str2)

1-fo Ji. @
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#include <stdio.h>
#include <string.h>
#include <conio.h>
void main()
{
int len;
clrscr();
len = strspn(‘this is a test", “siht");
printf("%d", len);
getch();
}

strrev() aU

‘JJ"‘J‘J&S‘;‘JZ:"‘OTGLC:"":‘) |J;,|J:S|)lsu;:.1J.S‘_‘.‘uajiuly.:.‘.)&dl.a):SblSstrrev() CU
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#include <stdio.h>
#include <string.h>
#include <conio.h>
void main()
{
char s[] = "hello";
clrser();
strrev(s);
printf(s);
getch();

strset() aG

char *strset (char *str, char ch)
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strset (str,'x’) ;

strtok() &G

S - IR NI PP 'U6ﬂ|.x5¢féub\)c$)g§i)aa)q-rL;Lnil.:.istrtok() ny
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char *strtok (char *str1, const char *str2)
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#include <stdio.h>
#include <string.h>
#include <conio.h>
void main()
{
char *p;
clrscr();
p = strtok(“the summer soldier, the sunshine patriot"," *);
printf(p);
do {
p = strtok(\0",", ");
if(p) printf(*] %s".p);
} while(p);
getch();
}

struper() st
s GRS e B S5 Gy Ko S Gy 1S 5 5SS ik, K s struper() ot

G RV PSP
char *struper (char *str)
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#include <string.h>
#include <conio.h>
#include <stlib.h>
void main()
{
char s[80];
clrscr();
strepy(s,"this is a test");
strupr(s);
printi(s);
getch();

Ligs alddla  yowass aslgs
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calloc() b

void *calloc (unsigned num, unsigned size)
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#include <string.h>

#include <conio.h>

#include <stdlib.h>

#include <stdio.h>

void main() {

float *p;

clrscr();

p = (float *) calloc(100, sizeof(float));

if(!p) {
printf("allocation failure - aborting");
exit(1);

}

i bad  YAY

malloc() aU

:c.ulx)‘d‘,ﬁldbla‘,cs))lSquUJ.!6|ﬁ|&?):‘r.:...__‘)'|dé§l>.l>'|L5|J.,malloc()Cfl:

void *malloc (unsigned size)

b g5 34 e J s S S gl a5 48 (ML O e 3 s S alloCh B 53 b ol (55
J.J.!-L:L: (\O)UQJ';AJLHal;l JJ:SL,JJ‘J;J;A)LH&_{:)J&jb-w)}i.ﬁé;wwsizedb;)i

1-00 Jia 49

AR g panas |y dable HoulVe oS glal

#include <string.h>
#include <conio.h>
#include <stdlib.h>
#include <stdio.h>
int main(void) {
char *str;
clrscr();
/* allocate memory for string */
str = (char *) malloc(sizeof(char) * 10);
if (Istr) {
printf("Not enough memory to allocate buffer\n");
getch();
exit(1);
}
strepy(str, "Hello");
printf("String is %s\n", str);
geteh();
return O;




YAY  lailuls alyi

realloc() at

S malloc() fs whiib> anass ol faw 5 il olazstt dils Ol S (g1, realloc() &b
C,J‘j_)g:)_)‘,.pucbw_‘d)g‘..)_,)w
*realloc (void *ptr, unsigned size)
sl 0T 4 S0 L2 L il ey Bkl O jor i Sl )3 "stdio.h" JU 55 a5 ol (6,
by eSS il 4y Ol jun o 42 S5 realloc() cbbbﬁjiolﬁqwbdt.&k 1Ry
w2y il 155 e 31 LT 6 o A8 s 2aile > ALY 3 gy 5 g 0 A DU e il
d:;.)L.:tC,_t,ﬂ..u;‘,.,\,s;.,un&u;n);,iwghr-_ﬁ..y il 31 5f y realloc() wb
e L e ¢ il 4S sl me (s 2L (NULL)

free() s
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void free (void *)
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#include <string.h>
#include <conio.h>
#include <stdlib.h>
#include <stdio.h>
void main()

{

char *p;

clrscr();

p = (char *) malloc(sizeof(char) * 17);

(')
printf(*allocation error - aborting");
getch();
exit(1);

}
strepy(p, “this is 16 chars");
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p = (char *) realloc(p, 18);

if('p) {
printf(*aliocation error - aborting");
getch();
exit(1);

}

strcat(p, ".");

printf(p);

free(p);

getch();

Ui p4cd 9 Lo JaLd 390 ) S puilgs
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mkdir() aU

int mkdir (char *path)

r@;\@,pcuCﬂn‘}..c;t..u_uu,ua,-..:..bc,.,,pru«s.usu,.,utdw_:)qpath@,sdﬂb;
Ca.d‘—\ l‘fﬂ‘ﬁc")ﬂgﬂ‘ﬁ‘J"JJ‘*’LJ"J’))‘:u‘ n.b'b;xui.‘a‘}sdstsﬁ.\jﬁd)&
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main()
{
clrscr();
if(! mkdir("dos"))
printf("directory created.") ;
else
printf("directory not created."} ;
getch();
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chdir() aU

3C-'|JL)'CJ)J—¢41@U6;55"éﬁgﬂ&-—:éduékr@M&:Hﬂ‘mﬁ%r‘:hdir() cl.}'

int chdir (char *path)
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main() {
clrscr();
if(lchdir("c:\\wp\\dos"))
printf("done.");
else
printf("not done.");
getch();

rmdir() 6

‘g:..al‘ﬁ)'c;)_,.aucb6,§J|.>J)J)l5q&._:>¢5,)aﬁrc...:‘,‘,iu_i.\»d[,_.rmdlr() cl.:

int rmdir (char *path)
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
main() {
clrser();
if(! rmdir("DOS"))
printf(" 'DOS’ directory removed") ;
else
printf(* 'DOS’ directory not removed") ;
getchy();
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findnext() s findfirst() ulgs

Q)Hﬂ—!du‘;ﬂldﬁ‘.);‘f)“’; sslizad s p0 s 55 11 BB K (5 g (s findfirst() &b
Tl s
int findfirst (char *fname, struct ffblk *p, int sttrib)

2Ll iy jasdosh LU jsass,ls 5 ey Sk @U cplbdesyls 5l 3dirh i s @U oS
g e #include ) gwws Jaw 5 L dosh ydirh LG s 35,8 e eolizal &b ol s gl

Ll g B ol LG e (5ol S LS o0 )L (slaz , o fRame )\, findfirst() ot S35 5o
JU ol L2585 smn g 3213 ¢U 813 8 )13 gmteaar 3 g bl 13 AL aS A2L (6 e 5 il pU ol o
MU O 2L (17) (o gee sl U s 4 BB ol 810 S al 5 13 gt 3) 40 (5l et )
(st ) ANDOS\.COM 81t 01 o 41 .3 52 o g FINGEIISH() l0 o 5 2L acssutn ol 5103 45
451y S oSN DOS s 53 5 A 3 555 FdTSt) o S0 0 L2100 Frame 2l o5 24
S o iy Clcom & gy 11
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struct ffblk {

char fi-reserved [2] ; (Sl 0l 95y DOS fawy)
char ff-attrib ; (WS o0 yakins |y Ji b Cudo)
int ff-ftime ; (WS g0 aditen Iy Cowl 00l JuS2T hU oS Jlo3)
int ff-fdate ; (W5 g0 (atinn Cowl oads JoSi5 11U asly o L)
long ff-fsite ; (WS g0 iy Jo U i (oD peao alidls 4yl50)
char ff-name [13] ; (WS g0 i ly JiU6 L)

}s

1558 Ua g Sl ol o s aidOS.h 6 3 5,5 ol alh 4S5 52 s asnie 5 Sl or L a G

9390 b U 9,5k ol
(Read only) slgs faid LU FA_RDONLY
(Hidden) shse o6 FA_HIDDEN
(System) e 93 51 ol FA_SYSTEM
(Volume label) a2 FA_LABEL
(Subdirectory) oy 23 FA_DIREC
(Archive bit set) KV-1 PR I T PO FA_ARCH
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W"dwl&ua.x{q.:l;_}.ohjljattrib Sabb e 813l e gt 4 e o LU o 2
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int findnext (struct ffblk *ptr) ;
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#include <conio.h>
#include <stdio.h>
#include <dir.h>
void main()
{
struct ffblk f ;
register int done ;
clrscr();
done = findfirst("*.cpp", &f, 0) ;
while(!done){
printf("\n%s,%Id", {.ff_name, f.ff_fsize) ;
done = findnext(&f) ;
}
getch();
}

getcurdir() aU

SASEAIOM G 5545 16 ) (5 59 S aindin i 55 90 i3 5lor s gotCUTdiF() o
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int getcurdir(int drive, char *directory)
S 45 ol (glais ) directory s st jasiia dyl OF (Sl oms 45 ol (g 213 U drive S ol 5
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#include <conio.h>
#include <dir.h>
#include <stdio.h>
void main()
{
char dir[MAXDIR];
clrscr();
getcurdir(0, dir);
printi(*current dirextory is:%s", dir);
getch();

getdisk() xG

_’\ L:ﬂ‘jBxbéo)lA.:‘JHJLJJJJAJ.:‘)JGJL‘.:‘.llswu.d:.u:.ﬁbd)l?ﬁbé;)ugetdlsk() cu

int getdisk (void)

1-0Y Ji. @
S Sl llamin 31 6ol gl L as slaal »
#include <stdio.h>
#include <dir.h> ,
#include <conio.h>
" void main ()
{
clrscr();
printf(\n current drive is: %c ", getdisk() + 'A’) ;
getch();
}

mktemp() Py

)KM(J.;LC—:l.h.)_,»_,6)[?,:.‘.‘dd)jksu,ab).)ﬁbw‘}_bfb&‘J:."-L..odb.vmktemp() CU
ol 565 shls 539,

char *mktemp (char *fname)
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#include <stdio.h>
#include <dir.h>
#include <conio.h>

char fname[7]="XXXXXX" ;

void main ()

{
clrscr();
printf("%s", mktemp(fname)) ;
getch();

}

searchpath() aG

s (S18 ) 2w D Path ) gzus ko 5 0dl oaS (Gl s 53 |1 S (5 g2t (5 searchpathy() &b
char *searchpath (char *fname)

S s 53 JiU ol Sl g 3530 L6 o (55l 45 S a0 )L ghaz, s fiame ¢G5 5 s S )
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#include <stdio.h> v
#include <dir.h>
#include <conio.h>

void main ()

{
clrscr();
printf("\n the path is:%s", searchpath("edit.com")) ;
getch(); )

}

setdisk() aU
Pl 15 S SN G 520550 W5 4 S0l 1203 S 81 Setdisk() o
int setdisk (int drive)
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#include <stdio.h>
#include <dir.h>
#include <conio.h>
void main()
{

clrscr();

printf("\n %d drives", setdisk(0));

getch();
}
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void  gstore (char *q)

it (spos == MAX) {
printf ("\n list is full.") ;
getch () ; -
return ;

}

P [spos] = q;

spos ++ ;

}

char *qretrive ()

}

it (rpos == spos) {
printf ("\n the list is empty.") ;
getch () ;
return NULL ;

}

rpos ++ ;

return p[rpos-1] ;
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#include <stdlib.h> o Jobo ormas gl 06 | MAX SAPeE
#include <stdio.h> MAX Jsb s jiw | p
#include <string.h> o ghatl | spos
#include <ctype.h> as syl | rpos
#include <conio.h> AN batan ;S el gt |8 main()
#define MAX 100 LSS dil> wnil |t
char *p[MAX] ; 0,10 po il pliaS slazs, | S enter()
int spos, rpos ; A5 e lilS waS g To Ll | p
void enter(void) ; NS dil> il |t review()
void gstore(char *) ; Sgmi g0 Bi> i 1aS g paie | P dispose()

void review(void) ;
void dispose(volid) ;
char *qretrive() ;
int main ()
{
char s[8] ;
register int t ;
for (t = 0; t < MAX; ++t)
p[t] = NULL ;
spos = 0 ;
rpos= 0 ;
while (1) {
clrscr() ;
gotoxy(20, 4) ;
printf(* E)enter name to queue *);
gotoxy(20, 6) ;
printf(" R)remove name from queue");
gotoxy(20, 8) ;
printf(* L)list the queue " ;
gotoxy(20, 10) ;
printf(* Q)quit from program * ;
gotoxy(20, 12) ;
printf(*enter your select');
printf("( E R L Q):");
gets(s) ;
*s = toupper(*s) ;
switch (*s) {
case 'E': enter() ; break ;
case 'L’ . review(); getch() ; break ;
case 'R': dispose() ; break :
case 'Q’ : exit(0) ;
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}H/end of switch
}
}

ﬁ*****************

void enter ()
{
char s[256], *p ;
do {
printf(\nenter a name");
printf("(ENTER for none):") ;
gets(s) ; :
if (*s == 0)
break;
p =(char *) malloc(strlen(s)) ;
it () {
printf("\n out of memory, press a key. ");
getch();
return ;
} //end of if
strepy(p, S)
if (*s)
gstore(p) ;
} while(*s) ;
}

”****iit**********

vold review ()
{
register int t ;
for (t = rpos; t < spos; t++)
printf("\n\t%d . %s ", t+1, p[t]);
}

/********t*******ﬁ*************

void dispose ()
{
char *p ;
if ({(p=qgretrive(}))
return ;
printf("\n %s",p} ;
}

ﬁ******************************
void qstore (char *q)

{
if (spos == MAX)
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{
printf("\n list is full.") ;
getch() ;
return ;

}

plspos]=q ;

Spos ++ ;

}

//******************************

char *qretrive ()

{

if (rpos == spos)

{
printf(\n the list is empty .*);
ch=getch() ;
return NULL ;

}

rpos ++ ;

return plrpos-1] ;

}
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E)enter name to quque
R)remove name from queue
L)list the queue
Q)quit from program
enter your select (ERL Q) :
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/* qstore function for circular queue */

void qstore(char *q)

{

if(spos + 1 == rpos || (spos + 1 == MAX && Irpos))

{

‘printf("\n queue Is full .") ;

return ;

}

plspos] = q ;

spos ++ ;

if(spos == MAX)
spos = 0;

}

char *qretrive()

{

rpos = 0;

if(rpos == MAX)

if(rpos == spos) {

printf("\n queue is empty.");

return NULL ;

}

rpos ++ ;

return p[rpos - 1] ;

}

Db A dd g 5 e 4 Sl b i > qretrive() ('.‘-U

A S LSpos TPOS oS ek ol s 03 41 s b0 33 5 sualia gretrive() &b 52 55 shilen
P - P L;l..\:a.lqU::,Su..,é..oq‘)a_..\.;(.\.:MAXl.,j_u).\,.)g\jksl«;sl-‘.,spos,_.i.:;,!l'l:....é.x..:l.g

MAX

Favs

. 6‘&)3‘.\ ._.L.a:,‘ G‘GJ.A:I

Vet Jsib

Ll

Sl a5 WL (gle pls s 3 ) g 43 45 (gHasST
SS e 0 g pasie MAX L Cio Jgb 81 sty
l_,_,_,lJ_,.UﬁSJJJu_&_.a_):.U_}l_,Jw«SL;ﬂt;:lM
P O s g pl 05wl MAX-T
Slebv s J S5 S gl S b el pcin Sl
TPOS e Jhie LS fg 55 53 by 3 g arl g JSa Ly
1oty 1 K005, L 5POS 3 1pOS) LA MAX L i
Voo IS oy ) o pbs s (a2l als dsld
W S 3 Ol e



PR Jad YA

SHAS ke sl pbs glaciw 3 1S5l o 5l admy

S99 1 L 4S ol LRl (g0 sl ¢ Jale w53 Sl uls (Slaion 3,118 o 2ty 51 S
oyl el gt azd g Koo

SNl LU aS cui (real time) S5, S 53 Sl by Glaciw 5 185 )l g 51 K
W 3 s e, gely 3 555 g e

S go 02l (sl pls Cis jleds yhos B3 L gau il 81k ), (word processor) La 315 e 59 5 8yl
l.a.l:lsdl‘.l.l).:o:b)l.:.aJ,lSmjlth:lSQulOﬂqu&rl;da:’_).sl.aubj_)ld_)l._....):
dtﬂ..x..,_ob,gq(.u,_iJs&_)uu,,yu;....;dtﬂn,_,uuﬁ&;,_uu.u,.:w;,.wu;,uw,;
CJ_)‘,_J_)QdJ.lSu.JCMJJ':_le-_.LSWc.L)JJAJ&rlau‘&f_’_)é(s)j_)lscsuubﬁu‘,h.ﬁa|
,.x..,_;)t,_g.,,.u;...,.airt,_.;w\.»,usu_uu.mu,,bsq.,,;\,oi‘.\,lsm,-td.\,lsam,u
,gdluu‘wwtug,{,,pduidu..u,-uﬁu,q.,,;us;,uL;u,-sn,tsu;_u.,_w
.Lg'eﬁﬂ.ﬁjdi‘},%(5|MUJ3JCJ.E;\°—\'JL‘.'.¢

A

Voot Jio @

2l S S LS 0sla) 3 .Y rliiamin j3TYo00 Y Shalael 2l N seb i s Jal 45 gl
Q‘u\;|‘ﬂu|ﬁ‘j(Qﬁ‘r;fww‘)ﬁenukﬁu‘):Sbls.}).:}‘)“’;&_.")’Q‘u‘shﬁ‘.}mt&).}bu
Jé‘a-l-:c)uk.i.a_j‘d‘oﬁ‘)k_i.d_)ééﬁrduJISblSJ.:agﬁU; S Fyoad s, g s VL0 Pt 5l
kbhit() a5 .ol sl o3lizl getch() 4 kbhit() &L e 5l skis oligly Ll Al tliain
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#include <stdlib.h>
#include <stdio.h>
#include <string.h>
#include <ctype.h>
#include <conio.h>
#define MAX 80
char buf[MAX + 1] ;
int spos = 0 ;
int rpos = MAX;
void qstore(char) ;
char qretrive() ;
int main ()
{
register char ch ;
intt;
buf[80]=NULL ;
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for (ch ="'",t=0; t < 32000 && ch !=""; t++) {
printf("%d" kbhit(}) ;
if (kbhit()) {
ch = getch() ;
gstore(ch) ;
}//end of if
printf("%d "t} ;
} //end of for
while ((ch == gretrive()) != NULL)
putchar(ch);
getch();
return O;

}

//iiiiiiiiiiiiiiiiii

vold qstore(char q)
{
if ((spos + 1 == rpos) || (spos + 1 == MAX && !rpos}) {
printf("\n list is full .");
getch();
return ;
}//end of if
buf{spos] = q ;
spos ++ ;
if (spos == MAX) spos = 0,
}

/ e e e e e e e e e e de e e o o e e o

char gretrive()

{
if(rpos == MAX) rpos =0 ;
if(rpos == spos) return NULL ;
rpos ++ ;
return buffrpos - 1] ;

}
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#define MAX 100
int stack[MAX] ;
int tos = 0 ;
void push(int i)
{
if(tos >= MAX) {
printf("\n stack is full .");
getch();
return ;
}
stack[tos] = i;
tos ++;

(JJQ(Q‘)TJ)L)MAXLJJJJKOSJt;d.ﬂalSJA‘JJ:S)L,.;Q)JQ[{GC&‘&,‘JI}A')HPUSI‘I() C_vl:‘)é
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#include <stdlib.h> ool plail Los oy ol gixe
int pop() push (A) A
{ push (B) BA
tos - ; push (C) CBA
iftos < 0) { pop () BA
printf("\n stack is empty.") ; push (F) FBA
return HUGE_VAL; pop () BA
} pop () A
return stackftos); pop () S
}

(Gl Jac byad Voot JSib
PP 3@ 50 4 0153 o L POP() 5 PUSh() w3 b gy bl s by, s

int *p , *tos , *bos ;
void push(int i)
{
if(p > bos) {
printf("\n stack is full.") ;
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return ;
}
=i
p++
}
//************************
int pop()
{
P-:
if(p < tos) {
printf("\n stack is empty .");
return O ;
}
return *p ;
}
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#include <stdlib.h> XYY JUrtH aoliy
#include <stdio.h> 238 a0 Lt sty alal> 4y a5 5o L2 | P oy
#include <conio.h> aly YL S yl2l | tos
#define MAX 100 ady ol S Lol | bos
int *p ; Bgd gr axSh p 4zl 1S plasisles | AD main()
int *tos ; 099 pSIE alh Slee | S
int *bos ;
void push(int) ;
int pop ();
int main ()
{

inta, b;

char s[80] ;

p=(int *) malloc(MAX * sizeof(int));
if('p) {




printf("\n allocation failure.");
exit(1) ;
}
tos = p;
bos = p + MAX - 1 :
clrser() ;
printf("\n\t << funtion");
printf(" calculation >>\n\n") ;
do {
printf(" ;") ;
gets(s) ;
switch (*s) {
case '+':a = pop(); b= pop() ;
printf(* sum is : %d\n", a + b);
push(a + b) ;
break ;
case ' : a = pop() ; b = pop() ;
printf(* subtract is:%d\n", b - a);
push(b - a) ;
break ;
case ™' :a = pop(); b = pop();
printf(* multiply is:%d\n", a * b);
push(a*b) ;
break ;
case '/ : a = pop() ;
b = pop() ;
if (@ ==0) {
printf(* divided by zero.\n");
getch();
exit(1) ;
Y/end of if
printf(* division is:%d\n", b / a);
push(b / a) ;
break ;
case ' :
a = pop() ;
printf(" current value on top of stack:%d\n", a);
break ;
default :
push(atoi(s)) ;
} // end of swith
} while (*sl="q) ;
return O;
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}

//*********************

void push ( int i)

{
if(p > bos) {
printf("\n stack is full.") ;
return ;
}
*p=i :
p++;
}
/ khkkkkhhkhkkbhhhddd
int pop ()
{
P-
if (p < tos) {
printf("\n stack is empty .") ;
getch();
return O ;
}
return *p ;
}
MUJ.Q ;Jﬁ»&
12
1 30
T+
sum is : 42
2
)
division is : 21
: 3
. %

multiply is : 63
: 40

subtract is : 23

current value on top of stack is : 23
' q
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struct node {

int stno ;
char name [30] ;
struct node *link ;
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struct node *start, *last ;
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Aas gl 3start
start = (struct node *) malloc (sizeof(struct node)) ;
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struct node *p, *q;

p = (struct node *) malloc (sizeof (struct node)) ;

q = (struct node *) malloc (sizeof (struct node)) ;

p -> stno = 100

strepy (p -> name, "ali") ;

q -> stno = 200 ;

strepy (q -> name,"ahmad") ;
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p->link=gq;
q - > link = NULL ;
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p p->stno p->name p-> link
G+ Ta T ]
q g->stno q->name q-> link
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r->link = d -> link ;
d -> link = NULL
free (d) ;
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start = start -> link ;

p -> link = NULL ;
free (p) ;
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#define TRUE 1
#define NIL (struct student *)NULL
#define NIL (struct student *)NULL
struct student {
char name[30] ;
int stno ;
int unit ;
struct student *next ;
}s
struct student *first , *last , *node ;
void enter ();
void list ();
void del ();
int main () {
char s[10] ;
first = NIL ;
while (TRUE) {
clrscr() ;
gotoxy(20, 4) ;
printf("E)enter name to list );
gotoxy(20, 6) ;
printf("R)remove name from list");
gotoxy(20, 8) ;
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printf("L)print the list on CRT");
gotoxy(20, 10) ;
printf("Q)quit from program ") ;
gotoxy(20, 12) ;
printf("enter your select");
printf("( E R L Q):") ;
gets(s) ;
*s = toupper(*s) ;
switch (*s) {
case 'E’': enter() ; break;
case 'L’ : list) ; getch(); break;
case 'R’ : del(); break ;
case 'Q’': exit(0) ;
}/end of switch
} //lend of while
} // end of main
/ kdkhkRkkkkkkkkkkkkkkkkk
void enter () {
char numstr[30] ;
node = (struct student *)malloc(sizeof(struct student));
node -> next = NIL ;

if (first == NIL)
first = last = node ;
else {
last -> next = node ;
last = node ;
}

printf("\n enter name of student:");
gets(last -> name) ;
printf("\n enter student number :*);
gets(numstr) ;
last -> stno = atoi(numstr) ;
printf("\n enter number of unit :*);
gets(numstr) ;
last -> unit = atoi(numstr) ;
} /* end of enter */
//********************
void list () {
inti;
if (first == NIL) {
printf("\n< < the list is empty .>>") ;
getch() ;
return ;
}
last = first ;
clrscr() ;
gotoxy(5,4) ;
printf(* name st.number unit") ;
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gotoxy(5, 5);
printf(*-------- = e e
i=6;
do {
gotoxy(s, i),
printf("%s", last -> name) ;
gotoxy(25, i);
printf("%d", last -> stno) ;
gotoxy(38, i);
printf("%d", last -> unit) ;
i++;
last=last -> next ;
} while (last = NIL) ;
-gotoxy(5, i++) ;

Prntf(" +*aadrrssasawmsnanasr) -
printf(“***************") :
gotoxy(10, i++) ;

printf("press a key to continue.”);
getch() ;

//*******************

void del () {
int stnumber ;
gotoxy(20, 14) ;
printf(*enter student number for delete:");
scanf("%d", &stnumber) ;
last = node = first ;
while (last I= NIL) {
if (last -> stnol=stnumber) {

node = last ;
last = last -> next ;
continue ;

}

else {

if (last == first) {
first=last -> next ;
free(last) ;
free(node) ;
break ;
}lend of if
else {
node -> next=last -> next;
free(last) ;
break ;
}/end of else
}/end of else
}/end of while

}
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E)enter name to list
R)remove name from list
L)print the list on CRT
Q)quit from program
enter your select(E R L Q):
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#define TRUE 1
#define NIL (struct student *)NULL
vold enter();
void list();
void del();
struct sublist {
int  unit;
float grade ;
struct sublist *subnext ;
b
struct student {
char name[30] ;
int stno ;
int nocours ;
struct student *next ;
struct sublist *link ;
b
struct student *first , *last , *node ;
struct sublist *sfirst ,*slast , *snode ;
int main ()
{
char s[10] ;
first = NIL ;
while(TRUE) {
clrser() ;
gotoxy(20, 4) ;
printf("E)enter name to list *);
gotoxy(20, 6) ;
printf("R)remove name from list");
gotoxy(20, 8) ;
printf("L)print the list on CRT ");
gotoxy(20, 10) ;
printf("Q)quit from program ") ;
gotoxy(20, 12) ;
printf("enter your select);
printff"(E R L Q):") ;
gets(s) ;
*s=toupper(*s) ;
switch (*s) {
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case 'E': enter(); break ;
case 'L’ : list() ; getch() ; break ;
case 'R’ : del() ; break ;
case 'Q’ : exit(0) ;
}/end of switch
}//end of while
}

/ dedededededededdededede de ke

vold enter ()
{
register int t ;
float x ;
char numstr[30] ;
node = (struct student *) malloc(sizeof(struct student));
node -> next = NIL ;

if (first == NIL)
first = last = node ;
else {
last -> next = node ;
last = node ;

}//end of else

printf("\n enter name of student:");
gets(last -> name) ;

printf("\n enter student number :*) ;
gets(numstr) ;

last -> stno = atoi(numstr) ;
printf("\nenter number of courses:");

gets(numstr) ;

last -> nocours = atoi(numstr) ;

slast = NIL ;

for (t = 0;t < last -> nocours; t++) {

snode = (struct sublist *)
malloc(sizeof(struct sublist)) ;
snode -> subnext = NULL ;
if (slast == NULL) {
slast = snode;
last -> link = slast;
}/ end of if
else {
slast -> subnext = snode ;
slast = snode ;
}/end of else
gotoxy(40,16) ;
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printf(" )
gotoxy(40,16) ;
printf("enter grade number %d:", t + 1);
gets(numstr);
slast -> grade = atof(numstr);
gotoxy(40, 18) ;
printf(* K
gotoxy(40, 18) ;
printf(* enter unit of grade %d:", t + 1);
gets(numstr);
slast -> unit = atoi(numstr);
}//end of for
} /* end of enter */
//**********************
void list ()
{
inti;
struct student *help;
if (first == NIL) {
printf("\n< < the list is empty .>>") ;
geteh() ;
return ;
}
help = first;
clrser() ;
gotoxy(5, 4);
printf(" name st.numb grade unit ) ;
gotoxy(s, 5);
printf("-----—-- ————— e - -";

do {

gotoxy(s, i);

printf("%s", help -> name) ;

gotoxy(24, i);

printf("%d", help -> stno) ;

slast = help -> link ;

while (slast I= NULL) {
gotoxy(33, i);
printf("%.2f", slast -> grade);
gotoxy(39, i);
printf("%2d", slast -> unit) ;
slast = slast -> subnext ;
i++;
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}

help = help -> next ;
} while (help != NIL) ;
gotoxy(s, i++) ;
print’f(“***********************Il);
printf(“**************ll) ;
gotoxy(10, i++) ;
printi("press a key to continue.");
getch() ;

}

/ LA R 2 R g X gt g ]

void del ()
{
struct student *help;
int stnumber ;
gotoxy(20,14) ;
printf("enter student number for delete:") ;
scanf("%d", &stnumber) ;
help = node = first ;
while (help != NIL) {
if (help -> stno != stnumber) {
node = help ;
help = help -> next ;
continue ;
}/end of if
else if (help == first) {
first = help -> next ;
free(help) ;
free(node) ;
break ;
}/end of else if
else {
node -> next = help -> next;
free(help) ;
break ;
}/end of else
}// end of while
} // end of del()
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E)enter name to list
R)remove name from list
L)print the list on CRT
Q)quit from program
enter your select( ER L Q):
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#define NIL (struct personel *) NULL
struct personel{
char name[30] ;
int persno ;
int salary ;
struct personel *next ;
}i
struct personel *first , *last , *node ;
void list() ;
void enter(int) ;
int main ()
{
inti;
clrser();




char numstr{10] ;

printf("\n enter number of employee:") ;
gets(numstr) ;

first = NIL ;

enter(atoi(numstr));

list() ;

return O;

}

/ AARREARR AR RERRRREERRRARAAR

vold list ()
{
inti;
if (first == NIL) {
printf("\n< < the list is empty .>>") ;
getch();
return;
}
last = first ;
clrser() ;
gotoxy(5,4) ;
printf(" name em.number salary ") ;
gotoxy(5,5) ;

do {
gotoxy(5, i);
printf("%s", last -> name) ;
gotoxy(25, i);
printf("%d”, last -> persno) ;
gotoxy(38, i);
printf("%d", last -> salary) ;
i++;
last=last -> next ;
} while (last {= first) ;
gotoxy(5, i++) ;
printf(ll**********************H);
printf(“***************“) :
gotoxy(10,i++) ;
printf("press a key to continue.");
getch() ;

}

//*********************

void enter(int n)

w2 Juad
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{
int i;
char numstr[10];
for (i=0;i<n;i++) {
node = (struct personel *) malloc(sizeof(struct personel));
node -> next = NIL ;

if (first == NIL)
first = last = node ;
else {
last -> next = node ;
last = node ;
}

printf(\nenter name of employee:");
gets(last -> name) ;
printf("\nenter employee number :");
gets(numstr) ;
last -> persno=atoi(numstr) ;
printf("\n enter salary :") ;
gets(numstr) ;
last -> salary = atoi(numstr) ;

} /lend of for

last -> next = first ;

}

I
enter number of employee:2

enter name of employee:naser
enter employee number:231
enter salary :5432

enter name of employee:ahmad
enter employee number:4325
enter salary :7654

name em.number salary
naser 231 5732
ahmad 4325 7654

e e e e o O o ok e O e o o o o o o e o o o o O o o o ok o e o e o o o o

press a key to continue.
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struct st{
struct st *link ;
int stno ;
struct st *rink ;
}i
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p -> llink = NULL ;
p->rink = q;
q -> rlink = NULL ;
q-> llink =p;
NULL - NULL
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r-> rlink = q ;

q-> llink =r;

p->rlink =r;

r-> llink =p;
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r -> link -> rlink = r -> rink ;
r -> rlink -> llink = r -> llink ;
r -> llink = NULL ;

r -> rlink = NULL ;

free (r) ;
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#include <string.h>
struct address {

char name[30] ;

char street[30] ;

char city[20] ;

char state{3] ;

char zip[10] ;

struct address *next ;

struct address *prior ;
} list_entry ;
struct address *start ;
struct address *last ;
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void enter() , display() , search() ;
void save() , load() , list() , del();
void display(struct address *info, int *row);
struct address *find(char *);
int menu_select();
struct address *store(struct address *, struct address *);
int main ()
{
start = last = NULL ;
for(;) {
switch(menu_select()) {
case 1: enter(); break ;
case 2 : del(); break ;
case 3: list() ; break ;
case 4: search(); break ;
case 5: save(); break ;
case 6: load(); break ;
case 7: exit(0) ;
}lend of switch
}/end of for
}/end of main
/ kdkdkdkhkdkddhdkhdhdhii
int menu_select()
{
char s[5];
clrscr() ;
gotoxy(25, 4) ;
printf("1. enter a name ") ;
gotoxy(25, 6) ;
printf("2. delete a name ") ;
gotoxy(25, 8) ;
printf("3. list all files ") ;
gotoxy(25, 10) ;
printf("4. search ") ;
gotoxy(25, 12) ;
printf("5. save the file ") ;
gotoxy(25, 14) ;
printf("6. load the file ") ;
gotoxy(25, 16) ;
printf("7. quit ") ;
do {
gotoxy(20, 18) ;
printf("enter your select(1-7):");




}

{

gets(s);
} while (atoi(s) < 0 || atoi(s) > 7) ;
return atoi(s) ;

//*********************

void enter ()

struct address *info ;

inti;

char ch ;

clrser() ;

gotoxy(3, 2) ;

printf("  name street city state  zip");
gotoxy(3, 3) ;

printf(" ----------- -eeeeee R

for (;}) {
info = (struct address *)malloc(sizeof(list_entry)) ;
if(info) {
printf("\n out of memory. press a key ") ;
getch();
return ;
}
gotoxy(3, i) ;
gets(info -> name) ;
if (linfo -> name[0]) {
gotoxy(15, i + 1) ;
printf("press a key to continue");
getch() ;
break ;
}/end of if
gotoxy(18, i);
gets(info -> street) ;
gotoxy(28, i) ;
gets(info -> city) ;
gotoxy(38, i) ;
gets(info -> state) ;
gotoxy(45, i) ;
gets(info -> zip) ;
i++ ;
start = store(info, start) ;
} /* entry loop */
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/ *}*************
struct address *store(struct address *i, struct address *top)
{
struct address *old, *p ;
if(last == NULL) {
i-> next = NULL ;
i -> prior = NULL ;
start = i;
last =i ;
return i ;
}
p =top;
old = NULL ;
while (p != NULL) {
if(strcmp(p -> name, i -> name) < 0) {
od=p;
P=p->next;
}/end of if
else {
if (p -> prior) {
p -> prior -> next=i ;
i -> next=p ;
i -> prior=p -> prior;
p -> prior=i ;
return top ;
}/end of if
i->next=p;
i -> prior = NULL ;
p -> prior =i ;
return i ;
t/lend of else
} /1 end of while
old-> next =1i;
i -> next = NULL ;
i -> prior = old ;
last = i ;
return start ;

}

//******************
void del()
{

struct address *info;
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char name[80];
gotoxy(20, 20) ;
printf(" enter name for delete : ") ;
gets(name) ;
info = find(name) ;
if(info == NULL) {
gotoxy(10, 20) ;
printf(" name not found! press a key to continue.”);
getch() ;
}
if (info)
if (start == info) {
start = info -> next ;

if(start)
start -> prior = NULL ;
else
last = NULL ;
} /lend of if
else {
info -> prior -> next = info -> next;
if(info != last)
info -> next -> prior = info -> prior;
else

last = info -> prior ;
} /lend of else
free(info) ;
gotoxy(10,20) ;
printf("name deleted, press a key to continue."”);
getch() ;
}
struct address *find(char *name)
{
struct address *info ;
info = start ;
while(info != NULL) {
if (strcmp(name, info -> name) == 0)
return info;
info = info -> next ;
}
return NULL ;

}

//*****************

void list ()
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struct address *info ;

inti;

info = start ;

clrser() ;

gotoxy(3, 2) ;

printf("  name street city state  zip");
gotoxy(3, 3) ; |

printf(" ——-memee e )

printf(*-——--- el

while(info = NULL) {
display(info, &i) ;
info = info -> next ;

}

gotoxy(15, i + 2) ;

printf("press a key to continue.");

getch() ;

}

/ "9 9 9 3 Jr e 3 I e e I I e g ek ok

void display(struct address *info, int *row)

{
gotoxy(3, *row) ;
printf("%s", info -> name) ;
gotoxy(18, *row) ;
printf("%s", info -> street) ;
gotoxy(28, *row) ;
printf("%s", info -> city) ;
gotoxy(38, *row) ;
printf(info -> state) ;
gotoxy(47, *row) ;
printf(info -> zip) ;
*row = *row + 1 ;

}

/ e 9 9 7 3 e e A % vk e I v e o v e e e e o ok e e e ke

void search()

{
char name[40] ;
inti;
struct address *info;
gotoxy(20, 20) ;
printf(" enter name to find : ");
gets(name) ;




}

info = find{name) ;
if(info == NULL) {
gotoxy(10, 20) ;
printf(" name not found! press a key to continue.");
getch() ; -
}/end of if -
else {
clrser() ;
gotoxy(3, 2) ;
printf("-. name street city state zip");
gotoxy(3, 3) ;
printf(" - oo )
printf("-  -----e- e " ameee "
i=4,;. <
display(info ,&i) ;
gotoxy(15, i + 2) ;
printf("press a key to continue.");
getch() ;
}/end of else

//*********************

void save()

{

}

struct address *info ;

FILE *fp ;

if((fp = fopen('l.dat"'wb") == NULL) {
printf("\n cannot open file. ") ;
getch();
exit(1) ;

Y/end of if

gotoxy(20, 20) ;

printf("< < saving file >>") ;

info = start ;

while(info) {
fwrite(info, sizeof(struct address), 1, fp);
info = info -> next ;

}//end of while

fclose(fp) ;

gotoxy(15, 22) ;

printf(*file successfuly saved press a key...") ;

getch() ;

/ KhkkdkkkkrR XX N kR kR kddk
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void load ()
{
struct address *info , *temp = NULL;
FILE *fp ;
fp = fopen('l.dat""rb") ;
iffp == NULL) {
printf("\n cannot open file.");
getch();
exit(1) ;
}
while(start) {
info = start -> next ;
free(info) ;
start = info ;
}
gotoxy(20,20) ;
printf(* << loading file >> ") ;
start = NULL ;
while (!feof(fp)) { .
info = (struct address *) malloc(sizeof(struct address)) ;
if(1 != fread(info, sizeof(struct address), 1, fp))
break ;
if(start == NULL) {
temp = start = info ;
info -> prior = NULL ;
info -> next = NULL ;
}iend of if
else {
info -> next = NULL ;
temp -> next = info ;
info -> prior = temp ;
temp = info;
} //fend of else
}/end of while
last = temp ;
fclose(fp) ;
gotoxy(15,22) ;
printf(*file successfuly loaded press a key ...") ;
getch();
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inorder (struct tree *s) {
if (5 == NULL)
return ;
inorder(s -> left) ;
printf("\n %d", s -> id) ;
inorder(s -> right) ;
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preorder (struct tree *s) {
if (5 == NULL)
return ;
printf("\n %d", s -> id);
preorder(s -> left);
preorder(s -> right);
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postorder (struct tree *s) {
if (s == NULL)
return ;
postorder(s -> left) ;
postorder(s -> right) ;
printf("\n %d", s -> id) ;
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#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#include <string.h>
#define TRUE 1
void input ();
int menu_select();
void maketree(struct tree *);
void find (struct tree *);
void inorder (struct tree *s);
struct tree {
struct tree *left ;
char name{20] ;
int telephone ;
struct tree *right ;
}i
struct tree *start , *node ;
char pname[20] ;
int main ()
{
start = NULL ;
while (TRUE) {
switch(menu_select()) {
case 1. input() ; break ;
case 2:
gotoxy(20,14) ;
printt("enter name for search:");
gets(pname) ;
find(start);
getch() :
break ;
case 3:
clrscr() ;
printf(\n< <travers tree in inorder>>\n");
gotoxy(6,4) ;
printf(*  name
gotoxy(6, 5) ;
printf(" )

telephone”);
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inorder(start) ;
printf("\n press a key to continue ..") ;
getch() ;
break ;
case 4:
exit(0) ;
} //end of switch
} //end of while
}/end of main
//**********************
void input ()
{
inti;
char numstr[10] ;
clrscr() ;
gotoxy(4, 3) ;
printf("  name telephone  \n");
gotoxy(4,4) ;
printf(* ");
i=5,;
while (TRUE) {
node = (struct tree *) malloc(sizeof(struct tree)) ;
node -> left = NULL ;
node -> right = NULL ;
gotoxy(4, i) ;
gets(node -> name) ;
if(lnode -> name[0]) {
gotoxy(5,i + 2) ;
printf(‘press a key to continue");
getch() ;
break ;
}
gotoxy(23,i) ;
gets(numstr) ;
node -> telephone = atoi(numstr) ;
if (start == NULL)
start = node ;
else
maketree(start) ;
i++ ;
}//end of while

}
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int menu_select()
{
int choice ;
char s[5] ;
clrser() ;
gotoxy(20, 4) ;
printf("1- enter customer in tree.");
gotoxy(20, 6) ;
printf("2- search for customer in tree.");
gotoxy(20,8) ;
printf("3- print information on screen. ") ;
gotoxy(20, 10) ;
printf("4- quit from program. ") ;
do {
gotoxy(20, 12) ;
printf("Enter your select(1-4):");
gets(s) ;
choice = atoi(s) ;
} while (choice < 0 || choice > 4);
return choice ;

}

//**************************

void maketree(struct tree *top)
{ .
struct tree *help ;
help = top ;
while (help '= NULL) {
if(node ->telephone>help ->telephone) {
if (help -> right != NULL)
help = help -> right ;
else {
help -> right=node ;
break ;
}/end of else
} //end of if
else {
if (help -> left 1= NULL )
help = help -> left ;
else {
help -> left=node ;
break ;
} /lend of else
} /lend of else
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}//end of while
}
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void find (struct tree *s)

{

if (5 == NULL)

return ;

find(s -> left) ;

if (strcmp(s -> name, pname) == 0) {
printf("\n <<%s>>has telphone:", pname);
printf(" %d",s -> telephone) ;
return ;

}

find(s -> right) ;

} .

/ e v v v 9 v v o v o o e v e e ok ek i e vk ok

void inorder (struct tree *s)

{
if (s == NULL)
return ;
inorder(s -> left) ;
printf("\n %s", s -> name) ;
printf("\t\t\t %d", s -> telephone);
inorder(s -> right) ;
}
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4. quit from program.
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void bubble(char *, int);

int main()

{
char s[80] ;
clrser();

printf(" enter a string :");
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gets(s) ;

bubble(s, strlen(s));

printf("\n the sorted string is: %s", s);
getch();

return O;

}

/ v e e v e ke e e e ke e o ke o o o ok e ek

vold bubble(char *item, int count)

{
register int a,b ;
register char t ;
for(a= 1 ; a < count; a++)
for(b = count - 1; b >= a; --b)
if(item[b-1] > item[b]) {
t = item[b-1] ;
item[b-1]=item[b] ;
item[b]=t ;
} /lend of if
}
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void select(char *, int);

int main()
{
char s[80] ;
clrscr();
printf(" enter a string :");
gets(s) ;

select(s, strlen(s));

printf("\n the sorted string is: %s", s);
getch();

return O;
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}

/ dedede ded dede ok ok bk ks ek ok ok

void select(char *item, int count)
{
register int a, b, ¢ ;
int exchange;
chart;
for(a = 0; a < count - 1; a++) {
exchange = 0;
c=a;
t = item|a] ;
for(b = a + 1; b < count; ++b)
if(item[b]<t) {
c=b;
t = item[b] ;
exchange = 1;
} //fend of if
if(exchange) {
item[c] = item(a] ;
item{a] = t;
}
}/end of for
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#include <stdio.h>
#include <conio.h>
#include <string.h>
vold Insert(char *, int);

int main()
{
char s[80] ;
clrscr();
printf(" enter a string :");
gets(s) ;

insert(s, strlen(s));
printf("\n the sorted string is: %s", s);
getch();
return O;
}

//********************

void insert(char *item, int count)
{
register int a, b;
char t;
for(a = 1; a< count; a++) {
t = item[a];
for(b = a-1; b >=0 && t < item[b}; b -)
item[b+1] = item[b];
itemlb+1] =t ;
}/end of for
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#include <stdio.h>
#include <conio.h>
#include <string.h>
vold shell(int *, char *, Int);
int main()
{
char s[80];
int gap[80];
clrscr();
printf(" enter a string :");
gets(s) ;
shell(gap, s, strien(s));
printf("\n the sorted string is: %s", s);
getch();
return O;
}
//********************
vold sheli(int gap [], char *item , int count)
{
register int i, j, step, k, p;
char x ;
k = 0;
gap[0] = count / 2;
while(gap[k] > 1) {
k ++;
gaplk] = gap(k - 1] / 2;
}/end of while
for(i = 0;i <= k; i++) {
step = gapli] ;
for(j = step; | < count; j++) {
X = item(j];
p =] - step;
while(p >= 0 && x < item[p)) {
item[p + step] = item[p];
p = p - step;
}
item[p + step] = x;
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void quick(char *item,int left,int right) {
register int i,j ;
char xy ;
i = left;
j = right;
x = item[(left+right)/2];
do {
while(item[i] < x && i < right) i++ ;
while(x < item[j] && j > left) j -- ;
ifi < =j) {
y = item([i] ;
item[i] = item[j];
item[j] =y;
i++;
i
}
} while(i<=j);
if(left < j) quick(item, left, j) ;
if(i < right) quick(item, i, right);
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#include <stdio.h>
#include <conio.h>
#include <string.h>
void quick(char *, int, int);

int main()
{
char s[80];
clrscr();
printf(* enter a string :);
gets(s) ;

quick(s, 0, strlen(s) - 1);

printf("\n the sorted string is: %s", s);
getch();

return 0;

}

/ e d e e de e de e e I o e de ke

~ .void quick(char item[], int left, int right)
{
register int i, j;
char x, y ;
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i=left;
j = right;
X = item[(left + right) / 2];
do {
while(item[i] < x && i < right) i++ ;
while(x < item[j] && j > left) j --;
ifi <= j) {
y = item[i] ;
item[i] = item][j];
item[j] = v;
i++ ;

[l
}/end of if
} while(i <= j);
if(left < j) quick(item, left, j) ;
ifi < right) quick(item, i, right);
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#include <stdio.h>
#include <conio.h>
#include <string.h>
#include <stdlib.h>
void quick_struct(struct student [], int, int);
struct student {
char name[10] ;
int stno ;
int unit ;
float ave ;
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void main()

{
int n, i;
float x ;
struct student *p ;
clrser() ;
printf("\n");

printf(*enter number of student:");
scanf("%d",&n);
p = (struct student *) malloc(n * sizeof(struct student));

if(lp) {
printf("\n allocation failure.");
exit(1);

}

for(=0;i<n;i++) {
clrser() ;

printf(\n enter name of student");
printf(" %d:", i+1);
scanf("%s", p[il.name);
printf("\n enter student number:");
scanf("%d", &pli].stno);
printf("\n enter number of unit:");
scanf("%d", &p[i].unit) ;
printf("\n enter average :");
scanf("%f", &x);
plil.ave = x ;
}
quick_struct(p, O, n-1) ;
clrser() ;
gotoxy(15, 2) ;
printf( "< <SORTED DATA DEPEND ON NAME>>");
gotoxy(10, 3) ;

pl’in‘l’f(“*************************u).
;

P I

printf("*************************ll);
gotoxy(10, 4);
printf(" NAME STUDENT# UNIT AVERAGE");
gotoxy(10,5);
printf(n*************************Il);
printf(llt************************ll);
fori = 0;i<n;i++) {
gotoxy(10, i + 6) ;
printf("%s", p[i].name) ;




gotoxy(23, i + 6);
printf("%d", pl[i].stno);
gotoxy(39, i + 6) ;
printf("%d", p[i].unit);
gotoxy(50, i + 6) ;
printf("%.2f, p[il.ave);

}

gotoxy(10, i + 6) ;

printf(ll*************************ll);
printf(ll*************************Il);
gotoxy(23, i + 7);
printf("press a key to continue.");
getch();
}
//****************************
vold quick_struct(struct student item[], int left,int right)
{
register int ij ;
char *x;
struct student temp ;
i= left;
j= right;
x = item[(left + right) / 2].name;
do {
while(strcmp(item[i].name, x) < 0 && i < right) i++ ;
while(strcmp(item[j].name, x) > 0 && j > left) j - ;
ifi <=j) {
temp = item]i] ;
item|[i] = item[j];
item[j] = temp;
i++;
i=-
} //lend of if
} while(i <= j);
if(left < j) quick_struct(item, left, j) ;
ifi<right)  quick_struct(item, i, right);

w23k Juad
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enter number of student :2
enter name of student 1:ali
enter student number:12345
enter number of unit:134
enter average:15.5

enter name of student 2:abbas
enter student number:23124
enter number of unit:120
enter average:17.5

<<SORTED DATA DEPEND ON NAME> >

Fekkkddddkkiidhdkhhihdkhhhhhhkhhhhhrddddhkthhrhkkrrrhdddid

NAME STUDENT# UNIT  AVERAGE

Rhkkdkhhdddkddd kil kihhhdkhktikkhhhhdhiithhhhhitikhitikt

abbas 23124 120 17.00
ali 12345 134 15.50

Fekkkdkddkdkkdddkhhhhkhkhhhhhhkhkdhhhhhrrrtkhkhdhrrhhhrrdiid

press a key to continue.
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#include <stdio.h>
#include <conio.h>
#include <string.h>
#include <stdlib.h>
#include <io.h>
struct student {
char name[30] ;
int stno ;
int unit ;
float ave ;
} ainfo ;
int menu_select(void);
void enter();
void report();
vold quick_file(FILE *pf,int left, int right);
void swap_all_fields(FILE *fp, long i , long j);
char *get_name(FILE *fp, long rec) ;
void main()
{
FILE *fp ;
long int x;
int handle, y;
if(fp = fopen('mlist", "a+b")) == NULL) {
printf("\cannot open file .");
getch();
exit(1) ;
}
for(;;) {
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clrser();
switch(menu_select()) {
case 1: enter(); break;
case 2:
if((fp = fopen(‘mlist’, "'r+b")) == NULL) {
printf("\cannot open file .");
getch();
exit(1) ;
}
handle = fileno(fp);
x = filelength(handle);
y = x / (sizeof(struct student));
quick_file(fp, 0, y - 1);
fclose(fp);
break;
case 3: report(); break;
case 4: exit(1);
} //end of switch
} /lend of for
}

/ ek ke ko gk kok kk ok kok ok k

void quick_file(FILE *fp, int left, int right)

{
long int i, j;
char x[10];
i = left;
j = right;
strepy(x, get_name(fp, (long)(i + j) / 2));
do {
while(strcmp(get_name(fp, i), X} < 0 && i< right) i ++ ;
while(strcmp(get_name(fp, j), x) > 0 && i < right) j - ;
ifii <=j) {
swap_all_fields(fp, i, j) ;
i++;
I3
}
} while(i <=j) ;
if(left < j) quick_file(fp, left, (int) j) ;
if(i < right) quick_file(fp,(int) i,right);
}

/ kkk RN Rk kkkhkkkkkkhkn

void swap_all_fields(FILE *fp, long i, long j)
{
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char a[sizeof(ainfo)], b[sizeof(ainfo)];
fseek(fp, sizeof(ainfo) * i, 0) ;
fread(a, sizeof(ainfo), 1, fp) ;
fseek(fp, sizeof(ainfo) * j, 0) ;
fread(b, sizeof(ainfo), 1, fp) ;
fseek(fp, sizeof(ainfo) * |, 0) ;
fwrite(a, sizeof(ainfo), 1, fp) ;
fseek(fp, sizeof(ainfo) * i, 0) ;
fwrite(b, sizeof(ainfo), 1, fp) ;
}

/ Fhkkkkkkkkkhkhkhihkk

char *get_name(FILE *ip, long rec)
{
struct student *p ;
p = &ainfo ;
fseek(fp, rec * sizeof(ainfo), 0);
fread(p, sizeof(ainfo), 1, fp) ;
return(ainfo.name) ;
}//**********************
int menu_select(void)
{
char s[10] ;
int ¢ ;
clrser() ;
gotoxy(29, 6);
printf('1) << enter a recorde >>");
gotoxy(29, 8);
printf("2) << sort the file >>");
gotoxy(29, 10);
printf(*3) << list the file >>");
gotoxy(29, 12);
printf("4) << Quit >>";
do {
gotoxy(24, 15) ;
printf(" Please enter your choice(1-4):");
gets(s) ;
¢ = atoi(s) ;
} while(c < 0 || c > 4);
return (c);

}

//iiiii*it**iii***ii*iii**ii**

void enter()
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int slot ;
char numstr[10] ;
FILE *fp;

if((fp = fopen("mlist’, "a+b"}) == NULL) {
printf("\cannot open file .");
getch();
exit(1) ;

}

gotoxy(5, 17) ;

printf("enter name:") ;

gets(ainfo.name);

gotoxy(40, 17) ;

printf("enter stno:") ;

gets(numstr);

ainfo.stno = atoi(numstr);

gotoxy(5, 19) ;

printf("enter unit.") ;

gets(numstr);

ainfo.unit = atoi(numstr);

gotoxy(40, 19) ;

printf("enter average:") ;

gets(numstr);

ainfo.ave = atof(numstr);

fwrite(&ainfo, sizeof(struct student), 1, fp);

fclose(fp);

}

//***********

void report()
{
register intt;
intr =0,
FILE *fp;
if((fp = fopen("mlist", 'r+b")) == NULL) {
printf(\cannot open file .");
getch();
exit(1) ;
}
clrscr() ;
gotoxy(20, 2) ;
printf(" << all information in list are:>>") ;
gotoxy(13, 3) ;

printf(ll**********************ll).
’




printf(“*******************Il) .
’

gotoxy(10, 4);

printf(" name stno unit average');
gotoxy(10, 5);
printf(u u) ;

fread(&ainfo, sizeof(struct student), 1, fp);
while(feof(fp)) {

gotoxy(14, 6 + 1) ;

printf("%s ", ainfo.name);

gotoxy(26, 6 + 1) ;

printf("%d ", ainfo.stno);

gotoxy(40, 6 + 1) ;

printf("%d ", ainfo.unit);

gotoxy(52, 6 + 1) ;

printf("%.2f *, ainfo.ave);

r++ ;

fread(&ainfo, sizeof(struct student), 1, fp);
}
gotoxy(13, 6 + 1) ;

printf(ll********************ll) .
’

printf("*********************u)

gotoxy(27, 7 + 1) ;

printf("press any key to continue");
fclose(fp);

getch() ;
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int seq_search(char *item, int count, int key)

{
register int i ;
for(i = 0; i < count; i++)
if(key == itemi])
return i ;
return -1 ;
}
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int binary_search(char *item ,int count, char key) {
int low, high, mid ;
low = 0;
high = count - 1 ;
while(low <= count) {
mid = (low + high)/2 ;
if(key < item[mid])
high = mid-1 ;
else if(key > item[mid])
low = mid + 1 ;
else
return mid ;

}

return -1 ;
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int86 (int intnum, union REGS *in, union REGS *out)

Al e O 55 4 05 3 (o 2 el out 5 (5350 L) in by o et intnum 5 g 555 o
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struct WORDREGS {
unsigned int ax, bx, cx, dx, si, di, cflag, flags ;

}s

struct BYTEREGS {
unsigned char al, ah, bl, bh, cl, ch, dl, dh ;
};

union REGS {
struct WORDREGS x ;
struct BYTEREGS h ;

}s
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struct SREGS {
unsigned int es ;
unsigned int cs ;
unsigned int ss ;
unsigned int ds ;

}

struct REGPACK {
unsigned r_ax, r_bx, r_cx, r_dx ;
unsigned r_bp, r_sl, r_di, r_ds, r_es, r_flags ;

}s
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#include <conio.h>
#include <stdio.h>
#include <dos.h>
void goto_xy(int x , Int y);
void main() {
void cls() ;
register int x, y ;
cls() ;
goto_xy(10, 10) ;
printf("this is a test.");
getch();
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void goto_xy(int x , Int y) {

union REGS r ;
r.hah = 2;
rhdl =y;
rhdh = x;
rh.bh = 0;

int86(0x10, &r, &n ;
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void cls(void) {

union REGS r;
rh.ah = 6;
rhal =0;
rh.ch = 0 ;
r.hecl =0 ;
r.h.dh = 23 ;
rhdl = 79;
rh.oh =7
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#include <dos.h>
void print_screen() ;
void main()
{

print_screen() ;

}

//**************

void print_screen()

{
union REGS intreg, outreg ;
int86(5, &intreg, &outreg) ;
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#include <dos.h>
#include <conio.h>
void set_cur_size(int, int) ;
void main()
{
int start, stop ;
clrscr();
start = 0 ;
stop = 7 ;
set_cur_size(start, stop) ;
getch();
}
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void set_cur_size(int start, int stop)

{
union REGS in,out ;
in.h.ah = 1 ;
in.h.ch = start ;
in.h.cl = stop ;

int86(0x10, &in, &out) ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void get_cur_pos(int, int *, int *, int *, int *);
void main(} {
int page, row, column, start, stop;
clrscr();
get_cur_pos(0, &row, &column, &start, &stop);
printf("\n row=2%d, col=%d, start=%d, stop=%d", row, column, start, stop);
getch();
}

//**********************
void get_cur_pos(int page, int *row, int *column, int *start, int *stop)
{
union REGS in, out ;
in.h.ah = 3 ;
in.h.bh = page;
int86(0x10, &in, &out);
*row = out.h.dh ;
*column = out.h.dl ;
*start = out.h.ch ;
*stop = out.h.cl ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void set_palette(int palette, int color);
void main(} {
int p, color;
clrscr();
set_palette(p, color);
getch();
}
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void set_palette(int palette, int color)

{
union REGS in, out;
in.h.ah = Ox0B;
in.h.bh = palette;

in.h.bl = color;
intB6(0x10, &in, &out);
}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void set_mode(int mode);
void main() {
int mode = 3;
set_mode(mode);
getch();
}

//ttt******t*t

void set_mode(int mode)

{
union REGS r ;
r.h.al=mode ;
r.h.ah=0;
int86(0x10,&r,&r) ;
}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void write_char(int page, int ch, int attr, int count);
void main() {

char ch;

clrscr();

printf("\enter char to write:");
ch = getch();

write_char(0, ch, 7, 5);
getch();

}

//*****************

void write_char(int page, int ch, int attr, int count)

{

union REGS in,out ;

in.h.ah = 9 ;
in.h.al = ch ;
in.h.bh = page ;
in.h.bl = attr ;
in.h.ch = 0 ;

in.h.cl = count ;
int86(0x10, &in, &out) ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int memory_size();
void main() {
clrscr();
printf("base memory size = %dk", memory_size()) ;
getch();

}
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int memory_size()

{
union REGS in, out;
int86(0x12, &in, &out);
return(out.x.ax) ;

}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int get_key(void);
void main() {
union scan {
int ¢ ;
char ¢h[2] ;
} sc;
clrser();
do {
sc.c = get_key() ;
if(sc.ch[0] == 0)
printf("\n key is special.");
else
printf("\n %c", sc.ch[0]) ;
} while (sc.ch[0] != "q)) ;
}

//******************

int get_key(void)

union REGS in, out;
in.h.ah = 0 ;
int86(0x16, &in, &out) ;
return out.x.ax;




#include <stdio.h>
#include <conio.h>
#include <dos.h>
void set_border(int) ;
void main() {
clrscr();
set_border(10);
getch();
}
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void set_border(int color) {
union REGS in, out ;

in.h.ah = 0x0b ;
in.h.oh = 0 ;
in.h.bl = color ;

int86(0x10, &in, &out) ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int get_state();

void main() {
unsigned char x;
clrscr();

x = (unsigned char) get_state();

X =x&32;
if (x == 32)

printf("NUM LOCK key is on");

else

printf("NUM LOCK key is not on");

getch();
}
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int get_state() {
union REGS in, out;
inh.ah = 2 ;
int86(0x16, &in, &out);
return(out.h.al);
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Int intdos (union REGS *in, union REGS *out)

int bdos (int fnum, unsigned dx, unsigned al)

int bdosptr (int fnum, void *dsdx, unsigned al)

al_,dx,pu.».ul{&a d,cl:wufnum_,mﬁjﬁjda_,)_,dlgil‘:éuout_,in “_BJ}&LA_,{H):
.:,..:Ja;.ala'..:ﬂal.-)fﬂol_,x-q;wl&\&daxfwa.au.:...\:)_,‘g-j)abdosptr()

1YY Ji. @D
s 0 QLS 5ol 5100 53 52 g0 LB e J oS slaals
#include <stdio.h>
#include <conio.h>
#include <dos.h>
void dir_list(} ;

void main()
{
clrscr();
dir_list();
getch();
}

//********************
void dir_list()
{
union REGS in, out ;
char pp[44] ;
bdosptr{Ox1a, pp, 0) ;
bdosptr(Ox4e, "*.*", 0) ;
printf("\n %s \n", &pp[30]) ;
for(;;) {
if(odos(Ox4f, 0, 0) == 18)
break ;
printf("\n %s \n", &pp[30]) ;
Hlend of for
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int stdin_char();
void main()
{
int ch;
clrscr();
ch = stdin_char();
printf("%d", ch);
getch();
}

//*****************

int stdin_char()

{
union REGS in, out ;
in.h.ah = 0x10 ;
intdos(&in, &out) ;
return(out.h.al) ;

}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void disk_info(int *spc, int *sector_size, int *num_cluster);
void main() {
clrscr();
int spc, sector_size, num_cluster,;
disk_info( &spc, &sector_size, &num_cluster);
printf("spc=%d, siz=%d, num=%d", spc, sector_size, num_cluster);
getch();
}
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void disk_Info(int *spc, int *sector_size, int *num_cluster)
{
union REGS in, out;
in.h.ah = Ox1b;
intdos(&in, &out);
*spc = out.h.al;
*sector_size = out.x.cx;
*num_cluster = out.x.dx;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void stdout_char(char) ;
void main(}
{
clrscr();
stdout_char('a’);
getch();
}

//********************

void stdout_char(char character)

{
union REGS in, out ;
in.h.ah = 0x02 ;
in.h.dl = character ;
intdos(&in, &out) ;

}
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#include <stdio.h>

#include <conio.h>

#include <dos.h>

int check();

void main(} {
unsigned char x;
clrscr();
X = (unsigned char) check();
x = x & 32;
if (x == 32) printf("nnnnnn");
getch();

//*****************

int check()

{
union REGS in, out;
in.h.ah = Oxb;
intdos(&in, &out);
return(out.h.al);

}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
vold set_drive(int drive);
void main() {
set_drive(0) ;

}
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void set_drive(int drive)

{
union REGS in, out ;
in.h.ah = OxOe ;
in.h.dl = drive ;
intdos(&in, &out) ;

}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void get_date(int *day, int *month, Int *year, int *day_of week);
void main()
{
int day, month, year, day_of week;
get_date(&day, &month, &year, &day_of week);
printf("date is:day %d, %d/%d/%d",day_of week, day, month, year);
getch();
}
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void get_date(int *day, int *month, int *year, int *day_of_week)
{
union REGS in, out ;
in.h.ah = 0x2a ;
intdos(&in, &out) ;
*day = outh.dl ;
*day_of week = out.h.al ;
*month = out.h.dh ;
*year = out.x.cx ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
long free_disk(int drive);
void main() {
int drive = 0; // current drive
long int spc;
clrscr();
spc = free_disk(drive);
printf(\n free space is : %ld", spc);
getch();
}
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long free_disk(int drive)

{
union REGS in, out ;
in.h.ah = 0x36 ;
in.h.dl = drive ;

intdos(&in, &out) ;
return{(long) out.x.ax * (long) out.x.bx * (long) out.x.cx);
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
void dos_ver(int *major, int *minor);
void main() {
int major, minor;
clrscr();
dos_ver(&major, &minor);
printf(*version is:%d.%d", major, minor);
getch();
}
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vold dos_ver(int *major, int *minor)
{
union REGS in , out ;
in.h.ah=0x30 ;
intdos(&in,&out) ;
*major=out.h.al ;
*minor=out.h.ah ;
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int make_dir(char snamel[]);
void main()
{
int st ;
clrser();
st = make_dir("\\basic");
if(st == -1)
printf("\n directory not created.");
else
printf("\n directory created.");
getch();
}

//***************

Int make_dir(char sname[])

{
}

return(bdosptr(0x39, sname, 0));
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#include <stdio.h>

#include <conio.h>

#include <dos.h>

int remove_dir(char snamef[]);

void main()
{
int st ;
clrscr();
st = remove_dir("\\basic");
if(st == -1)
printf(\n directory not removed.");
else
printf("\n directory remove.");
getch();
}//***************
int remove_dir(char snamef[])
{

return(bdosptr(Ox3a, sname, 0));

}
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#include <stdio.h>
#include <conio.h>
#include <dos.h>
int change_dir(char sname[]);
void main() {
int st ;
cirscr();
st = change_dir("\\basic");
if(st == -1)
printf("\n directory not changed.");
else
printf(\n directory changed.");
getch();
//i**ii****iii*ii
int change_dir(char sname[]) {
return(bdosptr(Ox3b, sname, 0));
}
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <dos.h>
int remove_file(char fname[]);
void main(int argc, char *argv[]) {
int st ;
clrser();
iffargc < 2) {
printf(" usage : prog arg");
getch();
exit(0);

st = remove_file(argv[1]);
if(st == -1)

printf("\n file not removed.");
else

printf("\n file removed.");
getch();

//ii***i*ii**i*ii

Int remove_file(char fname[]) {
return(bdosptr(Ox41, fname, 0));

}




gl sletumo
S axio oo pow

£u.:"’_)JA%bh?j@)ﬁ&&b&‘jwbubfﬁ‘A°A? AJ‘JJ["-JUA-U_;)‘J#}L_)_)J‘CO[{_}J-[._-L:‘K

RV P il glghue 4 il Cilisin aba sl kS Ll iles: Sasly i gealSadasls
IS o T sl S

pMS A iy 1 4 bl 55 Shuge slarge c.compact :medium small tiny : jl.5 ,Le adail> Calzsa lgdua

232 e PHI
tiny dlask Jow

g0 g1 M S (gl Can8 Gl S 4S5 4k e ka5 (5,40 C Ol 4 aul y ctiny sl Jota
PP CtaB S 5oty g by (slansls el yy US oS ol e cppdy o) iy sl S VP L as ol
C.ﬁ,...«_jl«ﬂ.{..\;su_nJLi..:H_)d.Sr.q.a-Lg;?da_,.:‘,-a.,_-ju;‘,_)cﬂqé‘guljﬂ..U_)la_)l_)id'..lla.)l:S
COM 16 4; Jo 45 JI6(DOS Jolo (s o g2 SO EXEZBIN , jooss s 5 5 s 351 5 W

ol dode 2L a8l 5 US (s1)la oS lanals stptiny dadl> Jaa a2l L.

small bl Jow

)ld_,L__._idlﬂoS.\:S‘,-.;u;luguﬂu?jdlﬂ&l,-JJ..OiIﬂuJ_,.ug;Jl;-_,:C L4 9C )
jlubﬁxmg),.u_,.:wflqdlc.ﬁ\?Qhw:w)aig&la-dhalﬁq;.g..l.\:bLu.alJJ,
3 4ol g AS oy a5 AS JLRSI ) oL LS VYA J;;I‘,:u-déila-d.hwl):LauUﬂ.g;.A|J>_-LAC,;...§..:,:L~
e 348 Gl Jy el 0LS small ytiny <il> sl ;s L,—Nu«'_)éibbj el S 2l O sWaesls

.bb;‘;-uq-jtinydéil,-d.h)bGC..a‘6|MUJ!J!|J!"))_,.:4A?J7 Ll 5 e small sl

medium dladh Jio

c.;.._{..,.\.'..;'-_);J.}I‘,:u_puUJ:AS‘,;_,_.f‘,-_ﬂ_):ﬁ.;l.é:..ul;_)}ouﬂ_,b‘5bubﬂ‘5lﬁmediumd&jl;-d.l.a
17 (ALt a8 g aaty osls) by glaccaa®n L Jgs s ol Yo 4wl us sy
Wbt slaesls (g Ll Y s 4l U 48 ol e Al (51 il Jle ol 28 n wolizd T
o3 Syt J g ol zaSsmall ytiny dail> slghie 51 abasl> Je ol 3 aals Sl il (s

sl small ytiny adasl> glgbe wlia L, &5 Wl slassls o




g Juad FrA
compact bk J3o

b, S compact sl Jde )3 &S Do po o ol medium adiil>- Jds ,-Se, compact dasl> Jde
u..‘_,:.‘adlj|.llsx.gb_d:.‘,;..5c,;..§.u.\;>;)a.\;J!_,Ju,-hulijdbn\aJ,a).:u;a,wc,;&.»giua
d\ﬂ&erJAJO.J_\.;)\ajl:_’.w)aic,:_g\FunﬂASJ,@ljlgda)aic,ﬁYo & wal L slassls 4
Ll dadl- Jdo ol jo el Gl C o dien (5005 dhoa\:‘.’,.",rS.lSdbb«Ss:.‘lJ:b&buUﬂ

A2 e oYk eSaeshs 4 2 )y Sl small dadl Joke

large 4B Jdwo

Jir Sl ol J o et 6 el CaaSln iy 5 il g5 g0 Of slaesls y b, uSTarge abail> Juks 55
o 3L 5 (Sla03l> o U Vb slaaal (sl sl e ol ol Sl S PY 4 3 900nn MK

huge dladl Jiwo

P 51 ey Ll e )T e St 31 J b 45 o plis 0yl b ol large il Juke 4l huge Wil ke
wh 58 sl slghe e 5 alidlm Skl 5 el (1t A2 Sl hS

b Adadla JIwo bl

4..3)_,1,_._“,1_:\!:4.4450%\)_{‘9;).:“-.;Lé:....,lsmall&bd#j\buliﬂur_jdlﬂv))wdbﬁ
il St 51l zgy A2l oS walpy saosls 5 Y b sl STty il 0o (slgdia jhaslic
compact akail> Jde 5l ol 2 L4 rSuUJ,_v = B0y b by sests S .53 8 el medium
S ol S5 S eslizatlarge dasl> Jue jlod mg b sk 93 8l a8 ylacals Stas Sestisd

5.5 03Uzl huge bl Jun 51l 2413 g0 ol 53 S ABY S5 Sl SLSFF S 2y Sl slaols

Shbelsas Aladla Jowo s (58 pro

oty Compiler «, ;-5 Options S5 3 4SSl € U ) g 5o bl Ja (el 8l Ay 2 A8
Jde Memory model Cued 33 e 4o S 1, Code generation i Sosh g B aS e o g aS

AL SahoSaw S 3l ZOB &3 (SR IguST
b g Cn S bl gl dimd o ) oS S K85 bl e S PY e 4o g0 45 ghailen
Mbu&a&jlc)ududﬁiqwjuaqjgL;luUj)an\.c,u\Qaada)ai&U&ﬂ\? ol S

J,.t,&_..u:...:;u)-t,-d,gn,,,.u;su,L;)\.\,@x;,;);bwﬁij\g.,_p,usgwdu;,,u.uu_
SLYT b o Lt ads dasl> Jua ol 5 23,5 sslizaismall diadl- e (sl & large dasl> Jia jlaS el 0




¥4 aidl> oLl

oy ol b (51 ol e o bl it ol g3 Ll S o 1y 3yl JKte &S iz (20 TY)
).>..>)..‘..:Lé.;.«lfar_,fUL.ilqu&ﬁ:gh;a)Lﬂjsmall abal> J.Lajlo:l.é.".ulw&c..-uﬁ\_,ip‘),
)40 Coand cpl j3 a8 wizea e3lizad LG ;o huge ynear glesl & 5,55 sl S it far sl So jLit LS
B eslinals) g 55wl 533 40 yo huge ynear cfar GuIS LIS St S5405Y . S dal yot )13 oy

SO LA TPV 3 FURL JPRE PR PPN S CISR N T R N

far gauls dals

N3 93000 NS4 LNl Y S Gh g ol o oot3 4 S5 4S la So,L2 iy a5 (s pfar sS acds

s Llchar far *f_pointer; ; yiws (Jle Ol 6 4 .0 43 g0 S5 P e St g Se Ll e o

2 (el Y) coafu lgm ol far C_,JJ'ILSL»JS.JL.H LS g0 iy a5 far Oy gee 4 g Char C_,;)'ll)f_pointer

S o MK 5 45 oty (oY) O oyl

:c...:b_,hl:‘-qbl.gﬂ.l.il.,qs..\.:)ln_,q-_,far6LA_,SUL.‘-|.>J,.J.>WA.:§S_,.>

4 STl Ol e . ba5 g 513 S i | OIS g ennd i S0 )i (55t limslons planil )
U il 623 al - 0000:0000 U ity ol et 33,8 Lot dmt 5 K, 0000:FFFF il 5,8 L2
A dal g2 5 e cin Lyl iay £ 0001:FFFO

9 O U (Sl a3 05 3 s S L sl Shas KL lfar g5 1 Suh 5o Y
a0 a3 o s LS e £, 4yl

3 yas sslizuthuge sla 8o L2151 Ol g5 g far 6u;.,u|6l,.q“}§.:,,>¢ﬂ|8,6|,,

huge s3us5 aols
.)JJ‘-’OJLS‘.{MQ’JBRSJ‘,"))‘)&:ﬁ{\;)“}ﬂdl‘_ﬂ))ids‘ﬁuﬁe)u‘qﬁé‘ﬁhuge6445&515
18] o,w,;l.,«.u:..nfar 61.&;4JL:|.U.JL~AhugC 6U;AJL§|

LS s a5ty ASihuge So Ll go alia LN

oot dles 55 o K yal 5 g o plonsthuge sl 8o, L2 55 lmslons Jos 45 Sy Y
Nnear g5 aals

)KM(&SJJL:L‘.:_‘:‘JUJJ)TC@\; AS&LAJ;QJL:DJJAMLSB;GJL;‘%JQJ6‘jnear6.l:lsﬂals
YY oD a8 L o< sthuge L s large cmedium sl (glgdia 53 ool aud y5 SV
b, S lsinear ($uls s jlestinul U al 53,8 eslizal 2 VF (5la_So,Loh 51 508 i o (20

S ged iy o5 s VL) s ) g




20w Jad ¥V

-\ Ji. @D

#include <stdio.h>
#include <conio.h>
int main()
{
int far *p;
int i;
char ch;
cirscr();
p = (int far *) 0xb8000000;
while((ch = getch()) != 'q)
for(i = 0; i < 2000; i++)
*(p + i) = ch | 0x0700;
return O;

}
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#include <conio.h>
#define ROWMAX 25
#define COLMAX 80
void main(}
{
int far *ptr ;
int col, row ;
char ch;
clrscr();
ptr = (int far *) Oxb800000O0;
while((ch = getch()) = "q")
for(row = 0; row < ROWMAX; row ++)
for(col = 0; col< COLMAX; col ++)
*(ptr + row * COLMAX + col) = ch | 0x0700;

v.nw)afdlﬁ 5o_€8 5 _85._ds_cs sadSbdS sthung ynear (for (galS ol e yMeCud) p o
AL:‘.))J..A’C;A.{.»CL,H)) x‘jdﬁ))y;o)u‘Asded%ﬁ@“d'.)ﬁdnu;ﬂ
c,.;..(.u)a,a)_.:q.:f_?u;ﬁ\f'J{a)L:hS\iptr;a)ulbaﬁ@%yﬁ))):.«acdbQl);sq‘d.:l.,

Sl ool BB Lol
int _es *ptr ;

-y Ji. @9
)am‘,.:v_ﬁuaa'._butjﬂg;_al)_s)aql;fasw)ﬂ)l t,ﬁl.gbdéil:-)&..:l.g\‘b? Sl gooa S (laal
A3 o5 1 0 gdme fpead Sl g Ll g3 o el S 0l liamio
#include <ctype.h>
#include <stdlib.h>
#include <conio.h>
#include <stdio.h>
#define ROWMAX 25
#define COLMAX 80
void display_mem() ;
void change_mem() ;
void main() {
char ch ;
for(;;) {
clrscr();
printf("\n enter a character(d,c,q)|>") ;
ch = getch() ;
printf("\n*) ;




switch(tolower(ch)) {
case 'd’ :
display_mem() ;
break ;
case 'c' :
change_mem() ;
break ;
case 'q :
exit(0) ;

}/end of switch

printf("\n press a key to continue...”);

getch();

}/end of for
}

/ Yedededededr ok dede dedededkr dede ek ok

vold display_mem() {
register int i ;
unsigned char ch ;
unsigned char far *p ;
char s[80] ;
/* get bit 20 address */
printf("begining address in hex:");
scanf("%p %*c", &p) ;
printf(*%p:", p) ;
for(i = 1;i<256;i++) {
ch =*p;
/* display in hex */
printf("%02x",ch) ;
pt++;
if(!(i % 16)) {
printf("\n") ;
if(i 1= 256)
printf(" %p: ", p) ;
}/end of if
}/end of for
}

//*****************

void change_mem()
{
unsigned char far *p ;
char s[80], value ;
printf("\n enter address to change");
printf("(in hex):") ;
scanf("%p %*c", &p) ;
printf("\n enter new value(in hex):");
scanf("%x", &value) ;
*p = (unsigned char) value ;
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#include <conio.h>
#include <stdio.h>
void main()
{
char key1, key2 ;
clrscr();
while((key1 = getch()) |= 'e’)
if(keyl == 0) {
key2 = getch() ;
printf("%3d %3d \n", keyi, key2);
}
else
printf("%3d\n", keyt) ;
}
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#include <stdio.h>
#include <conio.h>
#include <ctype.h>
#include <dos.h>
void write_char(int page, int ch, unsigned char attr, int count);
void main() {
char ch;
unsigned char attrib = 7, intense = 0, blink = 0;
while((ch = getch()) !='e’) {
clrscr();
printf(\n type 'n' for normal.");
printf("\n type ’u’ for underline.");
printf(\n type 'i’ for intensified.");
printf("\n type 'b’ for blinking.");
printf(\n type 'r’ for reverse .");
printf("\n type ‘e’ for end .");
printf("\n\t");
switch(tolower(ch)) {
case 'n': attrib = 7 ; break ;
case 'u’: attrib = 1; break ;

case 'i' :
intense = (intense == 1) 2 0: 1;
aftrib |= (intense << 3);
break ;

case 'b' :

blink = (blink == 1)?20: 1 ;
attrib |= (blink << 7);
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break ;
case T :
attrib = 112 ;
attrib |= (intense << 3);
attrib = (blink << 7);
break ;
}
write_char(0, ch, attrib, 5);
}
}
//*****************
vold write_char(Int page, int ch, unsigned char attr, int count)

{

union REGS in,out ;

in.h.ah = 9;
inh.al = ch;
in.h.bh = page ;
in.h.bl = attr ;
in.h.ch = 0;

in.h.cl = count ;
int86(0x10, &in, &out) ;
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type 'n’ for normal.
type 'u’ for underline.
type I’ for intensified.
type 'b’ for blinking.
type 'r’ for reverse.
type e’ for end.
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#include <dos.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
#include <string.h>
#define COMAX 80
#define R_ARRO 77
#define L_ARRO 75
#define U_ARRO 72
#define F10 68
#define D_ARRO 80
#define BK_SPC 8
#define FALSE 0
#define TRUE 1
#define VIDEO 0x10
#define DEL 83
#define HOME 71
#define END 79
#define INS 82
void getstr(int x,int y,char str[], int length,int color);
void cursor(int x,int y);
void printstr(int x,int y,char str[], int length,int color);
void backspace(char str[],int length,int J);
void del(char str[],int length,int j);
void insert(char str[],int length , int j);
char *s ;
char str[20] ;
int main()
{
int x=12,y=12 ;
clrser() ;
getstr(x,y,str,20,32) ;
return 0;

}

//***************

void getstr(int x, int y, char *str, int length, int color)
{
char str1[200], str2[200};
char *s2="\'\'hHfFQqWwEeRr";
char *s3="TtYyUuliOoPp{[]}|"
char *s4="\\ZzXxCcVvbBnNmM,."
char *s5="7 1234567890 " &-";
char *2="S S8 L0 jas jas oS 58
char *f3="Gs¢é ¢2 an 3 po o> 2™
char *f4="_, bb3isa,59Y 05"
char *f5="¢1"c \YVFOSYAQ + s -";
char ch ;
int col, colt, inst =0,j=0, i, linput = O;




int latin = FALSE, llatin = 0, k = O;
strepy(str1, “AaSsdDgGJjkKIL;");
strcat(str1, s2) ;
strcat(str1, s3);
strcat(str1, s4);
strcat(str1, s5);
Strepy (Str2, * A s J J o35 0 o5);
strcat(str2, f2) ;
strcat(str2, 3);
strcat(str2, f4);
strcat(str2, f5);
for(i = 0 ;i < length ; i++)
str[i] = \0";

col =y;
y=280-y;
coll = vy;

cursor(x, y) ;
printstr(x, y, str, length, 31) ;
while( (ch = getch()) !="\r' && linput < length)

ifch==0) {
ch = getch();
switch(ch) {
case R_ARRO: ifly -j < coll) -j;
if(latin == TRUE) k++ ; break;
case L ARRO: if(j < linput) ++j ;
if(latin == TRUE) k-- ; break;
case DEL:
ifj <= linput) {
del(str, length, j) ;
printstr(x, y, str, length, 31);
-- linput;
}
break ;
case HOME : = O; break ;
case END : = linput ;break ;
case INS :inst = (inst==1)20:1;
break;
case F10
if(latin == TRUE) {
j = llatin + j + k;

insrt = 0;
liatin = 0 ;
latin = FALSE ;
k=0

}

else {

latin = TRUE ;
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insrt = 1;
llatin=0;
}
break ;
}/end of switch
} /lend of if
else
switch(ch) {
case BK_SPC:
ifj > 0) {
backspace(str, length, j - 1);
linput-- ;
)=
printstr(x,y,str,length,31);
}
break;
default;
if (latin == FALSE) {
i=0
s = stri;
while(*s != ch && i < 84) {
S+ +;
i++;
}
if(i < 84) {
ch = str2[i] ;
if(insrt == 1)
insert(str, length, j);
strfj] = ch;
j++;
linput++ ;
if(j < linput && insrt == 0)
linput - ;
printstr(x, y, str, length, 31);
}/end of if
}lend of if
else {
insert(str, length, j);
str[j]l = ch;
linput+ + ;
printstr(x, y, str, length, 31);
llatin++ ;
} //end of else
}//end of switch
cursor(x, y - j) ;
}/end of while
str = strrev(str) ;

}




//***************************

void cursor(int x, int y)

{
union REGS regs;
regs.h.ah = 2;
regs.h.dl = y;
regs.h.dh = x;
regs.h.bh = 0;

int86(VIDEO, &regs, &regs);

/ e e v e Je e Jr ok e o v e 2 g ok ok

void printstr(int x,int y,char str[], int length,int color)
{
char far *crt ;
int j;
crt = (char far *)0xb800000O0I;
for(j = 0 ;j < length ;j++4) {
*ert + vy * 2 + x * 160) = str[j] ;
*ect +y*2 + x * 160 + 1) = color;
y -,
}

/ e e v e Je 7 3 o d e e o v e 2 g ok o oo

void backspace(char str[],int length,int j)
{
inti;
for(i=j;i<length-1;i++)
str[i]=str[i+1];
}

//******************

void del(char str[],int length,int j)
{
inti;
for(i=j ;i<length-1;i++)
strlij=str[i+1] ;
str[i+1]="’;

}

/ e e s 3 v 3 i o v 2 2 vk 2 2 o ok o e 2k e ok ok

void insert(char str[l,int length , int j)
{
inti;
for(i=length ; i>=j ; i-)
str[i]=str[i-1};
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output, char start);
void decode(char *input, char *output, char start);
int main(int argc, char *argv[])
{
clrser();
if (arge != 5) {
printf("'usage:input output encode/decode offset\n");
getch();
exit(0);
}
if(lisalpha(*argv[4])) {
printf("start leter must be alphabetical character\n");

exit(0);
}
it (toupper(*argv[3]) == 'E’)
code(argv[1], argv[2], *argv[4]);
else
decode(argv([1], argv[2], *argv[4]);
return O;
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void code(char *input, char *output, char start)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, "r")) == 0) {
printf("cannot open input file.\n");
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exit(0);
}
if((fp2 = fopen(output, "wt*)) == 0) {
printf(‘cannot open output file.\n");
exit(0);
}
start = tolower(start);
start = start - ’a’;
ch = getc(fp1);
while(!feof(fp1)) {
ch = tolower(ch);
if(isalpha(ch)) {

ch += start;
if(ch > 'z)
ch -= 26;

}
putc(ch, fp2);
ch = getc(fp1);
}
fcloseall();
}/end of code
//**********************
void decode(char *input, char *output, char start)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, ")) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "w")) == 0) {
printf("cannot open output file.\n");
exit(0);
}
start = tolower(start);
start = start - 'a’;
ch = tolower(getc(fp1));
while(!feof(fp1)) {
if(isalpha(ch)) {
ch -= start;
if( ch < 'a’)
ch += 26;

}
putc(ch, fp2);
ch = tolower(getc(fp1));

fcloseall();
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output);
void decode(char *input, char *output);
int find(char *s, char ch);
char sub[28] = "qazwsxedcrfvtgbyhnujm ikolp";
char alphabet[28] = “abcdefghijkimnopgrstuvwxyz *;
int main(int argc, char *argv[])
{
cirser();
if (argc 1= 4) {
printf("'usage:input output encode/decode\n®);
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getch();
exit(0);
}
if (toupper(*argv[3]) == 'E")
code(argv[1], argv[2]);
else
decode(argv[1], argv[2]);
return O;
}
//*********************
void code(char *input, char *output)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, ') == 0) {
printf(*cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "wt")) == 0) {
printf("*cannot open output file.\n");
exit(0);
}
ch = getc(fp1);
while(!feof(fp1)) {
ch = tolower(ch);
if(isalpha(ch) || ch == ')
ch = sublfind(alphabet, ch)];
putc(ch, fp2);
ch = getc(fp1);
}
fcloseall(};
}/end of code
//**********************
void decode(char *input, char *output)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, ') == 0) {
printf(*cannot open input file.\n");
exit(0);
}
if(fp2 = fopen(output, "w") == 0) {
printf(‘cannot open output file.\n");
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exit(0);
}
ch = tolower(getc(fp1));
while(lfeof(fp1)) {
if(isalpha(ch) || ch =="")
ch = alphabet[find(sub, ch)];
putc(ch, fp2);
ch = tolower(getc(fp1));
}
fcloseali();

}

/ kkkkkkkhkkkkhkkkik

int find(char *s, char ch)

{
register int t;
forit = 0; t < 28; t++)
iflch == s[t])
return t;
}
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output);
void decode(char *input, char *output);
int find(char *s, char ch);
int index(char ch);
char sub[28] = "qazwsxedcrivigbyhnujm ikolp";
char sub2[28] = "poi uytrewqgasdfghjkimnbvexz",
char alphabet[28] = "abcdefghijkimnopgrstuvwxyz *;
char count[27];
int main(int argc, char *argv[])
{
register int t;
fort=0;t<27;t +4)

countft] = 0;
clrscr();
if (arge != 4) {
printf("usage:input output encode/decode\n");
getch();
exit(0);

if (toupper(*argv[3]) == 'E)
code(argv[1], argv[2)]);
else
decode(argv[1], argv[2)]);
return 0;

}

//*********************
void code(char *input, char *output)
{
int ch, change, t;
FILE *fp1, *fp2; )
if(fp1 = fopen(input, "r")) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "wt")) == 0) {




printf("cannot open output file.\n");
exit(0);
}
change = 1;
ch = getc(fp1);
while(!feof(fp1)) {
ch = tolower(ch);
t = index(ch);
countlt] ++ ;
ifisalpha(ch) || ch == ")
if(change)
ch = sub[find(alphabet, ch)];
else
ch = sub2[find(alphabet, ch)];
putc(ch, fp2);
if(count[t] == 2) {
change = Ichange;
count[t] = 0;
}
ch = getc(fp1);
}//end of while
fcloseall();
}//end of code
//**********************
void decode(char *input, char *output)
{
int ch, change;
FILE *fp1, *fp2;
if((fp1 = fopen(input, "r")) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "'w")) == 0) {
printf("cannot open output file.\n");
exit(0);
}
change = 1;
ch = tolower(getc(fp1));
while(!feof(fp1)) {
if(isalpha(ch) || ch == "")
if(change) {
ch = alphabet[find(sub, ch)];
count[index(ch)]+ +;
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}
else {
ch = alphabet[find(sub2, ch)];
countfindex(ch)] + +;
}Ylend of else
putc(ch, fp2);
if(count[index(ch)] == 2) {
change = !change;
countfindex(ch)] = 0;
}
ch = tolower(getc(fp1));
}

fcloseall();

}

//******************

int find(char *s, char ch)
{
register int t;
for(t = 0; t < 28; t++)
ifch == s[t])
return t;

}

//******************

int index(char ch)
{
ch = tolower(ch);
if(isalpha(ch))
return ch - 'a’;
else
return 26;
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union message {
char s[100] ;
char s2[10][5] ;
} skytale ;
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output);
void decode(char *input, char *output);
union message {
char s[100];
char s2[20][25];
} skytale;
int main(int arge, char *argv[])
{
register int t;
for t =0;t < 100; t ++)
skytale.s[t] = O;
clrser();
if (argc 1= 4) {
printf("usage:input output encode/decode\n);
getch();
exit(0);
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}
if (toupper(*argv[3]) == 'E’)
code(argv[1], argv[2));
else
decode(argv[1], argv[2]);
return O;

}

//*********************

void code(char *input, char *output)
{
int t, t2;
FILE *fp1, *fp2;
if((fp1 = fopen(input, "r)) == 0) {
printf(*cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "wt)) == 0) {
printf("cannot open output file.\n");
exit(0);
}
fort = 0; t < 100; t ++) {
skytale.s[t] = getc(fp1);
if(feof(fp1)) {
skytale.s[t] = 0;
break ;
}
}
fort = 0; t < 5; t++)
for(t2 = 0; t2 < 20; 2++)
putc(skytale.s2[t2][t], fp2);
fcloseall(};
}//end of code
//**********************
void decode(char *input, char *output)
{
int t, t2;
FILE *fp1, *fp2;
if((fp1 = fopen(input, 'r')) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "w")) == 0) {
printf(‘cannot open output file.\n");
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exit(0);
}
fort = 0; t < 5; t++4)
for(t2 = 0; 2 < 20; t2++) {
skytale.s2[t2]{t] = getc(fp1);
if(feof(fp1))
break;
}
for(t = 0; t < 100; t++)
putc(skytale.s[t], fp2);
fcloseall();
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output);
void decode(char *input, char *output);
int main(int argc, char *argvf))
{
clrscr();
if (arge = 4) {
printf("usage:input output encode/decode\n");
getch();
exit(0);
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}
if (toupper(*argv[3]) == 'E’)
code(argv[1], argv[2));
else
decode(argv[1], argv[2]);
return O;

}
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void code(char *input, char *output)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, ")) == 0) {
printf(*cannot open input file.\n");
exit(0);
}
if({(fp2 = fopen(output, "wt")) == 0) {
printf("cannot open output file.\n");
exit(0);
}
ch = getc(fp1);
while(!feof(fp1)) {
ch = ~ch;
if (ch == EOF)
ch ++;
putc(ch, fp2);
ch = gete(fp1);
}
fcloseali();
}/end of code
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void decode(char *input, char *output)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, "r')) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "w")) == 0) {
printf(*cannot open output file.\n");
exit(0);
}
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= getc(fp1);
while(!feof(fp1)) {
ch = ~ch;
if (ch == EOF)
ch -;
putc(ch, fp2);
= getc(fpl);
}
fcloseall();
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void code(char *input, char *output, char key);
void decode(char *input, char *output, char key),
int main(int argc, char *argv(])
{
clrscr();
if (arge != 5) {
printf("usage:input output encode/decode key\n*);
getch();
exit(0);
}
if (toupper(*argv[3]) == 'E)
code(argv[1], argv[2], *argv(4]);
else
decode(argv[1], argv[2], *argv[4]);
return O;

}

//*********************
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void code(char *input, char *output, char key)
{
int ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, "r) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "wt')) == 0) {
printf("cannot open output file.\n");
exit(0);
}
ch = getc(fpl);
while(feof(fp1)) {
ch = ch © key;
if (ch == EOF)
ch ++;
putc(ch, fp2);
ch = gete(fp1);
}
fcloseali();
}/end of code
//**********************
void decode(char *input, char *output, char key)
{
int ch;
FILE *fp1, *fp2;
if(fp1 = fopen(input, "r) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, 'w")) == 0) {
printf("cannot open output file.\n");
exit(0);
}
ch = getc(fp1);
while(feof(fp1)) {
ch = ch ~ key;
if (¢ch == EOF + 1)
ch —;
pute(ch, fp2);
ch = getc(fp1);
}

fcloseall();
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void compress(char *input, char *output);
void decompress(char *input, char *output);
int main(int argc, char *argv[])
{
clrscr();
if (argc != 4) {
printf(‘usage:input output compress/decompress\n');
getch();
exit(0);
}
if (toupper(*argv[3]}) == 'C’)
compress(argv[1], argv[2]);
else
decompress(argv[1], argv{2]);
return O;

}
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void compress(char *input, char *output)
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char ch, ch2, t,
FILE *fp1, *fp2;
if((fp1 = fopen(input, ")) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "wt")) == 0) {
printf("cannot open output file.\n");
exit(0);
}
do {
ch = getc(fpl);
if(feof(fp1)) break;
ch = ch << 1;
forft = 0;t < 7; ++t) {
ch2 = getc(fp1);
if (feof(fp1))
ch2 = Q;
ch2 = ch2 & 127; // turn off top bit
ch2 = ch2 | ((ch << t) & 128),
putc(ch2, fp2);
}
} while(lfeof(fp1));
fcloseall();
}/fend of code
//*i****t**tt******t****
void decompress(char *input, char *output)
{
unsigned char ch, ¢h2, t, done;
char g[7], temp;
FILE ¥fp1, *fp2;
if((fe1 = fopen(input, "r)) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if((fp2 = fopen(output, "w")) == 0) {
printf("oannat open output file.\n");
exit(0);
}
do {
ch =0
fort =0;t < 7; t++4) {
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temp = getc(fp1);
iftemp == EOF) break;
ch2 = temp;
s[t] = ch2 & 127 ; // turn off top bit
ch2 = ch2 & 128 ; // turn off all but top bit
ch2 = ch2 >>t + 1;
ch = ch | ch2;
}
putc(ch, fp2);
for(t = 0, t < 7 && s[t]; t ++)
putc(s[t], fp2);
for(t = 0;t < 7;t ++) //nul the s sting for next use

s[t] = 0;
} while (Mfeof{fp1));
fcloseall();

}
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
int main(int argc, char *argv(]) {
FILE *fp1;
int alphabet[26], t;
int space = 0, period = 0, comma = 0;
char ch;
clrscr();
if (arge 1= 2) {
printf("usage:textfile\n");
getch();
exit(0);
}
if((fp1 = fopen(argv[1], 'r) == 0) {
printf("cannot open input file.\n");
exit(0); ’
}
fort = 0; t < 26; ++t)
alphabet[t] = 0;
ch = getc(fp1);
while(!feof(fp1)) {
if(isalpha(ch))
alphabet[toupper(ch) - 'A’] ++;
else
switch(ch) {
case ' ' : space ++; break;
case "' : period ++ ; break;
case '/': comma ++; break;
} //end of switch
ch = getc(fp1);
}/end of while
for(t = 0; t < 26; ++t)
printf("%c: %d \n", 'A’ + t, alphabet[t]);
printf("\n period = %d", period);
printf("\n space = %d", space);
printf("\n comma = %d", comma);
fclose(fp1);
return O; }
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#include <ctype.h>
#include <stdio.h>
#include <conio.h>
#include <stdlib.h>
void comp2(char *input, char *output);
int Is_in(char ch, char *s);
int main(int arge, char *argv[])
{
clrscr();
if (arge != 3) {
printf("usage:input output \n");
getch();
exit(0);
}
comp2(argv[1], argv[2]);
return O;

}
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void comp2(char *input, char *output)
{
char ch;
FILE *fp1, *fp2;
if((fp1 = fopen(input, 'r')) == 0) {
printf("cannot open input file.\n");
exit(0);
}
if(fp2 = fopen(output, "wt)) == 0) {
printf("cannot open output file.\